— X

Circular
Connector

M5/M8/M12/M23/7/8" B EIESE

BxeEm =1 !!

E]I!]ﬂ Delight Through Connections DC-39.1C



ATRRIR LI IAN

B 1983 F 8IS K, HIFEKFRARFUMNNERSHMNIERM, NisFaBlERL, KK FaFIEA%
DHIEIRILARS | UM~ RS HAI RS EINSE P R ERKLE!

BT # %M 40 FRMBMAEEHKEFHFELURSTAURA, RITEFNEX, ERER. EHPITREFRM L
VR K. BRHNXFSEBRRRNRFFFFENNE, TEHIFN.

SRIEF, ELARSRATANERME, BETWERSTI 4.0 BXEERFNMBMREY, TREHRSHREN
o, BERARPIRREBIBRA R,

B EREZTERNMGRAKEE, LA EREGTHEH

FmEZFR
. 2EamE

W TREILRAE, EIEERE

m f§& IP68 BaiFtRAE, BA7KBE4:
B iREhAP T

m REFRAE, 360° T

m [EFRiE AR

® & RoHS fr



RIFRIEL L BB SR

HARR, MBI,

BEI igEBMtiEERS, AMIFEARENER. ESNKESR, URAIIREERNT
BEXGENTNMENETRBRERRASR. TIEEERTERATEARELNESEL, ERATAERE
IREDRI LIRS E LY, R FERRE N &N A SR (H IEFRRIAR R 5 5o

M5 - 7/8" B iERE#R. DESEEEREMEMEBEHMENT R, RE IP67 U EEX, ERTF
RES. BETUAMIREIAES TG, TGI8 ScIERE®ERRE, BLFRMHEX. Tk #
ImEIRY PVC 1 PUR B4%, fEIlZECERE, HARBRESBHRESRK,

=amli%

\

W

WAEOAREERE RE SinEtigit EPERIIRS
‘- EEEMS, BRERES,  f5 UL2237/UL2238 AL« IRIES MBI
BRIl 2R, WERITHEERTT « BB K EMFTENER AR TR FI(E,

* IP68 FE5RPAKFR « fk#fE IEC 61076-2-101/104/111

AsEigit, 360° 2R

1214 PUR. PVC %IpgEE4%

e ]

— RS & BIFIEED
EES g TR P4
A-Code ERE TR - PVC BBF4 P.7
PCB = —1%z{ (Wave soldering) TR P.9
ik P.13
Hebt a
TR P.14 - P15
. TRk - PVC BF 4
A-Code iRzt P.19
TRk - 1B
—4 = (Wave soldering) TR® P.22
PCB =, -
T (SMT) TR P.25
Rk P.28
He5t a
TR P.29 - P.30
B-Code TRtk - PVC BBF 4
R P.33
. TR - 125t
PCB = —1#z{ (Wave soldering) TRk P.35
ik P.39
TR P.40
AR
T TR - 1556 P41
TRk - Y B =@k P42
ik - PUR 4%k P.45
A-Code — -
ERTU TR# - PVC BBF 4 b 46
TR - 1B7F 5 '
. —4= (Wave soldering) Rk | TR& P.50
PCB =% -
M (THR) Rk | TR® P.53
A% IR Rk | TR& P.55
Rk P.58
25T TR P.59
TR - 5k P.60
Rk - PUR 454 P.63
B-Code ERE TRk - PVC BF%& .
TR - 1B '
. — 143 (Wave soldering) Bk | TTR#R P.68
PCB = -
A (THR) Bk | TR P.71
LR IR Rk | TR P.73
Rk P.76
HLETU TR P.77
TR - a5k P.78
D-Code -
ik - PUR 454 P.81
ERE TR - PVC BF4
P.82

TR - 1B 5t




%3| %3]

—AgiA S & BIFEIREN
PCB 2t —TfFit\ (Wave soldering) Bk | TR P.86 D-Code PCB 3t Méﬁi@ﬂ - PROFINET(PVC) 5176
D-Code R (THR) B | TR P.89 M4&3@1T - Ethernet(PUR)
2R2EL( IR ik | TR P.91 X-Code G55 M4&3&iT - Ethernet(PUR) P.179
S-Code W TR P.94 PCB = RI423&@1fl - Ethernet(PUR) P.181
ERI TBR# - PVC BBF4% P.97 I}Jﬁ'é?é
i TR P.100 A-Code R FI45i&3T - Ethernet(PUR) P.185
T-Code ER TR - PVC B ¥4 P.103 R FI45@ - Ethernet(PUR) P.188
PCB 2 —f#3l (Wave soldering) i | RFH P.106 frcode miR FI4538 - Ethernet(PUR) P.191
X-Code PCB = AL (THR) B P.108 ) R4&i%3T - PROFINET(PVC)
HE TR P11 e FI43Ei7 - Ethernet(PUR) P94
| Code ER TR - PVC BT 4 P.114 b-Code - W4&& - PROFINET(PVC) o
PCB 2t —#= (Wave soldering) Rk | TR P.117 P45l - Ethernet(PUR) :
A (THR) Bk | TRk P.120 X-Code w&T MI4E3& T - Ethernet(PUR) P.200
K-Code *ﬁ%*iﬁt R | TR ‘ P.123 Ao P 201
ERI TBR# - PVC BBF4% P.126
GiEsae Rk | TR P.129
M-Code - -
ERI TR# - PVC BBF4% P.132
BIREH BRIE A P.136
N-Code
WS&EH HSEA P.137
LAt TR P.140
A-Code ERI TR - PVC ¥4 P.142
PCB = —143{ (Wave soldering) TRk P.144
it & BLEF M P.145
R~TE & RASES P.146
A P.147
T k&
WL&@iT - Ethernet(PUR) P.151
Gt At M EEL - CC-Link(PVC) o150
1% Z 6L - CANopen(PUR)
WL&@iT - Ethernet(PUR) P.155
A-Code ERT W17 Z A% - CC-Link(PVC) o156
172 6% - CANopen(PUR)
MLZE - Ethernet(PUR)
PCB =% MZER - CC-Link(PVC) P.159
172 6% - CANopen(PUR)
HER M6 - PROFIBUS(PUR) P.162
B-Code ERTC W% E AL - PROFIBUS(PUR) P.165
PCB &% M7 Em - PROFIBUS(PUR) P.168
ssssot M%ﬁ?ﬂ - PROFINET(PVC) .
WL&3@iT - Ethernet(PUR)
D-Code

. M£&3@iTl - PROFINET(PVC)
ERTC — P.174
ML&3@iT - Ethernet(PUR)




M5 A-Code &N EIAZIEIESS

B35 180° i 55 180° B
30.6 L ‘
- <
BT3E6) M5 B EERmE S TRENSEN, BEMNMRTTRTEREMSED, 7 ?§gg S
BREENRHE S ERES, = =
St TAIRIBMR PR FRSTIE, BTEIRMT SREM PVC 5 PUR S4LUREEHNER, PVC
BB 9 G T AV FERE T btk 5 ¥k k2 sk 7 F Y4B E 5642 © PUR BRI AERSIRHTEINIR. S — —
EMmiSa 2R, BEERENAKREE,. MEESTETY, SaRTIREESSME D0 B30 90° B
BT S, 19.2 L ‘ 192 | L N‘
M5 ERSERERE, RENEREREEERSANESTESHKYE, BEBERTI i (L] — 1F CEmBITS
B AE RIS, ML, BEMERTT REEE RS B R A EEE, W gﬁmmTﬂﬂ
WD 15x0.5
PR 2 M R M5 —#F 3t PCB REFERBIMMHEILE, —#= PCB RMSNT o0 055
SREBEMN—E, XELTRESRE, TS T EENREEEHNEREY, BEa T E 76.9 - 76.9 -
LA B B TG S R ST mm

£ M5 EfZi&EZ28 LECH A-Code HE3IE S B LizHI R PREIE. 55 FHRMT 3.
4 Pin BiESE, NERNREHREGEMENEES R,




M5 A-Code H4&3t

MEER
S@E I REEE meas/ £
SEHIE /| a5taE PUR
B E NBR
BOER HETER
PRIAELR , fF& UL
94 HB
EHEM
FBLR MK PUR / PVC, BLACK
Rk PUR: ULAWM 20549 / PVC : UL AWM 2464
B4 UL E0
TRk PUR : ULAWM 20549 / PVC : UL AWM 2464
0.14mm?/ 26AWG (3 Pin)
SHEEEEER
0.14mm? / 26AWG (4 Pin)
SLEEEME PP
PR FT-2 / VW-1
fifEB/E 2.0KV/1min
InESHE

IEC 61076-2-105: Detail specification for M5 connectors with screw-locking

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and

IEC 60529: Degree of protection provided by enclosures (IP Code)

WAR4F1E
B/INERREL 100
FhiFER P67
. -40°C ~ 80°C (L NEIERE )
BRIFRE o
-25°C ~ 80°C (i NBoh&E)
B 0.3Nm
S5
60VDC / 1A (3 Pin)
MERE/ FEER
60VDC / 1A (4 Pin)
1.5kV (3 Pin)
BE A EE
1.5kV (4 Pin)
¢n 4 BR T &/)\ 100MQ
BRER I
a5 PR 3
Rt measuring methods
IAUEATE UL 2238

BRI

EXFMERRSMNMSE, YARIDERSZBHHAEERNEHZET, MNREEBRUENERSRIEN, NWLTER
RIFEFR > IP54 PP S EEH, EFEZRARL, B85 PCB A ERMRIFM.

M5 A-Code TRk
» YRED
InFicE o

BERE / B

B~

£y HWHEMBR KE (m)

#35 180° LN 2

PVC 5

10

2

P PUR 5

b 10

&0 180° i 2

PVC 5

10

?

: PUR 5
o

10

5 90° Al 2

PVC 5

10

2

(Y PUR 5

10

235 90° FiH 2

PVC 5

10

2

< PUR 5

10

3
60V /1A
AP
<v
@
@&

101-A3000-20S020
101-A3000-20S050
101-A3000-20S100
101-A3000-00S020
101-A3000-00S050
101-A3000-00S100
102-A3000-20S020
102-A3000-20S050
102-A3000-20S100
102-A3000-00S020
102-A3000-00S050
102-A3000-00S100
103-A3000-20S020
103-A3000-20S050
103-A3000-20S100
103-A3000-00S020
103-A3000-00S050
103-A3000-00S100
104-A3000-20S020
104-A3000-20S050
104-A3000-20S100
104-A3000-00S020
104-A3000-00S050
104-A3000-00S100

4
60V / 1A

AP B S

v

QO

S @

101-A4000-20S020
101-A4000-20S050
101-A4000-20S100
101-A4000-00S020
101-A4000-00S050
101-A4000-00S100
102-A4000-20S020
102-A4000-20S050
102-A4000-20S100
102-A4000-00S020
102-A4000-00S050
102-A4000-00S100
103-A4000-20S020
103-A4000-20S050
103-A4000-20S100
103-A4000-00S020
103-A4000-00S050
103-A4000-00S100
104-A4000-20S020
104-A4000-20S050
104-A4000-20S100
104-A4000-00S020
104-A4000-00S050
104-A4000-00S100




M5 A-Code iRV EIfZEIESE

8z # 0.5m BFL&

/

Ui 7 AR

»

40

M5x0.5

97/.5
M5x0.5

E——

11.2
|
I
SW7; SW7/
izt 7 0.5m BF&
YA 2

$7.5

mFHIIE S S48

Pin arrangement

Pin out
AW N =

N\

@
GO

3P
Brown 1z

Blue &
Black 2

iR

M5x0.5

0/.5

B} iR

M5x0.5

M5x0.5

$9.5

A code

0N

4P

Brown 1z
White B
Blue &
Black 2

M5 A-Code EHRT
Mt
BR/MERREL 100
FAIFPELR IP67
RIERE -40°C ~ 80°C
X i B 0.3N'm
REHE 0.6 N'm
BT
60VDC / 1A (3 Pin)
MEHEE/FEER
60VDC / 1A (4 Pin)
1.5kV (3 Pin)
BE I EBE
1.5kV (4 Pin)
“#E A /] 100MQ
TEEER I
TSRER 3

it

INIEAR A

S/ REER
SREIK | BSTAE
THE

BLUER

PEMAELR , fT & UL
94

LMK
£+ UL ek

SAEEEER

SLEBEME
PR
&

RESHE

HEIZER
MEE /&
PA
MEEER
NBR
VO
L&A
PVC
PVC : UL 1061

0.14mm?/ 26AWG (3 Pin)
0.14mm?/ 26AWG (4 Pin)
PVC
FT-2/ VW-1

NA

IEC 61076-2-105: Detail specification for M5 connectors with screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and

measuring methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

UL 2238

ARE

BAIMENEBSMIMSE, BIARIPEZRSBEBTHAEERMEA TR, MREZBRPENERISROENR, NBHER

RIFFR > 1P54 MR SR HEH, EFZRERE, B4 PCB A EMAIF M,




M5 A-Code TTRARERT, M5 A-Code —{43{ PCB X EIi5iE1E2S

P AR il A A 180° A FigiX TR
S 3 4 N PCB Layout
FERE / BR 60V / 1A 60V / 1A 45- 45-
NP Lk P i S E
;17'2 3 3%00.6 +&J 1x90.6 &F@—
_ < % <—>| w T LD- o
=hn @) @0 R = 1.25 S 1.25 N
&IG) ©IO) 5| X = 2 = =
® R B ®)
. . SW7, W/ 2 Q® P®
B8t 5 0.5m BFLE £
- — g 3p 4P
é:é:*ig Iﬁlﬂiﬂgﬁ o= o Acode
NIRIEE -
Uy
e M5 X 0.5 118-A3004-0VSL50 118-A4004-0VSL50 PCB Layout
a )
M5x0.5 °
B o o
s = =
1= g @O
Fa® M5 X 0.5 119-A3004-0VSL50 119-A4004-0VSL50 )
< 4 g
g sp 4p
o A code
i 5 0.5m BBFL
M5 A- —_— PCB
s B 2e 5A-Code —f+z\ PCB 3\
NUmERE s
it HHEEER
BR/MEPRREL 100 S5 | REER e/ &
o M5 X 0.5 120-A3004-0VSL50 120-A4004-0VSL50 BhiP P67 Sk PA
LY BIERE -40°C ~ 80°C NEIER | ShE AaemE
POE ki 0.3Nm BNER NBR
SRR T ka4 BEIAZELR , 754 UL
I2EAN TSR 94 VO
| ( S Bt
ﬁf'h M5 X 0.5 121-A3004-0VSL50 121-A4004-0VSL50 ) s 60VDC / 1A (3 Pin)
9§ BRI FERE RS 60VDC / 1A (4 Pin)
1.5kV (3 Pin
s b (3 Pin)
BFAKEETRBENERITS, WilaW 1.5kV (4 Pin)
b2 ik &/\ 100MQ
TEEER I
TERELLR 3
MESHE
IEC 61076-2-105: Detail specification for M5 connectors with screw-locking
N IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and
N measuring methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
INIERT UL 2238

AREW
EAMENESMYMBSE, BIAREERFRETHAEERMEARES. MRERFRPUENERSRIEN, NBHER
RIFER > IP54 MR SR EHTH, EFERERL, B4 PCB A ERMIRM,

8



M5 A-Code TR #—1#3l PCB T

- ) A A
I FECE o 3 .
BEEE / BIR 60V / 1A 60V / 1A
NP BiS NP gis
Bk 0 OO 01¢)
@ @0 Q@ @0
180° giEiz TRk . =
P B iEs as BT;¥09 M8 mak B EESRE S T/ NEk. SihhiP. MANZ FTLENER, EEES
N 2L T Bt ERERBMNITHAAENE, EfEHIMRNZENREIEDR, HFEEEARN
AT EREEEBRE TEHIRESRENE S Fh. Y T IFERE T BLE, BT
M5 X 0.5 196.A3003.6 196.A4003.6 73?}%1#\7.%@%8’9 PVC+‘—3 P:JR é"nké?i, L)(ifiﬁnﬂf@“ﬁ"]?%“*o JJ_H:%, @f?&f#lﬁﬁ&ﬂféﬁ, Eﬁ:i
INEH L REN OIS B F iRk Ese IR EEE, BEBRBIHIESESIFEFI® KRBT,

IR B S H o2 EIN AT E,

EERBERENARMERNRASE, BEIRTANAGE ERNL—REERDS

NYEEE, ATH0 M8 BRXEERRAGESNNRE TAGHENILE, FRETRE

M5 X 0.5 127-A3003-6 127-A4003-5 P65 SRMBEMBKIER. Si0L, IHENEIRS S RERG NS BN
EFRNRERR, HEHHERTNRT LR RS E NSRS TR,

M8 —f43{ PCB EI EZSFA BT UARERN AHBRSUEREIIHN IP68 IS IHFER,
RS, BUBMRAEZLeMBEREARE PCB, LitE M5, M8 5 M12 #y PCB REZE
ESHMXAMBERIEEREEIINT, EaBHBRENEINREHREA FEHHF.

M8 M+l PCB RIS EZZFHXA SMT #12, XEHIFREHIBILEMHER NRIE
121 R, SMT SARFILIKIBEREFmavAi, KRR, & 8. DA, SMT KK
REAENES. NREDER. BrRRERRE. SMRT. AXFES. BFTmEiR. 2
BEIEL R

BIEXTF M8 EIC i3 RV @BE T AL B RiZESE, NEMISETREMEEER
rirs 28

RoHS cus AN
orpiias

LISTED

Salt




M8 A-Code & B EIESS M8 A-Code 43t

WisstE MEER
. - " » B/MERREL 100 S& I REEE HeaE /&
P80 FR80" I Vatink=275 IP67 SHRF K /| B AEK PUR/PUR
8.9 L ‘ r% L I -40°C ~ 80°C (A NERRE) FHE NBR
RIERE
] T -25°C ~ 80°C (EZNBIRE ) BUER HESER/ BEFAEER
! | [ T 0 | | BRI 0.3 Nm PSR, f55 UL HB
it = & SW9 S SR
ASS S| =
B0VAC / 4A (<4 Pin) R4 IME PUR/PVC, BLACK
BB / SRR 30VAC/ 1.5A (6 Pin) J=Feq ;’gj UL AWM 20549 / PVC : UL AWM
B4 UL et : .
30VAG / 1.5A (8 Pin) FRR ;:Jﬁi. UL AWM 20549 / PVC : UL AWM
B35 90° N
1.5kV (<4 Pin) 0.20mm? / 24AWG (<4 Pin)
L L
BE A EBE 0.8kV (6 Pin) SHEEEEmmER 0.14mm?/ 26AWG (6 Pin)
o \ | v | 0.8V (8 Pin) 0.14mm? / 26AWG (8 Pin)
Z
) LR &)\ 100MQ S5 PP
yEr SHBESR I BEA FT-2/VW-1
99.9] BREL 3 i BB 2.0KV/1min
B mm — —
IRESHISE
IEC 61076-2-104: Detail specification for M8 connectors with screw-locking
NN IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and
IR .
measuring methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEAR UL 2238
ASEm
180° AU + 180° B 90° Al + 90° B o o e .
Al I80TE — BATMENESAAREY, PARDEEREEAE ERIEARET, NREERANERERSRNRR, NNAER
385 L 778 | 278 RIPER > IP54 BBAIF R HEH, BRREEARL, BAEH PCB AMFIEMAIRM,
1 | — —
1| o —
1 T 1M M | O‘ — H i
[@N]
Sk \ | ! SW9  SW9 o
2| @ SW9 SW9/ 2L M8*1 | | vs*1 |
$9.9 5991
180° /Aﬁﬁ‘ﬁ + 90° ﬁ 90° /Aﬁ#‘ﬁ +180° ﬁ#‘ﬁ
2/8 L 38.5 , 278 L . 3545
I — | |
= Bt
N
> Z
(&R =
< M8* 1
99.9 .
B mm




M8 A-Code Rkl M8 A-Code TRMkHLER
" YWD A A A " 4Rt A A A A
R oy 3 4 6 8 R 8% 3 4 6 5
EERE / BN 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A KEBE / BR 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A
Nl BiES QWP i S NP BiES QWP 8% S AP i% S NP Bk AP Bis AP g% S
€y €9 ) &% @ & @ &
2515 GLEMBR KE (m) ms Lty Skt KE (m) s

i 180° i 2 351-A3000-15S020  351-A4000-15S020  351-A6000-15S020  351-A8000-15S020 1D 180° Ak 2 301-A3000-10S020  301-A4000-10S020  301-A6000-10S020  301-A8000-10S020
® PVC 5 351-A3000-15S050  351-A4000-15S050  351-A6000-15S050 = 351-A8000-15S050 PVC 5 301-A3000-10S050  301-A4000-10S050  301-A6000-10S050 ~ 301-A8000-10S050
10 351-A3000-15S100  351-A4000-15S100  351-A6000-15S100  351-A8000-15S100 10 301-A3000-10S100  301-A4000-10S100  301-A6000-10S100  301-A8000-10S100
2 351-A3000-05S020  351-A4000-05S020  351-A6000-05S020  351-A8000-05S020 2 301-A3000-00S020  301-A4000-00S020 301-A6000-00S020  301-A8000-00S020
% PUR 5 351-A3000-05S050  351-A4000-05S050  351-A6000-05S050  351-A8000-05S050 @ PUR 5 301-A3000-00S050  301-A4000-00S050 301-A6000-00S050 301-A8000-00S050
10 351-A3000-05S100  351-A4000-05S100  351-A6000-05S100  351-A8000-05S100 10 301-A3000-00S100  301-A4000-00S100  301-A6000-00S100  301-A8000-00S100
i 180° B 2 352-A3000-15S020  352-A4000-15S020  352-A6000-15S020  352-A8000-15S020 32 180° BIf 2 302-A3000-10S020  302-A4000-10S020  302-A6000-10S020 = 302-A8000-10S020
® PVC 5 352-A3000-15S050 ~ 352-A4000-15S050  352-A6000-15S050 = 352-A8000-15S050 - PVC 5 302-A3000-10S050  302-A4000-10S050  302-A6000-10S050 =~ 302-A8000-10S050
/ 10 352-A3000-15S100  352-A4000-15S100  352-A6000-15S100  352-A8000-15S100 / 10 302-A3000-10S100  302-A4000-10S100  302-A6000-10S100 = 302-A8000-10S100
A 2 352-A3000-05S020  352-A4000-05S020  352-A6000-05S020  352-A8000-05S020 A 2 302-A3000-00S020  302-A4000-00S020  302-A6000-00S020  302-A8000-00S020
PUR 5 352-A3000-05S050  352-A4000-05S050  352-A6000-05S050 352-A8000-05S050 PUR 5 302-A3000-00S050  302-A4000-00S050  302-A6000-00S050 ~302-A8000-00S050
10 352-A3000-05S100  352-A4000-05S100  352-A6000-05S100  352-A8000-05S100 10 302-A3000-00S100  302-A4000-00S100  302-A6000-00S100  302-A8000-00S100
3 90° Al 2 353-A3000-15S020 = 353-A4000-15S020  353-A6000-15S020  353-A8000-15S020 30 90° A 2 303-A3000-10S020  303-A4000-10S020  303-A6000-10S020  303-A8000-10S020
® PVC 5 353-A3000-15S050 ~ 353-A4000-15S050  353-A6000-15S050  353-A8000-15S050 e PVC 5 303-A3000-10S050  303-A4000-10S050  303-A6000-10S050 =~ 303-A8000-10S050
/ 10 353-A3000-15S100  353-A4000-15S100  353-A6000-15S100  353-A8000-15S100 / 10 303-A3000-10S100  303-A4000-10S100  303-A6000-10S100  303-A8000-10S100
2 353-A3000-05S020  353-A4000-05S020  353-A6000-05S020  353-A8000-05S020 2 303-A3000-00S020  303-A4000-00S020  303-A6000-00S020 303-A8000-00S020
L4 PUR 5 353-A3000-05S050  353-A4000-05S050  353-A6000-05S050  353-A8000-05S050 @ PUR 5 303-A3000-00S050  303-A4000-00S050  303-A6000-00S050 303-A8000-00S050
10 353-A3000-05S100  353-A4000-05S100  353-A6000-05S100  353-A8000-05S100 10 303-A3000-00S100  303-A4000-00S100 303-A6000-00S100  303-A8000-00S100
B3 90° B 2 354-A3000-15S020  354-A4000-15S020  354-A6000-15S020  354-A8000-15S020 §32 90° Bk 2 304-A3000-10S020  304-A4000-10S020  304-A6000-10S020 = 304-A8000-10S020
® PVC 5 354-A3000-15S050 =~ 354-A4000-15S050  354-A6000-15S050 ~ 354-A8000-15S050 PVC 5 304-A3000-10S050  304-A4000-10S050  304-A6000-10S050 = 304-A8000-10S050
/ 10 354-A3000-155100  354-A4000-15S100  354-A6000-15S100  354-A8000-15S100 / 10 304-A3000-10S100  304-A4000-10S100  304-A6000-10S100  304-A8000-10S100
2 354-A3000-05S020  354-A4000-05S020  354-A6000-05S020  354-A8000-05S020 pe 2 304-A3000-00S020  304-A4000-00S020  304-A6000-00S020 304-A8000-00S020
. PUR 5 354-A3000-05S050  354-A4000-05S050  354-A6000-05S050  354-A8000-05S050 PUR 5 304-A3000-00S050  304-A4000-00S050 304-A6000-00S050 304-A8000-00S050
10 354-A3000-05S100  354-A4000-05S100  354-A6000-05S100  354-A8000-05S100 10 304-A3000-00S100  304-A4000-00S100  304-A6000-00S100  304-A8000-00S100
180° Aif + 180° £ 0.6  356-A3000-15SL60  356-A4000-15SL60  356-A6000-15SL60  356-A8000-15SL60 1807 23 + 180° B3 0.6  306-A3000-10SL60  306-A4000-10SL60  306-A6000-10SL60  306-A8000-10SL60
® M PVC 15  356-A3000-15S015 356-A4000-15S015 356-A6000-15S015 356-A8000-15S015 @ M PVC 15  306-A3000-10S015 306-A4000-10S015 306-A6000-10S015 306-A8000-10S015
3 3 356-A3000-15S030  356-A4000-15S030  356-A6000-15S030  356-A8000-15S030 " 3 306-A3000-10S030  306-A4000-10S030  306-A6000-10S030 = 306-A8000-10S030
0.6  356-A3000-05SL60  356-A4000-05SL60  356-A6000-05SL60 356-A8000-05SL60 0.6  306-A3000-00SL60 306-A4000-00SL60 306-A6000-00SL60 306-A8000-00SL60
5 / PUR 15  356-A3000-05S015 356-A4000-05S015 356-A6000-05S015 356-A8000-05S015 5 / PUR 15  306-A3000-00S015 306-A4000-00S015 306-A6000-00S015 306-A8000-00S015
3 356-A3000-05S030  356-A4000-05S030  356-A6000-05S030  356-A8000-05S030 3 306-A3000-00S030  306-A4000-00S030  306-A6000-00S030 306-A8000-00S030
90° Al + 90° Bk 0.6  359-A3000-15SL60  359-A4000-15SL60 359-A6000-15SL60  359-A8000-15SL60 90° A1 + 90° itk 0.6  309-A3000-10SL60  309-A4000-10SL60 309-A6000-10SL60  309-A8000-10SL60
® ~ P 15 359-A3000-15S015  359-A4000-15S015 359-A6000-15S015 359-A8000-15S015 ®- “ pvec 15  309-A3000-10S015 309-A4000-10S015 309-A6000-10S015 309-A8000-10S015
/ 3 359-A3000-15S030 = 359-A4000-15S030  359-A6000-15S030 = 359-A8000-15S030 W/ 3 309-A3000-10S030  309-A4000-10S030  309-A6000-10S030 = 309-A8000-10S030
@ MK 0.6  359-A3000-05SL60  359-A4000-05SL60 359-A6000-05SL60  359-A8000-05SL60 @ Wf 0.6  309-A3000-00SL60 309-A4000-00SL60 309-A6000-00SL60 309-A8000-00SL60
e PUR 15  359-A3000-05S015  359-A4000-05S015 359-A6000-05S015 359-A8000-05S015 e PUR 15  309-A3000-00S015 309-A4000-00S015 309-A6000-00S015 309-A8000-00S015
3 359-A3000-05S030  359-A4000-05S030  359-A6000-05S030  359-A8000-05S030 3 309-A3000-00S030  309-A4000-00S030  309-A6000-00S030  309-A8000-00S030

FREFmBsER SR AMS L KE ST RBENERITH, Wliae HFFHEIF cULus TAE FrE = mAvERST NS L KE ST RBRENFERITH, Wilaa



M8 A-Code TLRAkIEHETFHFLAT

4RED

OE

Ve SR KE (m)

BA371 180° N

© 2
e 7
10
B3 180° g
® 2
PUR 5
Y
10
815 90° A
© 2
PUR 5
|
10
341 90° Fig
2
) ; PUR 5
&
10
180° Al + 180° ik
© 0.6
%/ PUR 15
Y 3
90° Wi + 90° i
© 0.6
.
PUR 1.5

L
.&
w

A
3

60V / 4A
Qi P i S

DHE

301-A3000-02S020
301-A3000-02S050
301-A3000-02S100
302-A3000-02S020
302-A3000-02S050
302-A3000-02S100
303-A3000-02S020
303-A3000-02S050
303-A3000-02S100
304-A3000-02S020
304-A3000-02S050
304-A3000-02S100
306-A3000-02SL60
306-A3000-02S015
306-A3000-02S030
309-A3000-02SL60
309-A3000-02S015

309-A3000-02S030

A
4

60V / 4A
g S

6O
a0

QP

A
6

30V /1.5A
QWP BiES

: 84@5
‘@ '@ 0
)

[ =]

=15}

301-A4000-025020

301-A4000-02S050

301-A4000-02S100

302-A4000-02S020

302-A4000-02S050

302-A4000-02S100

303-A4000-02S020

303-A4000-02S050

303-A4000-02S100

304-A4000-02S020

304-A4000-02S050

304-A4000-02S100

306-A4000-02SL60

306-A4000-02S015

306-A4000-02S030

309-A4000-02SL60

309-A4000-02S015

309-A4000-02S030

FRA = mByE RS M A 4 K E B AR RERNERITH, Rilaia

=

301-A6000-025020

301-A6000-02S050

301-A6000-02S100

302-A6000-02S020

302-A6000-02S050

302-A6000-02S100

303-A6000-02S020

303-A6000-02S050

303-A6000-02S100

304-A6000-02S020

304-A6000-02S050

304-A6000-02S100

306-A6000-02SL60

306-A6000-02S015

306-A6000-02S030

309-A6000-02SL60

309-A6000-02S015

309-A6000-02S030

30V /1.5A

301-A8000-025020

301-A8000-02S050

301-A8000-02S100

302-A8000-02S020

302-A8000-02S050

302-A8000-02S100

303-A8000-02S020

303-A8000-02S050

303-A8000-02S100

304-A8000-02S020

304-A8000-02S050

304-A8000-02S100

306-A8000-02SL60

306-A8000-02S015

306-A8000-02S030

309-A8000-02SL60

309-A8000-02S015

309-A8000-02S030

M8 B2 M12 A-Code TRk AIEL

. Ymbg
nFECE o
KEBE / BR
=
¢ HEMR KE (m)
M8 180° Al + M12 180° i 0.6
PVC 1.5
: 3
/ 0.6
% PUR 15
LY 3
M8 90° AiF + M12 90° BHig 0.6
PVC 1.5
] 3
. 0.6
L PUR 1.5
é 3

RImERRAERRE, WER (180°)/ B (90°), Ak / Fik

Al

3

60V / 4A
P IS

10
O O3

350-13000-10SL60
350-13000-10S015
350-13000-10S030
350-13000-00SL60
350-13000-00S015
350-13000-00S030
350-73000-10SL60
350-73000-10S015
350-73000-10S030
350-73000-00SL60
350-73000-00S015
350-73000-00S030

Bo
din

M8 B2 M12 A-Code TRk LW ihiEL

oL
mFECE ,
GER
BEEBE / BIA
™
&1 GiLMB KE (m)
M8 180° Ak + M12 180° & 0.6
Pooros
S
PUR 1.5
%
& 3
M8 90° i + M12 90° &} 0.6
PUR 1.5
3

MimEESR I EREKE, WER (180°)/ T (90°),

N

3

60V / 4A
P g1

10
1O O8

Bo
din

350-13000-02SL60

350-13000-02S015

350-13000-02S030

350-73000-02SL60

350-73000-02S015

350-73000-02S030

17¢9.9

Al P

A
4
60V / 4A

10O O2
WO O3

350-14000-10SL60
350-14000-10S015
350-14000-10S030
350-14000-00SL60
350-14000-00S015
350-14000-00S030
350-74000-10SL60
350-74000-10S015
350-74000-10S030
350-74000-00SL60
350-74000-00S015
350-74000-00S030

FRrE = mEvERST NS4 KE S RRENFERITH, Kilas

A
4
60V / 4A

J.IJ.IP ﬁ#‘ﬁs

10 O2
1O O8

350-14000-02SL60
350-14000-02S015
350-14000-02S030
350-74000-02SL60
350-74000-02S015

350-74000-02S030

B mpvER R A NS L KE ST RBENERITH, WlEH

S s




M8 A-Code ERIVEIARZEIERE M8 A-Code EtRz{

N ﬁ\
RAMERREL 100 Sk REER MER /&
NREER R .
AU ERE _— ' iR . . PP IP67 SHRF K PA
S IBIERRE 40°C ~ 80°C ARIBE 95 SESER BELHR
X3 i %E 0.3 Nm ZEE NBR
e S 2 i S SR, T UL
= O o N % RUEH4E 0.8 Nm FRIASR , F8 VO
= = 94
) | — BSFYE “MEN
SW10
B0VAC / 4A (<4 Pin) ZAIME PVC
BEBE / FIEER 30VAC / 1.5A (6 Pin) i UL FE=0 PVC : UL 1061
30VAC / 1.5A (8 Pin) 0.25mm? / 24AWG (<4 Pin)
aigizt ¥ 0.5m T4k 1.5KV (<4 Pin) SLEEBEER 0.14mm?/ 26AWG (6 Pin)
E T EE 0.8kV (6 Pin) 0.14mm?’ / 26AWG (8 Pin)
0.8kV (8 Pin) SLsMEL SR-PVC
© 5B &/ 100MQ BELIA VW-1/FT-1
SN I
— |0 |
s|= HEBEER Il iR E NA
SRER 3
SW12 — -
RESHE
IEC 61076-2-104: Detail specification for M8 connectors with screw-locking
AR i IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring methods
i % 12ME IEC 60529: Degree of protection provided by enclosures (IP Code)
IANEAT UL 2238
NiEER IEIEA S
ERIFENBSNYNSE, DARIEEESFEHACERMEHRET. NREE[RUEHERSRIBI, MHHER
- RIFELR > IP54 BBRIF R EHE T, RFEZRERL, B4is PCB AMFEmMAIRM,
<l ©| ™ =
SE S g | O
= ]
‘ \ NSW12
SW11
mFHTIIE S S48 e
5 (@) (@) 3 Os L O°
E 020 O =0
g (@N©) ' 2 O O
g 3 1 Q Q <<2)©©<@
; 3p 4p 6P 8P
o A code
1 Brown i3 1 Brown i% 1 Brown 1% 1 White B
2 - 2 White B 2 White B 2 Brown #z
- 3 Blue & 3 Blue & 3 Blue & 3 Green %%
3 4 Black 2 4 Black 2 4 Black £ 4 Yellow =
E 5 Gray X 5 Gray 7%
6 Pink % 6 Pink #
7 Blue &
8 Red £




M8 A-Code TRF&E R

i FECE

BERBE / B

Shp
51
ABIEEE
v@lﬁ .\ _,://
B} iR
@ N s
Z51
DUHREE
SipiEE
h )
£51
@ AURIEE
©. HEE
£51
A
SRR

YRED A A A
T 3 4 6
60V / 4A 60V / 4A 30V /1.5A
Nig P BiF S Nig P 8if S Rig P BiF S
O 00 5 Os
4 42 © ©
O
25
fa8izt & 0.5m EEF 4
EEIRL ms
M8 X 0.5 318-A3000-0VSL50 318-A4000-0VSL50 318-A6000-0VSL50
M8 X 0.5 319-A3000-0VSL50 319-A4000-0VSL50 319-A6000-0VSL50
BIgizt # 0.5m EBF 4
EEHRLL ms
M8 x 1 320-A3001-0VSL50 320-A4001-0VSL50 320-A6001-0VSL50

M10x0.75 321-A3002-0VSL50 321-A4002-0VSL50 321-A6002-0VSL50

EBI0 SR
EIE R ms
M8 X 0.5 332-A3000-S 332-A4000-S 332-A6000-S
M8 X 0.5 333-A3000-S 333-A4000-S 333-A6000-S
AIBI AR e
Bl E SR ms
M8 x 1 330-A3001-S 330-A4001-S 330-A6001-S
M10x0.75  331-A3002-S 331-A4002-S 331-A6002-S

HR{AFFEENE cULus JAE

A
8
30V / 1.5A
AWP | BHS
o
én
00

318-A8000-0VSL50

319-A8000-0VSL50

320-A8001-0VSL50

321-A8002-0VSL50

332-A8000-S

333-A8000-S

330-A8001-S

331-A8002-S

BFAKEERAMRRENFTRITH, WilaiH

M8 A-Code —{43{ PCB X EIi5iEIE2S

180° il AT TR

Pin out

Pin arrangement

i

B

(STES

12.0 6.0 3.0

6.5 _ 3.0

$12.6

M8*1

912.6
M10*0.75

PCB Layout
5.9 6*p1
L.
™
J*¢1.3
O4O 5 50 O,
S o ¢
3P 4P 6P

A code

1.63




M8 A-Code —f43{ PCB =} M8 A-Code ik | TRi#x—1#X PCB I},

M EZER o Eam b5 A A A A
BR/MERREL 100 Sk REER Mas /& TER 3 4 6 8
BPZER IP67 Sk PA BUE FEIE / AR 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A
Nig i N i N i i
IRIERE 40°C - 80°C ARIER | 958 HASHER/ BAARER i P ‘g S | &EP | SRS | 2P ‘g S ‘gf S
STEliH%E 0.4 Nm BYER NBR ER é@ % %@gs %%%
REES < = 31 A 2 X 7
e ok wis) MRS, e UL vo
- 180° mIBIT TR
BSFE E5 7% a0 1|
£y EIE B ms
60VAC / 4A (<4 Pin) NI D
TEHE / FIEER 30VAC / 1.5A (6 Pin) O
\ M8 X 1 326-A3001-4 326-A4001-4 326-A6001-4 326-A8001-4
30VAC / 1.5A (8 Pin) @
1.5kV (<4 Pin) SR
BT EE 0.8kV (6 Pin) ®-
\ M10 x 0.75 327-A3002-4 327-A4002-4 327-A6002-4 327-A8002-4
0.8kV (8 Pin) \% \
Hu25PAT £/» 100MQ vy
= 90° mIEIR Rk
T EEEFR I 519 ElEHRLL s
SRER 3 AN
ﬁ)ﬁ'—ﬁ*ﬂ%ﬁ . [ M8 X 1 328-A3001-4 328-A4001-4 328-A6001-4 328-A8001-4
IEC 61076-2-104: Detail specification for M8 connectors with screw-locking -)
R IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring methods :
IEC 60529: Degree of protection provided by enclosures (IP Code) ST
NI UL 2238 / UL2237 .
“;I,.E_,‘;Iﬁ 0 | M10 x 0.75 329-A3002-4 329-A4002-4 329-A6002-4 329-A8002-4
ERFMERN BRSNS, BARIDEZSHBHACERBEH R, NREESRUENERSENENR, B ER Bk
{RIPER > P54 WP RS EER. TBEREKLE, BUR PCB SRR, T




M8 A-Code F{T{ PCB X EIffZiEIEE
180° K AR Rk

YN
23.00
17.00
|3.80 1.30
D —
R —
(ST
17.00
3.80 1.30

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout

8.05
4.25
2:02.40 100

[ 4.00_]
2% 7

0.35 165, 1.20

S
NE
|

8x01.00 1.85

12.90

12.90

12.90
8.10

8.00

HS &
S

3P 4P 5p 6P 8P

PCB Layout

8.25

4.
249240 536

R 177

12.90

@ @ @ 3 ©o 4©5
©4© ©u© 3@51 1©<6®©5 3©<®8©©5
3 1 31 © ©© 2©1© /
3P 4P 5P 6P 8P
Acode

M8 A-Code Ff$3{ PCB T,
LR
R/ MERREL 100 SiK | REER
DE7ak 254 IP67 SAHIE
1BMERE -25°C ~ 80°C ZEE
BEAR EIi42 (245°C) EEBBREFR (MSL)
PRIASELR , 155 UL
94
BT
B0VAC / 4A (<4 Pin)
30VAC / 3A (5 Pin)
BEBE / FIERR
30VAC / 1.5A (6 Pin)
30VAC / 1.5A (8 Pin)
1.5kV (=4 Pin)
0.8kV (5 Pin)
BEAELEE
0.8kV (6 Pin)
0.8kV (8 Pin)
BIXFEHT /)\ 100MQ
T EESR I
BRER 3
IFESHE
IEC 61076-2-104: Detail specification for M8 connectors with screw-locking
iR

IEC 60529: Degree of protection provided by enclosures (IP Code)

ARE

BXIMENBSMVMSE, BIARIPEZRSEBEHEERMEHRES. MREEBRPENERISROER, NBHER

RIFFR > 1P54 MR R R HEH, EFERERL, B4 PCB A ERMAIR M,

HHZER
HEE/E
LcP
SILICONE
1

VO

ZiEAEm

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring methods




M8 A-Code TRkl PCB I},

YREg A
ImFICE
ER 3
EERE / B 60V / 4A

NP BiS

A A A A
4 5 6 8
60V / 4A 60V/ 4A 30V /1.5A 30V /1.5A

RNHP  BIHS QRwP BIFES QKPP #KS QkP  8IKS

Shn @) (@]@) db 00 : O 690

\ @o@ 42 1 3 3 1 ©©© 50 s

/ 0 5 @ 0 9 ReY 040 .@ 050/ .@ Do
Q a) o &

SMT 184 TR

24 0] BEAN

NiiihEE

RE 381-A3S00U-1

Eiodt 381-A3S00U-2

(ST s

RE 382-A3S00U-1

¥ 382-A3S00U-2

ERINT Bl E SR
RImAINTE
M12 X 1
M12 X 1

o=
AR

381-A4S00U-1 - - -

381-A4S00U-2 = - =

382-A8S00U-1

382-A6S00U-1

382-A4S00U-1  382-A5S00U-1

382-A4S00U-2 382-A5S00U-2 382-A6S00U-2  382-A8S00U-2

pu}
o
dio

383-S1200

384-S1200

REBLEHE  60Pcs
P EEHE - 100Pcs

M8 B-Code 4T B EIEES

99.9
MB* 1],

§

24.0

MB*1
9.9

180° Al + 180° &k

385 _ L 345

$9.9

I _
2| SW9 Swg/ 2
180° Al + 90° &l

278 _

= |

< T

O

[@N]

r SW9 .y
Me*1 | | =
$9.9

540 180° B

] 34.5 L
[T =
[Tl .
% SW9
A

B mm

90° N + 90° B

27.8 L 27.8

0.0
J
i
N

[0

24.0

W™ swg  sw9 ,

90° Al + 180° B

278 L
N
S SW9
MBE*1
$9.9




M8 B-Code H4Ext

B/ MERREL
PP ER

RERE

PEHRE

TEBE / SUERR
BE AL HBE
MR
HEBEFER

BRER

RIHTAE

INIEAT

M1

100
IP67
-40°C ~ 80°C ( L ABEE R )
-25°C ~ 80°C ( 45 NBTHRE )
0.3 Nm

ST

30VAC / 3A (5 Pin)
0.8kV (5 Pin)
£/)\ 100MQ
[

3

Sk REERE
SARIE | G5
BHE

BYER

PAMAELR , 158 UL
%

FBAIIMK

B4 UL 20

SHEBEmER
SLLEMR
RS

iy BB

RESHE

IEC 61076-2-104: Detail specification for M8 connectors with screw-locking

IEC 60529: Degree of protection provided by enclosures (IP Code)
UL 2238

AREB
BXIMENBSMVMSE, BIARIPEZRSEBTHEERMEHRES. MREEBRPENERISROENR, NBHER

MHZER
WaE/ £
PUR/PUR
NBR
FEEER/ BEASER
HB
SMER

PUR/PVC, BLACK
Bk 2464

TR 2464
0.20mm? / 24AWG (5 Pin)
PP
FT-2/ VW-1

2.0KV/1min

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring methods

RIFFR > 1P54 MR R R HEH, EFERERLE, B4 PCB AMFERMAIR M,

PUR : ULAWM 20549 / PVC : ULAWM

PUR : ULAWM 20549 / PVC : UL AWM

M8 B-Code Rkt

IRFEE
ENEBIE / BB
N
A YRR

351 180° Ak
@ / -
@ PUR

30 180° B
@ / -
b PUR

B30 90° Nit
® PVC
L4 PUR

8855 90° B
@ / e

&
PUR
180° ik + 180° ik
® 15‘$fﬁfér PVC
% /
Y PUR
90° N + 90° i
@ / |
*q;ﬁﬁﬁfﬁ;ﬁ

pe PUR

Wb

Pve 54

KE (m)

5
30V / 3A
B S
00,
©©©
me

351-B5000-15S020
351-B5000-15S050
351-B5000-155100
351-B5000-05S020
351-B5000-05S050
351-B5000-05S100
352-B5000-15S020
352-B5000-15S050
352-B5000-15S100
352-B5000-05S020
352-B5000-05S050
352-B5000-05S100
353-B5000-15S020
353-B5000-15S050
353-B5000-15S100
353-B5000-05S020
353-B5000-05S050
353-B5000-05S100
354-B5000-15S020
354-B5000-15S050
354-B5000-15S100
354-B5000-05S020
354-B5000-05S050
354-B5000-05S100
356-B5000-15SL60
356-B5000-15S015
356-B5000-15S030
356-B5000-05SL60
356-B5000-05S015
356-B5000-05S030
359-B5000-15SL60
359-B5000-15S015
359-B5000-15S030
359-B5000-05SL60
359-B5000-05S015
359-B5000-05S030

B mpvERSRT NS L KE S RBENERITH, WG



= -
M8 B-Code TR HLU
G FECE
EBE /BN
Shy
£515 ik v bl
15 180° R
%
PUR
35 180° B
B
PUR
835 90° Al
PVC
@ PUR
854 90° Bl
&
PUR
180° Al + 180° B
/ PVC
%1”fﬁﬁ#
PUR
&
90° R + 90° i
/ "
P PUR

YRhD

B

5
30V /3A

ms
301-B5000-10S020
301-B5000-10S050
301-B5000-10S100
301-B5000-00S020
301-B5000-00S050
301-B5000-00S100
302-B5000-10S020
302-B5000-10S050
302-B5000-10S100
302-B5000-00S020
302-B5000-00S050
302-B5000-00S100
303-B5000-10S020
303-B5000-10S050
303-B5000-10S100
303-B5000-00S020
303-B5000-00S050
303-B5000-00S100
304-B5000-10S020
304-B5000-10S050
304-B5000-10S100
304-B5000-00S020
304-B5000-00S050
304-B5000-00S100
306-B5000-10SL60
306-B5000-10S015
306-B5000-10S030
306-B5000-00SL60
306-B5000-00S015
306-B5000-00S030
309-B5000-10SL60
309-B5000-10S015
309-B5000-10S030
309-B5000-00SL60
309-B5000-00S015
309-B5000-00S030

FREF MBS s M S 2 K E B R IR ISR RITH], Yoliaig

M8 B-Code TR HLER

i A E

BERBE/BR

EShy
25l

55 180° Al
00
€

%

35 180° B
@

\

i
&
«©
S
»
5

@

540 90° &g

\

180° Al + 180° B

&

%

\\

Y
90° Al + 90° Bt

A\

k57

PUR

PUR

PUR

PUR

PUR

PUR

w5

OER

»
E
0

KE (m)

2

10

10

10

10
0.6

1.5

0.6

1.5

5
30V /3A

0o =

AR

301-B5000-025020

301-B5000-02S050

301-B5000-02S100

302-B5000-02S020

302-B5000-02S050

302-B5000-02S100

303-B5000-02S020

303-B5000-02S050

303-B5000-02S100

304-B5000-02S020

304-B5000-02S050

304-B5000-02S100

306-B5000-02SL60

306-B5000-02S015

306-B5000-02S030

309-B5000-02SL60

309-B5000-02S015

309-B5000-02S030

FrE P mAvERST NS L KE ST RRENERITH, Wilaa



M8 B-Code HEHiRT EIffZiEIE2E

M8 B-Code MEtR=t

B8z 5 0.5m BBFL% J e
= 1% MEZER
BRIAE B /MERRE 100 Stk | REHER as/ 2
PSR IP67 SR PA
5 BIERE -40°C ~ 80°C INAIRE /MR FETHERER / HOEHEE
2 = % ° XS 03 Nm H1E NER
o) s = = PR
= RHE 0.8 Nm PSR, 55 UL vo
SW10 BT SMER
BRIt & 12t TERE | FE BT 30VAC / 3A (5 Pin) BN PVC
A S HE R EE 0.8kV (5 Pin) %4 UL R0 PVC : UL 1061
18.0 2.5
9.5 #u 5B £/)\ 100MQ S&MEEER 0.25mm? / 24AWG (5 Pin)
T EEFR I SELEEMR SR-PVC
i by e S = .
ke i s 2 ERER 3 PEAA VW-1 / FT-1
=
: iy BB NA
SW10 = -
RESHE
'ﬁ'.‘j%‘ﬂl’it '%" 0.5m Ea;gf IEC 61076-2-104: Detail specification for M8 connectors with screw-locking
IS THRE IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring methods
YN 10 . i1 RE IEC 60529: Degree of protection provided by enclosures (IP Code)
) ‘ ‘ INIEARAE UL 2238
AEEM
N g < —— ERFMERBSMVSE, DIRIDEEREBHHEERBEHREN . NREESRUETHERSROER, NWHFER
== RIPFER > IP54 WBAIPEREE R, EREEARL, B4 PCB HAMSARIR MM,
SW12
AUzt & IEME
N e SIIERE -
©o| — L©
ol & = g
=

in FHITIIE S SEE &

050

5P
B code

Pin arrangement

Brown 1z
White &
Blue &
Black 2
Gray X

Pin out
a B W N =




M8 B-Code TRHHEHIRT M8 B-Code —{§{, PCB R EfisiEiE2s

YA B At -
WTEE o g 180° AT ATSEEt TR
0%
YN (S
KERE / B 30V / 3A
Sk s s 120 _6.03.0 10.0_6.53.0
Ehn @ OO0
062 © ©
N o
R # 0.5m B4 = Wil s
i [E B R ms SW12 =
I\ R
AN L # \SW10 SW11
@ .’\ M8 X 0.5 318-B5000-0VSL50 PCB Layout
: 5491.3
(ST i
% \ M8 X 0.5 319-B5000-0VSL50 g
FIpizt & 0.5m BFLL
Rt IR &5 -
YN S £
&
\ M8 x 1 320-B5001-0VSL50 g
® : .
B code
SURIEE ]
%' \ : M10 x 0.75 321-B5002-0VSL50 M8 B-Code —f{3 PCB 1{
| g2
B B o LLL . HEER A
41 B e Re B/ MERRER 100 Sk | REER AeE/
AR DiEak=27e IP67 SEHE PA
BERE -40°C ~ 80°C INRIER [ SR HFOTHEE/ BESEER
\ M8 X 0.5 332-B5000-8 T 5HH4E 0.4 Nm eigalis NBR
& AR T AR, e UL vo
e B 2 e
\ : M8 X 0.5 333-B5000-S TEBE / FUEBR 30VAC / 3A (5 Pin)
% BE P EHEBE 0.8kV (5 Pin)
| . 4IRS S/)\ 100MQ
RIEATC SR ET : =
) BB ne o ESR I
YN 2 SRER 3
=¥ 4= 5]
M8 x 1 330-B5001-S E— Lk . :
: IEC 61076-2-104: Detail specification for M8 connectors with screw-locking
% 3 iR IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
. hatdi methods
S IEC 60529: Degree of protection provided by enclosures (IP Code)
\ M10 x 0.75 331-B5002-S INIEAT UL 2238 / UL2237
& ) EBEM

ERFMENBSMIMSE, BARDERSZEFTHEERMEHA LR, MRERBRIUENBRSRNENR, NBHER

HRKEE BISHERITHE, LA . . e e N o,
RFERKEERIRRGHRIOTH, T8 (RIPED > P54 ISP RIS HEE, TRERAKLS, B4R PCB ALHERNEM,



M8 B-Code Btk / TR #k —fF3\ / Al PCB .,

4Rhg
IHFEE e
IL‘,\%(
ENERBE / B
NP
180° Izt TR
ZEH Bl MR
YN 252
E@m
\ M8 X 1
BinihE
\ M10 x 0.75
Q
90° mIBiTt Bk
£ Edfral¥ar
N2
D@lﬁ . 1
& . M8 X 1
iR
0 ' M10 x 0.75
SMT 12 TRE#R

Zhth BEAR
NI

®
’ i

(SIS

©
okl

i B EHRL
AimtEEE

é}% M12 X1

[STs

D -

FH{EFHE T cULus SAIE

B
5
30V /3A

B S
3©©1

o=
AR

326-B5001-4

327-B5002-4

(==
AR

328-B5001-4

329-B5002-4

ms
381-B5S00U-1
381-B5S00U-2
382-B5S00U-1
382-B5S00U-2

(==
AR

383-S1200

384-S1200

HEEEEHE  60Pcs
e = - 100Pcs

M12 HEER ERESE, HEBEMENBAAGTESH HRESREMHNZHYE, EARIRTE
ZASMKEE (IP67 /1P68 ) MR, RETEEFESR. BEZTMANIRSIFEN A SRS
2, ITHRMHETEREN PVC 5 PUR L LURRENE R, HSRAMERKINNAZBEIE, BTF
Wi T BERIIRERV B, MEHRERIE 500 2R ( R=28mm, L=1m, V=1m/s ),

BFHELRY M12 EREZB[BAIESRFRESL, maneRYIXARSNKEE, m#R%EMN
MHEEIERY PUR 4itk. b= mBRilSEBMMLESL . EILEMNIREEREBMRIEMERTEE,
TRBERDABEFEZSREN, FREHEIEEMMERZFRIENEESHK M. HEEER
FEREFIRENINTHER L, ELFRFRETRIBSEM 2 g, o, BRTHBECIRER PVC
FFE&Sh, RMHEEEMH RIS,

M12 —f#3{ PCB Bz &S, ENIRERI=ES PCB RURKAIE, BTFHERM 180 & (
Straight ) #1 90 E ( Angled ) RU/ZHIFZEC, ILERERERENRES R, IIMTFEERTHER
MRINEERI— T\ PCB TiEHZES, B 5T RBIINTERD Pin $HXEITNAEMEHEM ( Functional Earth )o

BT:¥69 M12 FFI( PCB NBEZEZSS, FMEMMA PCB B EZS SR SFHHENERE
SNRBEENEREN, SEEEERMSREN, FIFEUERE (THR) #li2/2ETF PCB Lk, FH
BB & BEhCEURMA T ( Tape-on-reel ) M#t& ( Tray ) MMBES I, SEBEREHECETHR
=235

BT LT UL A EN R EEES, WRVIBTWEREAFTEL MkiEk. Hi5ERTA
P, RIEKFERETELAKENRFIERSNRE, M12 AEARAERSER T RME T EFBE
REE, BEEENSTINFEE, FERETHERRISH~E, HEEN,

NF M12 B EZS R~ milF R M SMmE (AL B. DL X0 SO TV LV K MEF), &
REFUNNAER, SESEENSERIIFR,




M12 A-Code &R B iEIESS

LO| ~—
<| & 49.8 L
s =
| | 1D i
SW13

180° A + 180° B

L 46.2

30 180° B

L
<
S

28.2

B mm

180° Al + 180° Nify

180° Alify + 90° il

914.5

M12 A-Code &zt

iR HEZER
B/MERREL 100 S REER WEs/ £
FhirER IP67/IP68 SAEHIE | B E PUR/PUR
A -40°C ~ 80°C (A NEERE) EHE NBR
R EmE
-25°C ~ 80°C (A NBthRE) 1BNER HATHE / RS EER
MRS ? P
SHEHE 0.4 Nm g“%ﬁ‘ﬁmUL HB
BT ZMEN
250VAC / 4A (<4 Pin) FRAT MK PUR/PVC, BLACK
250VAC / 4A (5 Pin) B PUR : ULAWM 20549 / PVC : ULAWM
TUERLE / HUE R A PUR : ULAWM 2(2)233 / PVC : UL AWM
250VAC / 2A (8 Pin) B4 UL 2z TRk ' 2464 '
250VAC / 2.5A (12 Pin) ek PUR : UL AWM 20549
2.5kV (=4 Pin) 0.34mm?*22AWG (<4 Pin)
1.5kV (5 Pin) 0.34mm’/22AWG (5 Pin)
TE L EE SLEEEER
0.8kV (8 Pin) 0.25mm’/24AWG (8 Pin)
0.8kV (12 Pin) 0.14mm?/26AWG (12 Pin)
BIRFEHT &/)\ 100MQ SLLESME PE/PVC
THEESFR Il FELA FT-2/VW-1
SRER 3 [=YES 2.0KV/1min
RESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
LS IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
RITIRE
methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
NPT UL 2238

ABEM

EAMENBSMVMBSE, BIAREERSZETHAEERMEARET. MRERBFRIUENERSRIEN, NBHER

RIFFER > P54 MR B R EHT R, EFERERL, B4 PCB A ERMRIRM,




M12 A-Code &£t
YREg A A
ImFICE
ER 3 4
EERBE / BAR 250V / 4A 250V / 4A
NP S QP @S

Shn

451
B35 180° N

oEL)us
uSTED

ﬁﬁ*iﬂgfﬂ

30 180° P

2340 90° &g

180° i + 180° By

@

©
L,

90° Al +90° S

@
usTED

©

2

%45
HE

PvC

PUR

PVC

PUR

PVvC

PUR

PVvC

PUR

PVC

PUR

PVvC

PUR

KE

10
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
8

FIEFHEEF cULus IAE

U 1o O fNle) U
1O O3 O O3

251-A3000-25S5020
251-A3000-25S050
251-A3000-255100
251-A3000-05S020
251-A3000-05S050
251-A3000-05S100
252-A3000-25S020
252-A3000-25S050
252-A3000-25S100
252-A3000-05S020
252-A3000-05S050
252-A3000-05S100
253-A3000-255020
253-A3000-25S050
253-A3000-255100
253-A3000-05S020
253-A3000-05S050
253-A3000-05S100
254-A3000-25S5020
254-A3000-25S050
254-A3000-255100
254-A3000-05S020
254-A3000-05S050
254-A3000-05S100

251-A4000-255020
251-A4000-25S050
251-A4000-255100
251-A4000-05S020
251-A4000-05S050
251-A4000-055100
252-A4000-25S020
252-A4000-25S050
252-A4000-25S5100
252-A4000-05S020
252-A4000-05S050
252-A4000-05S100
253-A4000-255020
253-A4000-25S050
253-A4000-255100
253-A4000-05S5020
253-A4000-05S050
253-A4000-055100
254-A4000-255020
254-A4000-25S050
254-A4000-255100
254-A4000-05S020
254-A4000-05S050
254-A4000-055100

256-A3000-25SL60 256-A4000-25SL60
256-A3000-255015 256-A4000-25S5015
256-A3000-25S030 256-A4000-25S030
256-A3000-05SL60 256-A4000-05SL60
256-A3000-05S015 256-A4000-05S015
256-A3000-05S030 256-A4000-05S030
259-A3000-25SL60 259-A4000-25SL60
259-A3000-25S015 259-A4000-25S015
259-A3000-25S030 259-A4000-25S030
259-A3000-05SL60 259-A4000-05SL60
259-A3000-05S015 259-A4000-05S015
259-A3000-05S030 259-A4000-05S030

5

60V / 4A
S s

Al P

251-A5000-25S020
251-A5000-25S050
251-A5000-25S100
251-A5000-05S020
251-A5000-05S050
251-A5000-05S100
252-A5000-25S020
252-A5000-25S050
252-A5000-25S100
252-A5000-05S020
252-A5000-05S050
252-A5000-05S100
253-A5000-25S020
253-A5000-25S050
253-A5000-25S100
253-A5000-05S020
253-A5000-05S050
253-A5000-05S100
254-A5000-25S020
254-A5000-25S050
254-A5000-25S100
254-A5000-05S020
254-A5000-05S050
254-A5000-05S100
256-A5000-25SL60
256-A5000-25S015
256-A5000-25S030
256-A5000-05SL60
256-A5000-05S015
256-A5000-05S030
259-A5000-25SL60
259-A5000-25S015
259-A5000-25S030
259-A5000-05SL60
259-A5000-05S015
259-A5000-05S030

A A
8 12
30V /2A 30V /1.5A
QWP BHS  AMP  Bi%S
:“Eg @%?%

251-A8000-255020 251-AC000-25S020
251-A8000-25S050 251-AC000-25S050
251-A8000-25S100 251-AC000-25S100
251-A8000-05S020 251-AC000-05S020
251-A8000-05S050 251-AC000-05S050
251-A8000-055100 251-AC000-05S100
252-A8000-25S020 252-AC000-25S020
252-A8000-25S050 252-AC000-25S050
252-A8000-255100 252-AC000-25S100
252-A8000-05S020 252-AC000-05S020
252-A8000-05S050 252-AC000-05S050
252-A8000-05S100 252-AC000-05S100
253-A8000-25S020 253-AC000-25S020
253-A8000-25S050 253-AC000-25S050
253-A8000-25S5100 253-AC000-25S100
253-A8000-05S020 253-AC000-05S020
253-A8000-05S050 253-AC000-05S050
253-A8000-05S100 253-AC000-05S100
254-A8000-255020 254-AC000-25S020
254-A8000-25S050 254-AC000-25S050
254-A8000-25S100 254-AC000-25S5100
254-A8000-05S020 254-AC000-05S020
254-A8000-05S050 254-AC000-05S050
254-A8000-055100 254-AC000-05S100
256-A8000-25SL60 256-AC000-25SL60
256-A8000-25S015 256-AC000-25S015
256-A8000-25S030 256-AC000-25S030
256-A8000-05SL60 256-AC000-05SL60
256-A8000-05S015 256-AC000-05S015
256-A8000-05S030 256-AC000-05S030
259-A8000-25SL60 259-AC000-25SL60
259-A8000-255015 259-AC000-25S015
259-A8000-25S030 259-AC000-25S030
259-A8000-05SL60 259-AC000-05SL60
259-A8000-05S015 259-AC000-05S015
259-A8000-05S030 259-AC000-05S030

FRE P mBE R RS A KE BT ERBRERNERITE, Wlias

M12 A-Code TREHLER

Sk

24

40 180° Ay

@

‘¢.

2340 180° B

X

L

838 90° R

El3

usTED

A

830 90° &g

oEL)us
usTED

A

180° Al + 180° Btk

@

e

90° Al +90° ik

c@us
o d
6

USTED

#9515
MR

PVvC

PUR

PVvC

PUR

PvC

PUR

PVC

PUR

PVvC

PUR

PVC

PUR

w5

OER

RKE
(m)
2

5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3

A
3
250V / 4A

AP BHS

A
4
250V / 4A

AP BHS

5
60V / 4A

AWP B

v o © fele) © 10602
1O O3 O O3 1O O3

201-A3000-20S020
201-A3000-20S050
201-A3000-20S100
201-A3000-00S020
201-A3000-00S050
201-A3000-00S100
202-A3000-20S020
202-A3000-20S050
202-A3000-20S100
202-A3000-00S020
202-A3000-00S050
202-A3000-00S100
203-A3000-20S020
203-A3000-20S050
203-A3000-20S100
203-A3000-00S020
203-A3000-00S050
203-A3000-00S100
204-A3000-20S020
204-A3000-20S050
204-A3000-20S100
204-A3000-00S020
204-A3000-00S050
204-A3000-00S100
206-A3000-20SL60
206-A3000-20S015
206-A3000-20S030
206-A3000-00SL60
206-A3000-00S015
206-A3000-00S030
209-A3000-20SL60
209-A3000-20S015
209-A3000-20S030
209-A3000-00SL60
209-A3000-00S015
209-A3000-00S030

HHAFFIEBS cULus A

201-A4000-20S020
201-A4000-20S050
201-A4000-20S100
201-A4000-00S020
201-A4000-00S050
201-A4000-00S100
202-A4000-20S020
202-A4000-20S050
202-A4000-20S100
202-A4000-00S020
202-A4000-00S050
202-A4000-00S100
203-A4000-20S020
203-A4000-20S050
203-A4000-20S100
203-A4000-00S020
203-A4000-00S050
203-A4000-00S100
204-A4000-20S020
204-A4000-20S050
204-A4000-20S100
204-A4000-00S020
204-A4000-00S050
204-A4000-00S100
206-A4000-20SL60
206-A4000-20S015
206-A4000-20S030
206-A4000-00SL60
206-A4000-00S015
206-A4000-00S030
209-A4000-20SL60
209-A4000-20S015
209-A4000-20S030
209-A4000-00SL60
209-A4000-00S015
209-A4000-00S030

ms
201-A5000-20S020
201-A5000-20S050
201-A5000-20S100
201-A5000-00S020
201-A5000-00S050
201-A5000-00S100
202-A5000-20S020
202-A5000-20S050
202-A5000-20S100
202-A5000-00S020
202-A5000-00S050
202-A5000-00S100
203-A5000-20S020
203-A5000-20S050
203-A5000-20S100
203-A5000-00S020
203-A5000-00S050
203-A5000-00S100
204-A5000-20S020
204-A5000-20S050
204-A5000-20S100
204-A5000-00S020
204-A5000-00S050
204-A5000-00S100
206-A5000-20SL60
206-A5000-20S015
206-A5000-20S030
206-A5000-00SL60
206-A5000-00S015
206-A5000-00S030
209-A5000-20SL60
209-A5000-20S015
209-A5000-20S030
209-A5000-00SL60
209-A5000-00S015
209-A5000-00S030

8 12
30V /2A 30V /1.5A
i S i S

|©
01204103
0000
9,00%

201-A8000-20S020 201-AC000-20S020
201-A8000-20S050 201-AC000-20S050
201-A8000-20S100 201-AC000-20S100
201-A8000-00S020 201-AC000-00S020
201-A8000-00S050 201-AC000-00S050
201-A8000-00S100 201-AC000-00S100
202-A8000-20S020 202-AC000-20S020
202-A8000-20S050 202-AC000-20S050
202-A8000-20S100 202-AC000-20S100
202-A8000-00S020 202-AC000-00S020
202-A8000-00S050 202-AC000-00S050
202-A8000-00S100 202-AC000-00S100
203-A8000-20S020 203-AC000-20S020
203-A8000-20S050 203-AC000-20S050
203-A8000-20S100 203-AC000-20S100
203-A8000-00S020 203-AC000-00S020
203-A8000-00S050 203-AC000-00S050
203-A8000-00S100 203-AC000-00S100
204-A8000-20S020 204-AC000-20S020
204-A8000-20S050 204-AC000-20S050
204-A8000-20S100 204-AC000-20S100
204-A8000-00S020 204-AC000-00S020
204-A8000-00S050 204-AC000-00S050
204-A8000-00S100 204-AC000-00S100
206-A8000-20SL60 206-AC000-20SL60
206-A8000-20S015 206-AC000-20S015
206-A8000-20S030 206-AC000-20S030
206-A8000-00SL60 206-AC000-00SL60
206-A8000-00S015 206-AC000-00S015
206-A8000-00S030 206-AC000-00S030
209-A8000-20SL60 209-AC000-20SL60
209-A8000-20S015 209-AC000-20S015
209-A8000-20S030 209-AC000-20S030
209-A8000-00SL60 209-AC000-00SL60
209-A8000-00S015 209-AC000-00S015
209-A8000-00S030 209-AC000-00S030

At P

Al P

B mivEERTE A NS L KE ST RBENTERITH, WDEH



M12 A-Code TR EHEH L

I e

BERBE/BR

&=

451

B35 180° Al

2351 180° i

(00

£

ﬁ;

230 90° &g

AR

‘ l

180° i + 180° &

PUR

PUR

PUR

PUR

PUR

PUR

fRi
OER

GLMB KE (m)

2

10

10

10

10

0.6

1.5

0.6

1.5

A
3
250V / 4A

AP BIHS

A
4
250V / 4A

AP BHS

A
5
60V / 4A

AP 8IS

v o © {ee)) © «@é@z
1O O3 O O3 1O O3

201-A3000-02S020

201-A3000-025050

201-A3000-025100

202-A3000-02S020

202-A3000-025050

202-A3000-025100

203-A3000-025020

203-A3000-02S050

203-A3000-025100

204-A3000-025020

204-A3000-025050

204-A3000-025100

206-A3000-02SL60

206-A3000-025015

206-A3000-02S030

209-A3000-025L60

209-A3000-02S015

209-A3000-025030

201-A4000-02S020

201-A4000-02S050

201-A4000-025100

202-A4000-02S020

202-A4000-025050

202-A4000-02S100

203-A4000-025020

203-A4000-02S050

203-A4000-025100

204-A4000-02S020

204-A4000-02S050

204-A4000-025100

206-A4000-02SL60

206-A4000-025015

206-A4000-02S030

209-A4000-025L60

209-A4000-02S015

(==
AR

201-A5000-02S020

201-A5000-025050

201-A5000-025100

202-A5000-02S020

202-A5000-02S050

202-A5000-02S100

203-A5000-025020

203-A5000-02S050

203-A5000-025100

204-A5000-02S020

204-A5000-025050

204-A5000-025100

206-A5000-02SL60

206-A5000-025015

206-A5000-02S030

209-A5000-02SL60

209-A5000-02S015

8
30V / 2A
Sk s

Rim P

A
12
30V /1.5A

AP BiES

201-A8000-02S020

201-A8000-02S050

201-A8000-02S5100

202-A8000-02S020

202-A8000-02S050

202-A8000-025100

203-A8000-02S020

203-A8000-02S050

203-A8000-025100

204-A8000-02S020

204-A8000-02S050

204-A8000-02S5100

206-A8000-02SL60

206-A8000-02S015

206-A8000-02S030

209-A8000-02SL60

209-A8000-02S015

201-AC000-02S020

201-AC000-025050

201-AC000-025100

202-AC000-025020

202-AC000-02S050

202-AC000-025100

203-AC000-025020

203-AC000-02S050

203-AC000-025100

204-AC000-02S020

204-AC000-025050

204-AC000-025100

206-AC000-025L60

206-AC000-025015

206-AC000-02S030

209-AC000-02SL60

209-AC000-02S015

209-A4000-02S5030 209-A5000-02S030 209-A8000-02S030 209-AC000-02S030

EHp5EThRER LS, TZHREFIE 500 5% (R=28mm, L=1m, V=1m/s)

R S 4 KR SR =, B Al (IR B RITH),

G

M12 A-Code TRk Y B = @ik

X AIERERIAE A-Code 121t, HIRMHHLS NHLMME,

ERS AR NMEREES - ITERMEE, KEENE T REEMFER

ZRERNDHIZIE]
AT ESIFRRER

£E4 (1 x 180° Al + 2 x 180° &ith )
wERR = EEk

I FECE

R £aE

46.00

BEE

Pin out

Pin arrangement

= N w s~ O

Shn

ER AR IEIR,

B FFAERR Y R = @D EERIFEESETBARMHITUIFIRT, RHBANRENE, It

EEBEAEE 5 MnF, |

BE#EMER

EE, T2 OBRERINEAE IP6T SIPSFAIBRRIPAERERE,

BERBE / BR

Grey Ik
Black 2
Blue &
White B
Brown #3

pe) QZ\

Q@Q
\40/

conn.2
5P
Acode

“mhg

OER

k57

PUR

PVC

$14.50

$14.5

=N w b oo

R [E] A] SR i RV IR AR TS 32

Grey 7R
Black 2
Blue &
White B
Brown #3

OZ\
\O (@] O \
N0/

conn.1
5P

/\
LY

aA

5
60V / 4A

mS (FEKEN 15cm)

222-A5530-00SL15

222-A5530-20SL15

224-2A5100

Bis
\

OOO
2\\r\/ 1

FEA T BEANSAEKETREBENERITEH, YWBEia
50.]
< 351 M12*1.0
- =
=
o = .
" = -
Conn.1 Conn.3 Conn.2
B Brown —— Brown r
T .
~ White —— White Y
2| L .
3| Blue — Blue '
) [ \
4l D Black — Black r
v L N
5 ) Grey — Grey /
) [ \




M12 A-Code iR EISEIESS

B8 ¥ 0.5m BBFL
YN 1S it RE
gzt ¥ 0.5m BFL
N AR 93.0 ] | i RE
C 210
E—
ke ag x !
EEESEM\ i
% =
1
SW19 Swi7/
izt 1FF st
YN 20.0 i EE
7.0
o = 5|
PN = &
SW19
izt IFFEt
YN LGS it AR
g aé
SW17
i FHITIIE S S4B 6
g : .
£
% Q Q Q
§ 1 : ,
§ 3P 4P 5p
a A code
1 Brown #z 1 Brown #% 1 Brown #%
2 2 White B 2 White B
3 Blue & 3 Blue & 3 Blue &
4 Black & 4 Black & 4 Black &
s 5 5 5 Gray 7R
o
£
o

$20.9

[N
IR

20.0 L
8.9
>
&
=
19.6 L
17.6
SHCEI b T
ol g
S
= =
SW19 SW1/
20.0
8.5
ol ] N .
Ol N = >
Sl= ] = 2E
| | |
[Ye)
o 02
S| 8%
N| Lo
sl T —
=
o © O
0 P ol
O
8P 12P
1 Brown #z 1 Brown #3
2 White B 2 Blue &
3 Blue & 3 White B
4 Black 2 4 Green £
5 Gray 7R 5 Pink #
6 Pink # 6 Yellow
7 Blue & 7 Black 2
8 Red £ 8 Gray 7R
9 Red 4
10 Violet %%

Gray / Pink X / ¥
Red /Blue £ /&

M12 A-Code EiR=t
Mt
B/METRREL 100
FHIPELR P67
BRIERE -40°C ~ 80°C
POk 0.4 Nm
REEHLE 0.8 Nm
B

250VAC / 4A (<4 Pin)

B0VAC / 4A (5 Pin)

S KEEE
SRHIE
AR MR
ZHE

FEMAESR , fF5 UL

94

LAIMR

£t UL o0

SEAEEEER

SLELEME
PR
i BB E

RESHE

AR
et/ &
PA
HESER/ HA2ER
NBR
VO
LMEIN
ik PUR / PVC, BLACK
TR PVC
R PUR : UL AWM 20549 / PVC : UL AWM
‘ 2464
TR PVC : ULAWM 1061

0.34mm?/ 22AWG (<4 Pin)
0.34mm’ / 22AWG (5 Pin)
0.25mm? / 24AWG (8 Pin)
0.14mm? / 26AWG (12 Pin)
Rk PE/PVC
FT-2/ VW-1

2.0KV/1min

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

TEBE / FUEER
30VAC / 2A (8 Pin)
30VAC / 1.5A (12 Pin)
2.5kV (<4 Pin)
1.5kV (5 Pin)
TE hEBE
0.8kV (8 Pin)
0.8kV (12 Pin)
T /) 100MQ
S EBEEFR I
SRER 3
jLrang -3 methods
IANEAT UL 2238

ARE

BAMENESMVMBSE, BIREERFZBETHAEERMEA TR, MRERFRPENERISRIEN, NBHER
RIFEFR > IP54 MRS HEN, EFZRARL, HBL%E PCB AHEMBIRM,




M12 A-Code REifkmEiR=t
sy YRig A
InFiLE o 3
EERBE / B 250V / 4A
AP 8BS

Bl
& EIE IR
N IRIERE
®
)
‘ 4 Pg9
[SITEEII
O
R Pg9
AV 7
AN\
R e Pg9
IR IERE
®

o M16 X 1.5 268-A3000-15S020

268-A3002-155020

4% M16X 1.5 269-A3000-155020

269-A3002-15S020

% M16 X 1.5 270-A3000-15S020

270-A3002-15S020

¥ M16X1.5 271-A3000-15S020

Pg9

271-A3002-15S020

A
4
250V / 4A

AP SS

5
60V / 4A

AP SIS

o © {eXe) N 1©é©2
1O O3 1O O3 O O3

% 2m PUR 454

268-A4000-155020

268-A4002-15S020

269-A4000-155020

269-A4002-15S020

270-A4000-15S020

270-A4002-15S020

271-A4000-15S020

271-A4002-15S020

(==
AR

268-A5000-15S020

268-A5002-15S020

269-A5000-15S020

269-A5002-15S020

270-A5000-15S020

270-A5002-15S020

271-A5000-15S020

271-A5002-15S020

A A
8 12
30V 1.5A
AP BiES
e oo

(01201103

0000

() 04

268-A8000-155020 268-AC000-15S020

268-A8002-155020 268-AC002-15S020

269-A8000-15S020 269-AC000-15S020

269-A8002-15S020 269-AC002-15S020

270-A8000-155020 270-AC000-15S020

270-A8002-15S020 270-AC002-15S020

271-A8000-15S020 271-AC000-15S020

271-A8002-15S020 271-AC002-15S020

HARKE ERRBENERITH, Wlaa

M12 A-Code TR ER

imFECE

YRt
T

BEBE/BR

Shy

L2 )

I=H YN

[ R HRLY

®- A M16 X 1.5

& Pg9
BRI
@ 7 M16X15
:‘%\ Pg9
5l [ E 1R
ISt VN
@ & M16 X 1.5
R - : Pg9
RS M16 X 1.5
® NF '
% : Pg9
£hily [E E B
ATIEEE M16 X 1.5
& Pg9
iRihE VI
@ \ 6X1.5
% Pg9
51 [E FE LR
YN 2
@ \ M16 X 1.5
ﬁ\ P Pg9
B ERE
\ M16 X 1.5
% Pg9

A
3
250V / 4A

AWP BES

U o
O O3

218-A3000-0VSL50
218-A3002-0VSL50
219-A3000-0VSL50

219-A3002-0VSL50

220-A3000-0VSL50
220-A3002-0VSL50
221-A3000-0VSL50

221-A3002-0VSL50

232-A3000-S
232-A3002-S
233-A3000-S

233-A3002-S

230-A3000-S

230-A3002-S

A
4 5

250V / 4A 60V / 4A
AP BWS  AWP  BEKS

v 10 O2 7 10 5 O?
O O3 AOOOS

81z 7 0.5m BFLk

(==
AR

218-A4000-0VSL50 218-A5000-0VSL50
218-A4002-0VSL50 218-A5002-0VSL50
219-A4000-0VSL50 219-A5000-0VSL50

219-A4002-0VSL50 219-A5002-0VSL50

FIeizt ¥ 0.5m EBF 4

231-A3000-S

231-A3002-S

HIAFFEMS cULus JAIE

ms
220-A4000-0VSL50 220-A5000-0VSLS50
220-A4002-0VSL50 220-A5002-0VSLS50
221-A4000-0VSL50 221-A5000-0VSL50
221-A4002-0VSL50 221-A5002-0VSL50
EH= IR
s
232-A4000-S 232-A5000-S
232-A4002-S 232-A5002-S
233-A4000-S 233-A5000-S
233-A4002-S 233-A5002-S
At IR
s
230-A4000-S 230-A5000-S
230-A4002-S 230-A5002-S
231-A4000-S 231-A5000-S
231-A4002-S 231-A5002-S

A
8

30V / 2A
iz s

218-A8000-0VSL50

218-A8002-0VSL50

219-A8000-0VSL50

219-A8002-0VSL50

220-A8000-0VSL50

220-A8002-0VSL50

221-A8000-0VSL50

221-A8002-0VSL50

232-A8000-S

232-A8002-S

233-A8000-S

233-A8002-S

230-A8000-S

230-A8002-S

231-A8000-S

231-A8002-S

BFARKEERRRENFERITH, WiliaH

A
12

30V / 1.5A
xS

Al P

218-AC000-0VSL50

218-AC002-0VSL50

219-AC000-0VSL50

219-AC002-0VSL50

220-AC000-0VSL50

220-AC002-0VSL50

221-AC000-0VSL50

221-AC002-0VSL50

232-AC000-S

232-AC002-S

233-AC000-S

233-AC002-S

230-AC000-S

230-AC002-S

231-AC000-S

231-AC002-S



o8

M12 A-Code —143{ PCB RRE|

M12 A-Code —{§3{ PCB T EIfisiE1%23

A TR

75 )
{5

90°

X Rk

A £

180° HBHIAE M

PCB Layout

&

7

PCB Layout

YRR

El
Z

2N
P

.D\ °
50008 mm

no uid

m | [|]sforee

X

Acode

x¢

juawasuerse uid

o ud

0

5.0
3.00

17P

12P

8P

A code

5P

3P

juswabuente uid

21.00,

PCB Layout

U R

PCB Layout

U R

1IN0 uid

8P

5P

Acode

4P

o)
09
<

3P

(0]
40 OB

jJuswasue.ie uid

\I_!.In|:- =
ﬂll_ 3

_ -\1\!‘\ o,

00—

~

1

o
~
o
X
r,@@@ﬂ/ o
L@S@ ©Ua\ o
w08/
(0]
el
3
<
%8 o
k ENARYCT
A % ©0 &%
2 L\& 7 /@ @\\
018 —
X9
0Ge ﬁ%\
™ o
PTS L BB
@%W & o o9Q
o'le
XG
0Ge
IV
VOZ I B %
o
AP S \Q Q

o uid

5.00

juswabueue uld

17.60

SW13

M12*1

SLx9 LN
(69d)

06°0¢9

B R

Al

th R 75

90°

X TR

A £

180° HifIA A

PCB Layout

25

i

&

Z

PCB Layout

S

E|
.

52.70

21.00

«&01'T B
00 F0S1 @

00F0CT &
w087 O

N0 uid

o
0
0 O
D wo o
o 0 1o
()
o
Q
o
<
o O o
D
o o ~

juawaSuesle uid

17P

2P

1

8P

Acode

5P

4P

o uid

5.00
3.00
3.00

21.00_,

3P

juawabueuse uid

SW17

PCB Layout

TR

i

13.40

13.40

Ino uid

Acode

3P

juswasuele uid

29.30

33

PCB Layout

Ui R

o uig

5.00
5.00
3.00

o
~
o
o
/8905 |,
/Ugs@ Q) =
N %
[0
hel
o
o
<
050, ) &
\Q 9
™ [52)
O O a
<
O 0O
<

O
4O O3
3P

jJuawabueue uid

SW17

17.6Q
m‘ )
SW19

M12*1

C1+9LN
(69d)

06°0¢o

>



M12 A-Code —{4= PCB I},

HEER
S KEER meas /&
SEHIE PA
Ayl AS TR HASHERE  SHaSEE
BNER NBR
PEMAELR , f7 & UL
94 Vo
KA
IRESHISE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

WSS
BR/MEPRREL 100
ERE 2 P67
RMERE -40°C ~ 80°C
i %E 0.4 Nm
12EA R Pd e
HESIFH
250VAC / 4A (24 Pin)
B0VAC / 4A (5 Pin)
BEHBE / SEBER
30VAC / 2A (8 Pin)
30VAC / 1.5A (12 Pin)

2.5kV (<4 Pin)

1.5kV (5 Pin)
BE A BE

0.8kV (8 Pin)

0.8kV (12 Pin)
BRI /v 100MQ
TEBEEFER Il
TEREL 3
&iHRE

methods

INEARE UL 2238 / UL2237

ERED
BAEMEESMIMBEY, BARDERFRHETHAEERMEH TR, MREZRSBRYUENBERSROEN, NWBHER

RIFER > IP54 WA SR ETH, EFERAEARL, B4% PCB AMEMRIRMM.

M12 A-Code ik | TRiE—H4 PCB T

. YRED
I FEE -
INZ
BEBE / BR
N
&1 [EE R
® DU
N - M16 X 1.5
©
— Pg9
kAR
@u e M16 X 1.5
O ™ =
o Pg9
s [ E IR
NURIEE
- M16 X 1.5
b
‘1 4 Pg9
R
e % M16 X 1.5
Q ) Pg9
£El [E E B
NimiEEET PCB Pin
® M16 X 1.5
@
- ﬂ Pg9
SRR PCB Pin
© M16 X 1.5
' .‘J'[ Pg9
2 1| EEBL
AURHEEH PCB Pin
M16 X 1.5
Ml, o
BIRIEE PCB Pin
M16 X 1.5
.»«l' Pg9

A
3
250V / 4A

AP S

276-A3000-6

276-A3002-6

277-A3000-6

277-A3002-6

226-A3000-6

226-A3002-6

227-A3000-6

227-A3002-6

278-A3000-3

278-A3002-3

279-A3000-3

279-A3002-3

228-A3000-3

228-A3002-3

229-A3000-3

229-A3002-3

A A A
4 5 8
250V / 4A 60V / 4A 30V /2A

AWP WS AP SHS QWP SHS

N 10 N 10 O? N 105 02
1O O3 1O O3 4©O©3

180° RIBIT Wk

0o =

AR

276-A4000-6 276-A5000-6 276-A8000-6

276-A4002-6 276-A5002-6 276-A8002-6

277-A4000-6 277-A5000-6 277-A8000-6

277-A4002-6 277-A5002-6 277-A8002-6

180° Mg\ TR&

o=
[=[= =)

226-A4000-6 226-A5000-6 226-A8000-6

226-A4002-6 226-A5002-6 226-A8002-6

227-A4000-6 227-A5000-6 227-A8000-6

227-A4002-6 227-A5002-6 227-A8002-6

90° AT Rk

o=
AR

278-A4000-3 278-A5000-3 278-A8000-3

278-A4002-3 278-A5002-3 278-A8002-3

279-A4000-3 279-A5000-3 279-A8000-3

279-A4002-3  279-A5002-3 279-A8002-3

90° AT TR

o=
A=

Se)
0 0 O
008

228-A4000-3

228-A4002-3

229-A4000-3

229-A4002-3

228-A5000-3

228-A5002-3

229-A5000-3

229-A5002-3

228-A8000-3

228-A8002-3

229-A8000-3

229-A8002-3

A
12
30V /1.5A

AP SHS

N 1211
/eI o DN\ §OFO AT
//’f 20 | (6,8,,0) 13 T
\\4.”’& o | 8o © 0 © ‘ j

7©© o ':--’

\ge ™/

276-AC000-6

276-AC002-6

277-AC000-6

277-AC002-6

226-AC000-6

226-AC002-6

227-AC000-6

227-AC002-6

A
17
30V /1.5A

AP S

276-AH000-6

276-AH002-6

277-AH000-6

277-AH002-6

226-AH000-6

226-AH002-6

227-AH000-6

227-AH002-6

HR{AFFEANE cULus JAE



M12 A-Code ¥ PCB X EIiZiEi%2% M12 A-Code ¥ PCB ¥

180° KA MR ik WS HHER
NIFIEEE PCB Layout B/ MEHRREL 100 S I KEEE HEE/ &
FhirER IP67 SREE LCP
: . HEE SILICONE
£ BIERE -40°C ~ 125°C .
TRERURER (MSL) 1
WREEES g A
JRiE R B2 (245°C ) MRS, e UL VO
: = RS itz
[2 4
g 2 250VAC / 4A (<4 Pin)
g 3P 4P 5P L 8P 12P 17P GOVAC / 4A (5 Pln)
EHBE / SUE RN
30VAC / 2A (8 Pin)
30VAC / 1.5A (212 Pin)
E 2.5kV (<4 Pin)
[
a 1.5kV (5 Pin)
E T EE
0.8kV (8 Pin)
E’ 0.8KV (212 Pin)
[
£ SR £/ 100MQ
g 3P 4P 5P — 8P 12P 17P iiEEJ:T:%éﬁ Il
BRER 3
FESHE
180° tﬂﬂiﬂﬁﬁ'ﬂ f,ﬁﬁ IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
T IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
R HEEE PCB Layout XY/ methods
“ IEC 60529: Degree of protection provided by enclosures (IP Code)
- G == Iﬁ
22.80 3 ﬁ : EEEm
. £ = | ,\ o ol . ~ N 3] hY =3 >
1870 250! 1.60 e g S‘ﬂ O\'J: ke EXFMENBSMNMSE, PRIDEZS[IEBEGTAESEHRIEHTRT. NREERRUENERSENER, NARER
_— {oll) p N PN e N %
|1 b1 AP5 RIPFER > IP54 AP EREE R, EREEARL, B4 PCB AMSAHRIR MM,
85
5 s
:
(7] o
(1)) 30 04
§
E 3p 4p 5p 8p 12pP 17P
o A-code
i KR -
XY’ 8 S . 9
3 = v /ﬂz\\/ i O
= § o g i P =
B - G::lt ;VmP g—sz W—‘/ 041:
MU o
<5 Bu) (22 B~ @/iﬁ
85 i s |
g 1 r\%
£ o é TGN
Eo 0060 3 ; blo
Q Q 17
E 3P 4p 5p 8p 12pP 17pP
a A-code




M12 A-Code ik | TREAE PCB T

S YmhD A A A A A A
U
Prive ' 3 4 5 8 12 17
EERE / BR 250V / 4A 250V / 4A 60V / 4A 30V /2A 30V /1.5A 30V /0.5A

NEHP BIKES AP BiKS QWP BIKS QHP HIKS AWP BKS AKP SIS

112

— s S S Ua § sk
&Ehy 10 10 02 1©é©2 Zé & éa ‘,{/3(21'1@.'1%\] 8@&08@, ‘3 \. b
‘o o ‘o o ‘0 o 009/ &) Nooe S
THR 124% R
&1 BELRN S

180° LNim#EE
8 281-A3T00S-1 281-A4T00S-1 281-A5T00S-1 281-A8T00S-1 281-AC100S-1 281-AH100S-1

usTED

ol 281-A3T00S-2 281-A4T00S-2 281-A5T00S-2 281-A8T00S-2 281-AC100S-2 281-AH100S-2

o

180° B} imfEEE
® £ 282-A3T00S-1 282-A4T00S-1 282-A5T00S-1 282-A8T00S-1 282-AC100S-1 282-AH100S-1
©
P 282-A3T00S-2 282-A4T00S-2 282-A5T00S-2 282-A8T00S-2 282-AC100S-2 282-AH100S-2
THR |84 TRk
£E1 \aEFN ms

180° NimHERE
& 281-A3T00U-1 281-A4TO0U-1 281-A5TO0U-1 281-A8TO0U-1 281-AC100U-1 281-AH100U-1

uSTED

¥ 281-A3T00U-2 281-A4T00U-2 281-A5T00U-2 281-A8TO0U-2 281-AC100U-2 281-AH100U-2

180° Bk HHAE
& 282-A3T00U-1 282-A4T00U-1 282-A5T00U-1 282-A8TO0U-1 282-AC100U-1 282-AH100U-1

usTED

o] 282-A3T00U-2 282-A4T00U-2 282-A5T00U-2 282-A8TO0U-2 282-AC100U-2 282-AH100U-2

SMT 121 TRE#R
ZEl A ms
180° BHim#hIE
@ & - - 282-A5S00U-1 - - -
o - - 282-A5S00U-2 - - -
ERBINE
£hily & RE BB 4Y ms
NRAINE
_,""‘g.,ﬂ M16 X 1.5 283-T1100
.: v
BixAINE
c@us
"i M16 X 1.5 284-T1100
i Ny
&
fAFFEEIE cULus AE HEREREHE: 60Pcs

BHEERHE 100Pcs

M12 A-Code (AR Bz EIERS

180° Ak B 180° iy Bk
64.80(Ref) - M12%1  61.40(Ref)
[ep! DU = = o ==
S 5= lISI = EEIL
S =1 = == === ||l
SWi7/ swi7/  Swis swiz/ swiz/ W16
180° A TFR#K 180°&if £k
535.00(Ref
(Ref) 51.60(Ref)
M12*]
=y —
=g 4 EBE
B = g]_ o)
SW17/SW17/ SW16
SW17/SW17/ SW16 wir mm
M12 A-Code B35
i HEIZER
B/NMERREL 100 SR REER HaE/ &
PSR IP67 SHREE / 1ZEEF PA | RiHRFHE
IRERE -40°C ~ 125°C ZiE NBR
BEAR FIR sheR PA66 / $¥8&
FEMAELR , 155 UL Vo
94
S SMHER
250VAC / 4A (<4 Pin) BEERE 18AWG~26AWG
HE BE | BN -
60VAC / 4A (5 Pin) ERSLER D4~08
2.5kV (<4 Pin)
BEAREBE
1.5kV (5 Pin)
HBIXFEHT /) 100MQ
T EESFR I
TERER 3
FESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
R IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
BRI methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
IR UL 2238
AEEm

EAEMENBSMIMBE, BAREERFZETHAEERMEAREGT. MRERFRIUENERSROEN, NBHER
RIFFER > IP54 MR EREHTH, EFERERL, B4 PCB A ERMIRM,



M12 A-Code ik /| THRiRAZER M12 B-Code # &N B EIEEE

. YREg A A A
I FAE . o S rane
g 3 4 5 B3N 180° Al B35 180° Rk
EERBE / BAR 250V / 4A 250V / 4A 60V / 4A
NP i S %P i S Ni P i S Ol o Ol %
X ) ’ < & 98 L o X, L
=2l © o © 0 o 7 0402 s = s =
O O3 O O3 O O3
: @) | — | |
IR p v | B
e ) BEAR = SW13
180° Al
293-A3A0 293-A4A0 293-A5A0
30 90° A 35 90° B
L L
180° ﬁ#ﬁ %F*;:_Et
©
e ) N )
# d "'l‘ { o8]
L4 294-A3A0 294-A4A0 294-A5A0 N
e
B{I: mm
To iR
&1 LA ms
180° Al
243-A3A0 243-A4A0 243-A5A0 180° 23 + 180° i 180° A1 + 180° Al
180° At JRE ‘
244-A3A0 244-A4A0 244-A5A0

D

180° R + 90° Nim




M12 B-Code H43t M12 B-Code Rt

MUt EZER S g B B B
/IMERREL 100 S REEE HEas/ & L 3 4 5
PR IP67/IP68 SRHIK | B5AE PUR/ PUR KEBE / BR 250V / 4A 250V / 4A 60V / 4A
RERE 40°C - BOC (MHENEERE) | S NBR e ﬁﬁs 25 P ﬁa“ﬁ S N P S
25C 0T (MENBHRE)  BIER HASER BNALER BT @ l
SRS 0.4 Nm g%m%é& HaE UL HB oUe QUe QUe
A ] &5 MR KE (m) ms
8551 180° NI 2 251-B3000-25S020 251-B4000-255020 251-B5000-25S020
250VAC / 4A (<4 Pin) R IME PUR/PVC, BLACK
S R | B | BUR - UL AWM 20549 ®- PVC 5 251-B3000-25S050 251-B4000-25S050 251-B5000-25S050
250VAC / 4A (5 Pin) PR PVC - UL AWM 2464 © f 10 251-B3000-255100 251-B4000-255100 251-B5000-255100
25KV (<4 Pin) B4k UL Fost FRH PPL\J/% Ldjl_L A/;V&/VI\:A 22(215229 . 2 251-B3000-05S020 251-B4000-05S020 251-B5000-05S020
BEAERE : PUR 5 251-B3000-05S050 251-B4000-05S050 251-B5000-05S050
15KV (5 Pin) HEE PUR - UL AWM 20549 10 251-B3000-05S100 251-B4000-05S100 251-B5000-05S100
a5 BRI /)N 100MQ E—— 0.34mm?/22AWG (s4 Pin) B35 180° B 2 252-B3000-255020 252-B4000-25S020 252-B5000-25S020
T EESR 1 0.34mm?%22AWG (5 Pin) ® PVC 5 252-B3000-25S050 252-B4000-25S050 252-B5000-25S050
o 3 E— PE/PVC © / 10 252-B3000-25S100 252-B4000-25S100 252-B5000-25S100
‘ A 2 252-B3000-05S020 252-B4000-05S020 252-B5000-05S020
s FT-2/VW-1 PUR 5 252-B3000-05S050 252-B4000-05S050 252-B5000-05S050
Mt EEIE 2.0KV/1min 10 252-B3000-05S100 252-B4000-05S100 252-B5000-05S100
ESHIE B35 90° i 2 253-B3000-25S5020 253-B4000-25S020 253-B5000-255020
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking ®. PVC 5 253-B3000-25S050 253-B4000-25S050 253-B5000-25S050
N InlfgthGC?dSS 2: Electromechanical components for electronic equipment; basic testing procedure and measuring (:j 10 253-B3000-255100 253-B4000-255100 253-B5000-25S100
IEC 60529: Degree of protection provided by enclosures (IP Code) 2 253-B3000-055020 253-B4000-055020 253-B5000-055020
INIEARAE UL 2238 | PUR 5 253-B3000-05S050 253-B4000-05S050 253-B5000-05S050
ABEm 10 253-B3000-05S100 253-B4000-05S100 253-B5000-05S100
EXRIHMENESHNESE, PARIDEZRSBFEHACERIEHRET. NREEB[ARUEREWSRNEI, WHKRER 30 90° 17 2 254-B3000-25S020 254-B4000-25S020 254-B5000-25S020
RIPFER > IP54 AP EREE R, EREEARL, B4 PCB AMSARIR MM, @ PVC 5 254-B3000-25S050 254-B4000-25S050 254-B5000-25S050
@ ¢ 10 254-B3000-25S100 254-B4000-25S100 254-B5000-25S100
& 2 254-B3000-05S020 254-B4000-05S020 254-B5000-05S020
PUR 5 254-B3000-05S050 254-B4000-05S050 254-B5000-05S050
10 254-B3000-05S100 254-B4000-05S100 254-B5000-05S100
180° i + 180° Rk 0.6 256-B3000-25SL60 256-B4000-25SL60 256-B5000-25SL60
@ PVC 1.5 256-B3000-25S015 256-B4000-25S5015 256-B5000-25S015
@ ﬁ 3 256-B3000-25S030 256-B4000-25S030 256-B5000-25S030
b 1 0.6 256-B3000-05SL60 256-B4000-05SL60 256-B5000-05SL60
PUR 15 256-B3000-05S015 256-B4000-05S015 256-B5000-05S015
3 256-B3000-05S030 256-B4000-05S030 256-B5000-05S030
90° N +90° & 0.6 259-B3000-20SL60 259-B4000-20SL60 259-B5000-20SL60
@ PVC 15 259-B3000-20S015 259-B4000-20S015 259-B5000-20S015
© / 3 259-B3000-20S030 259-B4000-20S030 259-B5000-20S030
9 0.6 259-B3000-00SL60 259-B4000-00SL60 259-B5000-00SL60
f PUR 1.5 259-B3000-00S015 259-B4000-00S015 259-B5000-00S015
L 3 259-B3000-00S030 259-B4000-00S030 259-B5000-00S030
$1&=FHEEF cULus INE FrE = mAE SR NS L K E BRI R RERRERITH, Wilaig



M12 B-Code ERI&H L

mhD

OER

I e

BEBE/BR

— T P QN g P AN
/—_R f{e] 10/10,
‘o0* ‘oo’

| = §

o=

g WEHR KE (m)

&30 180° A 2
®- PVC 5
10
2
. PUR 5
10
#35 180° & 2
®- PVC 5
' 10
& 2
PUR 5
10
i 00° A1 2
®- PVC 5
10
2
& PUR 5
10
&30 90° B 2
®- PVC 5
10
2
6 PUR 5
10
180° 221 + 180° Bk 0.6
®. PVC 15
3
R
PUR 15
3
90° /i +90° B 06
@)= PVC 15
3
‘g 0.6
PUR 15
o 3
¥E{AFHEENE cULus AL

B
3
250V / 4A
AP Bi S

201-B3000-20S020
201-B3000-20S050
201-B3000-20S100
201-B3000-00S020
201-B3000-00S050
201-B3000-00S100
202-B3000-20S020
202-B3000-20S050
202-B3000-20S100
202-B3000-00S020
202-B3000-00S050
202-B3000-00S100
203-B3000-20S020
203-B3000-20S050
203-B3000-20S100
203-B3000-00S020
203-B3000-00S050
203-B3000-00S100
204-B3000-20S020
204-B3000-20S050
204-B3000-20S100
204-B3000-00S020
204-B3000-00S050
204-B3000-00S100
206-B3000-20SL60
206-B3000-20S015
206-B3000-20S030
206-B3000-00SL60
206-B3000-00S015
206-B3000-00S030
209-B3000-20SL60
209-B3000-20S015
209-B3000-20S030
209-B3000-00SL60
209-B3000-00S015
209-B3000-00S030

B
4
250V / 4A
AP SIS

201-B4000-20S020
201-B4000-20S050
201-B4000-20S100
201-B4000-00S020
201-B4000-00S050
201-B4000-00S100
202-B4000-20S020
202-B4000-20S050
202-B4000-20S100
202-B4000-00S020
202-B4000-00S050
202-B4000-00S100
203-B4000-20S020
203-B4000-20S050
203-B4000-20S100
203-B4000-00S020
203-B4000-00S050
203-B4000-00S100
204-B4000-20S020
204-B4000-20S050
204-B4000-20S100
204-B4000-00S020
204-B4000-00S050
204-B4000-00S100
206-B4000-20SL60
206-B4000-20S015
206-B4000-20S030
206-B4000-00SL60
206-B4000-00S015
206-B4000-00S030
209-B4000-20SL60
209-B4000-20S015
209-B4000-20S030
209-B4000-00SL60
209-B4000-00S015
209-B4000-00S030

5
60V / 4A
Nig P i S

Pl N
5\ O,

= s
4ooo3

201-B5000-20S020
201-B5000-20S050
201-B5000-20S100
201-B5000-00S020
201-B5000-00S050
201-B5000-00S100
202-B5000-20S020
202-B5000-20S050
202-B5000-20S100
202-B5000-00S020
202-B5000-00S050
202-B5000-00S100
203-B5000-20S020
203-B5000-20S050
203-B5000-20S100
203-B5000-00S020
203-B5000-00S050
203-B5000-00S100
204-B5000-20S020
204-B5000-20S050
204-B5000-20S100
204-B5000-00S020
204-B5000-00S050
204-B5000-00S100
206-B5000-20SL60
206-B5000-20S015
206-B5000-20S030
206-B5000-00SL60
206-B5000-00S015
206-B5000-00S030
209-B5000-20SL60
209-B5000-20S015
209-B5000-20S030
209-B5000-00SL60
209-B5000-00S015
209-B5000-00S030

FRA = mBIE RS A MA 4 K E SR RERNERITH, Rliais

M12 B-Code TR kIEHEHLER

) B
I FICE
ER 3
EERE / BAR 250V / 4A
NP i s

J— Pl BN
/—_l_\ f{e)
‘oo*

P WM KE (m)

L 180° Al 2 201-B3000-02S020
-
- ( PUR 5 201-B3000-02S050
%
10 201-B3000-02S100
7 180° B
FD 180 B 2 202-B3000-02S020
0T
U\ﬁ
N { PUR 5 202-B3000-02S050
10 202-B3000-02S100

Ell3

1 90° A%
R 90° 1 2 203-B3000-02S020

b PUR 5
I’

10 203-B3000-02S100

203-B3000-02S050

8350 90° B

P 2 204-B3000-025020
( PUR 5 204-B3000-02S050
o 10 204-B3000-028100
180° AL + 160° 3%
” B 180" 0.6 206-B3000-02SL60
R
¢ PUR 15 206-B3000-025015
b a
3 206-B3000-025030

209-B3000-02SL60
209-B3000-02S015

3 209-B3000-02S030

h@i 0.6
/ PUR 15
‘o
&

B
4
250V / 4A

NS SIS

Pl (BN
10J10;
NG,

(= =]

AR

201-B4000-02S020

201-B4000-02S050

201-B4000-02S100

202-B4000-02S020

202-B4000-02S050

202-B4000-02S100

203-B4000-025020

203-B4000-02S050

203-B4000-025100

204-B4000-02S020

204-B4000-02S050

204-B4000-02S100

206-B4000-02SL60

206-B4000-02S015

206-B4000-02S030

209-B4000-02SL60

209-B4000-02S015

209-B4000-02S030

B
5

60V /4A
NP i S
P N
5O

= s
40003

201-B5000-02S020
201-B5000-02S050
201-B5000-02S100
202-B5000-02S020
202-B5000-02S050
202-B5000-02S100
203-B5000-02S020
203-B5000-02S050
203-B5000-02S100
204-B5000-02S020
204-B5000-02S050
204-B5000-02S100
206-B5000-02SL60
206-B5000-02S015
206-B5000-02S030
209-B5000-02SL60
209-B5000-02S015

209-B5000-02S030

BHEHETHREVERLE, MEHREIRIE 500 3R (R=28mm, L=1m, V=1m/s)
FRB = miv4 2 K EAEE SR B RRENFERITH, Kilas




M12 B-Code EiRNEAsiEIE2E

Gzt # 0.5m BBFL
N

>

$20.9
G9

P

Aisiz ¥ 0.5m BBFL

YN 2
Zlae
==
R8Izt 1217
YN 2 20.0
7.0
|
o = 5o
g = e
SW19
ai gzt 12FE
YN 2 930

920.9
(PCY)
_MI6*1.5

inFHTIIE S SEE &

« =

: o)

g o of

c

©

=

©

c 3P

o
1 Brown #%

- 2

3

2 3 Blue &

o 4 Black &
5

o AW N =

B

SURIERE

SUEIERE

i AR

T ™

0 O

30 o*

4P

B code
Brown 1%
White B
Blue &

Black 2

$20.9

20.0

$20.9

(PGY9)
M1B¥1.5
M12*1

$20.9

SW17/

M12*1

‘<4>‘
[ 1

$20.9

(PGY)
M16*1.5

a A W N =

| M16*1.5
(PGY)

5P

Brown 1%
White B
Blue &
Black 2

Gray X

M12 B-Code EiR=

SR REER
SEHE
AR/ SR
EHE

FEMAELR , fFE UL
94

LFIMR

gt UL FER

SEEBEER

SLELEE

EA

it e
RESHE

EER
Heas/ &
PA
HETER BATHER
NBR
VO
LA
Rk PUR / PVC, BLACK
TR PVC
_ PUR : UL AWM 20549 / PVC : UL AWM
& 2464
TR PVC : UL AWM 1061
0.34mm?/ 22AWG (<4 Pin)
0.34mm?/ 22AWG (5 Pin)
Rk PE /PVC
Rk FT-2 / VW-1
R 2.0KV/1min

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

WA
BR/MEIRRER 100
BhIrELR IP67
BRIERE -40°C ~ 80°C
Xl 5B 0.4 Nm
TEHE 0.8 Nm
S
250VAC / 4A (<4 Pin)
MEBE/ MEER
B0VAC / 4A (5 Pin)
2.5kV (<4 Pin)
BE I EBE
1.5kV (5 Pin)
A 2/ 100MQ
TEEER Il
TSRER 3
’iHE methods
INERREE UL 2238

ARED

BXIMENBSMIMSE, BIARIPEZRFBEBTHASERMEHRE. MREZBRPENERISROEN, NBHER
RIFFSR > IP54 MR SR EHEH, EFZRERE, B4 PCB A ERMAIF M,




M12 B-Code Ri&EIRE
——

BERBE / B

zR
Rty B EHRLL
N i
@ MIBX15
)
‘ 4 Pg9
® e &  M16X15

5
\ " Pg9

® AV i) 2

s M16 X 1.5
J"-""\
L P Pg9
S0
© @ M16X15
‘ " Pg9

B
3

250V / 4A
Dig P §in S

P N TN T
f{e]
‘o0*

% 2m PUR 454

268-B3000-155020

268-B3002-155020

269-B3000-155020

269-B3002-155020

270-B3000-155020

270-B3002-15S020

271-B3000-15S020

271-B3002-15S020

B
4
250V / 4A

NP g 'S

AT
10J10;
‘O\ (O}

[= =]
AR

268-B4000-155020

268-B4002-15S020

269-B4000-155020

269-B4002-15S020

270-B4000-15S020

270-B4002-15S020

271-B4000-15S020

271-B4002-15S020

SARKEEFIRRBENERITH, Wlaa

5

60V / 4A
i P &% S

268-B5000-15S020

268-B5002-155020

269-B5000-155020

269-B5002-15S020

270-B5000-155020

270-B5002-15S020

271-B5000-15S020

271-B5002-15S020

Pl (BN
10O,
O
“0’03

M12 B-Code TRi&HE RS

i FECE

BERBE/ BR

&=

AN~

0]

S
®
i

®- o~

O

&

AU IEEE
(@ o
b \
ﬁ\ -

/)

>

ST
@ , \,f“"’d
“5
NUHIEEE
®- \
(3T ES
&)
iy

YN EG
cg:%us 2 \
i‘ P

BHRIERE
oy

4 2 \
% )

) B
TER 3
250V / 4A

S s

Nig P

g Pl N
fe)
‘oo*

B
4

250V / 4A
ik S

R P

g Pl ) N
10J10;
0\ (0}

FE8iz0 # 0.5m BF 4L

B SR ms

M16 X 1.5 218-B3000-0VSL50 218-B4000-0VSL50
Pg9 218-B3002-0VSL50 218-B4002-0VSL50

M16 X 1.5 219-B3000-0VSL50 219-B4000-0VSL50
Pg9 219-B3002-0VSL50 219-B4002-0VSL50

AIPiEt # 0.5m BF4

BEIERK S

M16 X 1.5 220-B3000-0VSL50 220-B4000-0VSL50
Pg9 220-B3002-0VSL50 220-B4002-0VSL50

M16 X 1.5 221-B3000-0VSL50 221-B4000-0VSL50
Pg9 221-B3002-0VSL50 221-B4002-0VSL50

S8 SRR

BEIE HRLX s

M16 X 1.5 232-B3000-S 232-B4000-S
Pg9 232-B3002-S 232-B4002-S

M16 X 1.5 233-B3000-S 233-B4000-S
Pg9 233-B3002-S 233-B4002-S

AIBITC SRR E

BEIERK s

M16 X 1.5 230-B3000-S 230-B4000-S
Pg9 230-B3002-S 230-B4002-S

M16 X 1.5 231-B3000-S 231-B4000-S
Pg9 231-B3002-S 231-B4002-S

HFFHBIIE cULus JAE

5
60V / 4A

218-B5000-0VSL50

218-B5002-0VSL50

219-B5000-0VSL50

219-B5002-0VSL50

220-B5000-0VSL50

220-B5002-0VSL50

221-B5000-0VSL50

221-B5002-0VSL50

232-B5000-S

232-B5002-S

233-B5000-S

233-B5002-S

230-B5000-S

230-B5002-S

231-B5000-S

231-B5002-S

BFEKEETREBENERITH, WlEiE



M12 B-Code —f4 = PCB X EIAsiEIE23 M12 B-Code —f4{ PCB N EIfsiEIE2%

180° HilA M mISHT Bk 90° kA E FIBIX TR

NIRERE PCB Layout NIRERE PCB Layout
21.00 5.00 8 ;
| 3.00 5 5
] 3.00 ° 3
£ o
T o 2
i S &2
€
— Q
ol &| swig SW17 E,, £
ol 3% s £ £
o EL/S E %
H © c
g = c 4P 5P g -
S o B-code © 3p 4P 5P
c
g [ B-code
S A PCB Layout
o N
- - (ST PCB Layout
- AR o =
M12*1 3 N L s - .
c [SRE%)
& ‘ g
(=
£
0 g
g‘j: qE, of &2
ola® o S &2 £
) VE G » = @
(@} = £
%‘ g 3P 4P 5P >
[ B-code §
&
e 3P 4P 5P
[ B-code
[} e 7 by
180° AR BB TR
YN PCB Layout
21.00 5.00 W
3.00 .
| 3.00 3
£
y o
A
ol & swig/  \swi7 =
35| = £
g o )
o > H]
©
S g
e 3P 4P 5P
a B-code
(SR PCB Layout
17.60 5.00 N W
3.00
* |
Mi2r T 5.00 F o
K ‘ c -4 =
[ gi)@ Ql
i 5.0
0 ‘_/ -
[N c
(o)) : [
o & &f swi9 SwW17 E
2= 2
o ©
N E
© s 3P 4P 5p
[ B-code




M12 B-Code —f4= PCB T

B/ MERREL

TP ER
1BRIFRE
X RE
1BEH

BERE / SIEBRR

BEATEE

B
T EBEFR
BRER

ang -3

NI

Wit 7EER
100 S/ KEER et/ £
IP67 SEHIE PA
-40°C ~ 80°C INABE IR HASHER/ BN ER
0.4 Nm BYER NBR
e g%*%%é& , & UL VO
HBSFE ZLHER

250VAC / 4A (<4 Pin)
B0VAC / 4A (5 Pin)
2.5kV (<4 Pin)
1.5kV (5 Pin)
£/)\ 100MQ
[

3
ESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

UL 2238 / UL2237
ARED

EAFMENESMIMBSEY, BARDERFJRHETHAEERBEH TR, MREZSBRYENERSROEN, NWBHER
RIPER > IP54 PR ERHTH, EFEERRRL, B4%5 PCB A ERMRIRM.

M12 B-Code Bl | TThik—14+It PCB ¥

I FEE

EBE/BR

Ehp
£
YN ]
ca _=
® £
==
m——
BiRhEE
© :
¥
51
A e
c@us
=
© “
B iniHE
- N\
Fe)
_ )
ZEl

NimiHEES PCB Pin

e.)

BikikEERS PCB Pin

o)

4RED

E

Bl EHRLY

M16 X 1.5

Pg9

M16 X 1.5

Pg9

B3y

M16 X 1.5

Pg9

M16 X 1.5

Pg9

B E ML

M16 X 1.5

Pg9

M16 X 1.5

Pg9

B B
3 4
250V / 4A 250V / 4A
N P B S N P
5 N A0 oNo;
‘oo’
180° FIBITl Bk
ms
276-B3000-6 276-B4000-6
276-B3002-6 276-B4002-6
277-B3000-6 277-B4000-6
277-B3002-6 277-B4002-6
180° i, TR
ms
226-B3000-6 226-B4000-6
226-B3002-6 226-B4002-6
227-B3000-6 227-B4000-6
227-B3002-6 227-B4002-6
90° gIgi= TRk
ms
228-B3000-3 228-B4000-3
228-B3002-3 228-B4002-3
229-B3000-3 229-B4000-3
229-B3002-3 229-B4002-3

AO OS

S S

B
5
60V / 4A
At P 1S

g sl BN
o))
‘@ ++©
‘oo’

276-B5000-6
276-B5002-6
277-B5000-6

277-B5002-6

226-B5000-6
226-B5002-6
227-B5000-6

227-B5002-6

228-B5000-3
228-B5002-3
229-B5000-3

229-B5002-3

¥H{EFHE BT cULus SAE



M12 B-Code FfF{ PCB X EIAsEIE2S

180° AR Rk

NImRE

22.80
18.70 Q\STO 1.60

E

21.10

17.00 2\5TO 1.60

I

180° A M TRk

RIFIREE
22.80
18.70  2.50|_1.60
| T
EHFHEE
21.10

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout

4P
B-code

PCB Layout

PCB Layout

M12 B-Code #if§3{ PCB I}

Wit MR
R/METRREL 100 SR REER MEE /&
FHRER IP67 SEEK LCP
IRMERE -40°C ~ 125°C BHE SILICONE
BEAR [BI574§ (245°C ) EESUREFR (MSL) 1
FEMAZELR , & UL Vo
94
RS E5 7% 401
250VAC / 4A (<4 Pin)
BEBE [ SEEMR
60VAC / 4A (5 Pin)
2.5kV (<4 Pin)
E T EE
1.5kV (5 Pin)
# 5P £/]\ 100MQ
W EEEFR I
BRER 3
FESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
Bt IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
v

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

BT

EARFMENBSMIMBE, BAREERSREFHEERBEA LR, MRERBRPENERSRNEN, NBHER

RIFEFER > IP54 MR SR HEH, EFERERL, B4 PCB A ERMIRM,




M12 B-Code Bk / TThRERMmH+IU PCB 1

AP

B
4
250V / 4A

[==]
AR

281-B4T00S-1

281-B4T00S-2

282-B4T00S-1

282-B4T00S-2

[==]
AR

281-B4TO0U-1

281-B4TO0U-2

282-B4TO0U-1

282-B4T0O0U-2

Bo
djn

283-T1100

% S

AT
10/J10;
NG,

5
60V / 4A
R P % S
= AT
10\0;
4ooo3

281-B5T00S-1

281-B5T00S-2

282-B5T00S-1

282-B5T00S-2

281-B5T0O0U-1

281-B5T00U-2

282-B5T00U-1

282-B5T0O0U-2

M12 B-Code A3 Bl EIE2S

180° Nk Bk

64.80(Ref)

il

=" U
SW17 SW177r SW16

$18.9
M12*1

180° i TR

55.00(Ref)

—

|

918.9

Al
1=

SW17/SW17/ SW16

M12 B-Code 4H3E=K

180° B FK
M12¥1  61.40(Ref)
e l= ===
== ‘[ ]H
swiz7/ Swi7/ SWib
180° Bif TR
51.60(Ref)
M12%1
2 EBT

SWT7/SW17/ SW16

B mm

YRig B
ImFEE
PiYE 3
ENERBE / B 250V / 4A
N P 84S
P e N
‘oo’
THR 1282 Rk
BEH
© i 281-B3T00S-1
ot 281-B3T00S-2
© & 282-B3T00S-1
o 282-B3T00S-2
THR 8% £Rw%k
BEHT
&2 281-B3TO0U-1
ol 281-B3TO0U-2
& 282-B3T00U-1
ol 282-B3T00U-2
EREINE
2 EE B
NIHAING
=
y )} M15 x 1
«,"
BiAINE

ﬂ M15 x 1

284-T1100

R EEHE: 60Pcs
BHEEHE: 100Pcs

P51 HEZER
R/NMEROREL 100 S/ REER HEE /&
PhirER IP67 SREK [ 1ZEEF PA/ RERFHE
IRMERE -40°C ~ 85°C BHE NBR
BEAR FIR 5he% PA66 / $¥ &%
R A
FEAELR , 758 UL Vo
94
BT SMER
. 250VAC / 4A (<4 Pin) BERER 18AWG~26AWG
PEHE [ FERR \ ——
60VAC / 4A (5 Pin) ERS%ER O4~D8
2.5kV (<4 Pin)
TEAELEE
1.5kV (5 Pin)
BIRFETT &/)\ 100MQ
HEBEFR I
SRER 3
RESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
N IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
IR

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEFR UL 2238

AREm

ARFMENBSMIMBE, BIARIEEZFRAEFHAEERBEH LR, MRERBRIUENBRSRIEN, NBHER
RIFFR > IP54 MR SR EHEH, EFZRERE, B4 PCB A EMEIF M,



M12 B-Code Btk / TThEkéAZET0

= ) B
I FAE
3R 3
EAERBE / B 250V / 4A
NP ik S

=Ehn v 10
0 o

£ e 35

180° Al

293-B3A0

IFE

/ 294-B3A0

L2 1 BEH

180° Al

E 243-B3A0
¢

1RE

180° Al

244-B3A0

D

Rk

TR

B
4

250V / 4A
BiF S

Rim P
v 10 02
0 O

o
o
dio

293-B4A0

294-B4A0

o
=]
Jin

243-B4A0

244-B4A0

B
5
60V / 4A
Nig P i S

o
‘O O3

293-B5A0

294-B5A0

243-B5A0

244-B5A0

M12 D-Code H& B EIESS

§

180° Al + 180° B

5348 180° By

46.7

| X
| O
=S| =

534 90° Big

28.2

180° Qi + 180° A

i 11
|

SWTS

E

B mm




M12 D-Code &

B/ MERREL

FiPER

1BERE

R

TEBE / FELRR

FEREEBE

B

T EBEEFR

BRER

RIHTAE

NI

BEXFMENESMIMSE, BARPERBEETHAEERMEH TR, MREZBRBPENERSROEN, WBHER

W
100 S5/ REER
IP67/IP68 SRR | B 4K
-40°C ~ 80°C (L NEERE) ZHiHE
-25°C ~ 80°C (4 htgnhdE) IBUER
PEMAELR , fFE& UL

0.4 Nm o4
BSFE
BBALIMK
250VAC / 4A (<4 Pin)
B4 UL ek

2.5kV (<4 Pin)

SLAEBEER
I SE&ELME
3 FELAA

i EB S
RESHE

&/)N 100MQ

HEIZER
WEE /&
PUR / PUR
NBR
HETHR / BERSSHER
HB
ZER
PUR/PVC, BLACK
PUR : UL AWM 20549 / PVC : UL

B AWM 2464
. PUR : ULAWM 20549 / PVC : UL
TR AWM 2464

HEsE PUR : UL AWM 20549
0.34mm?/22AWG (<4 Pin)
PE/PVC

FT-2/ VW-1

2.0KV/1min

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

UL 2238
ARE

RIPFLR > IP54 WBGR SR EHEE, EFZRERE, B85 PCB AEmRIFM.

M12 D-Code RifH &

wig
T
BUEBE / B

i FECE

>
Sk

E
o

T

Sk

=)

P WM KE (m)

348 180° Al 2
®- PVC 5
© ( 10
. 2
PUR 5

10

235 180° B 2
®- PVC 5
® / 10
'& 2
PUR 5

10

348 90° N 2
PVC 5

@ i®
a N5

| PUR

10

35 00° i 2
®- PVC 5
o ¢ 10
‘ 2

PUR 5

10
180° 2\ +180° B 0.6
®- PVC 15
b a 0.6
PUR 15

3
90° i + 90° B 0.6

cg‘gus PVC 1.5
@/ 3
9 0.6
« PUR 1.5

&

3
HH{AFJEBS cULus IAIE

D
4
250V / 4A
Bis S
‘0\/of
s

251-D4000-255020
251-D4000-25S050
251-D4000-255100
251-D4000-05S020
251-D4000-05S050
251-D4000-055100
252-D4000-25S020
252-D4000-255050
252-D4000-25S100
252-D4000-05S020
252-D4000-05S050
252-D4000-05S100
253-D4000-255020
253-D4000-25S050
253-D4000-255100
253-D4000-05S020
253-D4000-05S050
253-D4000-055100
254-D4000-25S020
254-D4000-255050
254-D4000-25S100
254-D4000-05S5020
254-D4000-05S050
254-D4000-05S100
256-D4000-25SL60
256-D4000-25S015
256-D4000-255030
256-D4000-05SL60
256-D4000-05S015
256-D4000-05S030
259-D4000-20SL60
259-D4000-20S015
259-D4000-20S030
259-D4000-00SL60
259-D4000-00S015
259-D4000-00S030
FRE = mAVE RS UM L K E B KB ERIRERITH, Wiliais



M12 D-Code ERI&H %X

mhD

w7 o=
ImFAC o

BUE FBIE / B
ER

2EHy BEMBR KE (m)

BN 180° Al 2
(o8 PVC 5
10
2
“ PUR 5
10
315 180° B 2
®- PVC 5
10
a 7
PUR 5
10
35 90° A 2
®- PVC 5
10
2
o PUR 5
10
#540 90° B 2
@n PVC 5
10
2
- p PUR 5
10
180° /At + 180° 938 0.6
®- PVC 15
3
R
PUR 15
3
90° Al +90° i 06

O PVC 15
r s
‘( 0.6
PUR 15

&

3
FRIEFHEIIS cULus JAIE

b\

=

i

=N

D
4
250V / 4A
B S
1 z
‘0 /Of
ms

201-D4000-20S020
201-D4000-20S050
201-D4000-20S100
201-D4000-00S020
201-D4000-00S050
201-D4000-00S100
202-D4000-20S020
202-D4000-20S050
202-D4000-20S100
202-D4000-00S020
202-D4000-00S050
202-D4000-00S100
203-D4000-20S020
203-D4000-20S050
203-D4000-20S100
203-D4000-00S020
203-D4000-00S050
203-D4000-00S100
204-D4000-20S020
204-D4000-20S050
204-D4000-20S100
204-D4000-00S020
204-D4000-00S050
204-D4000-00S100
206-D4000-20SL60
206-D4000-20S015
206-D4000-20S030
206-D4000-00SL60
206-D4000-00S015
206-D4000-00S030
209-D4000-20SL60
209-D4000-20S015
209-D4000-20S030
209-D4000-00SL60
209-D4000-00S015
209-D4000-00S030
FRA = mBIE RS A MA 4 K E SR RERNERITH, Rliais

M12 D-Code TRkIEHEHLER

YRig

IHFEE o

BERBE/ BR
N

g BEHR KE (m)

BAH 180° NN 2
[//(C‘U
o

( PUR 5

. 10

340 180° Fih 5

@,
i PUR 5
a
/W'
o
3 PUR 5
9

10
i1 90° &}
(g 2
( PUR 5
o 10
180° Al + 180° i
mv/_\m+ [S 0.6
X
/’ PUR 1.5
b &
3

90° Al + 90° i

a0 0.6
G
o PUR 1.5
-ﬁ(
3

o

D
4
250V /4A
Big S
0/\0>
‘{o\/Of
ms

201-D4000-025020

201-D4000-025050

201-D4000-025100

202-D4000-025020

202-D4000-025050

202-D4000-025100

203-D4000-025020

203-D4000-025050

203-D4000-025100

204-D4000-025020

204-D4000-025050

204-D4000-025100

206-D4000-02SL60

206-D4000-025015

206-D4000-025030

209-D4000-025L60

209-D4000-025015

209-D4000-025030

BHEHETHREVERLE, MEHREIRIE 500 3R (R=28mm, L=1m, V=1m/s)

FRB = miv4 2 K EAEE SR B RRENFERITH, Kilas




M12 D-Code EiRTNEAsiEIE2E

E8iz # 0.5m BBF4

RimihE

>

L

$20.9
M12*]

Bigizt % 0.5m BBFLE
N

Do | &
Ce\L‘ ool —
= =
8zt 1217
YN 2] 20.0
7.0
I
> Il = O
= ‘\‘\ =g =
SWi9
g izt 12AFE
iR EE 230

inFHTIE S S5 &

Pin arrangement

Pin out
£ w - -

(PG9)

BRI
>
o
o~
AS)
SRIEE
pd]
S8
A S
B R 20.0
8.9
o | ] u =
g o~ = |
sl = a = ©g
[ ] =
SW17 SW19
SR
o 0
S| 8%
= T —
=

T~
20 O
o 30 04

4P
D code
Yellow #
Yellow =
Orange #&

Blue &

M12 D-Code EiR=

S KEEE
SEHE
NEBE/HhR
ZEHE

FEMAESR , 78 UL

94

LAFIMR

24 UL 20

SL&EBEER

SLEBEIE

Fa

LS
ESHIE

&
Rk
Rk
&
&
&

MRZER
Has/ &
PA
HELHR  HESER
NBR

VO
AL e
PUR, BLUE
PVC
PUR : UL20963
PVC : UL 1061
0.14mm? / 26AWG (<4 Pin)
0.34mm? / 22AWG (<4 Pin)
HD-PE
FT2

1.0KV/1min DC

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

HARSF1E
BRMEPIRRER 100
a2 IP67
BRIERE -40°C ~ 80°C
PRI b:E] 0.4 Nm
REHE 0.8 Nm

HESIFH
BEBE/ SEBRM 30VAC / 4A (<4 Pin)
BE PEEBE 2.5kV (<4 Pin)
b2k £/ 100MQ
HEEEFER Il
TSRER 3
R methods
INIERRAE UL 2238

EAMENBSMVMBSE, BAREERFSRETHEERMEAREST. MRERFRIUENERSROEN, NBHER
RIFER > IP54 MR SR HTH, EFERREARL, H£4%5% PCB AMEM

ABEM

S




M12 D-Code Ri&mEiRz,
. 45hg
ImFACE o

FERBE /B

7N

&t EEIRLL
YN 2D

© Y M16 X 1.5

o)
‘ 4 Pg9

B

’ M16 X 1.5

L Y ,;. Pg9

| M16 X 1.5

% Pg9
U R
© ¢ M6X15
;Q\
‘ ¥ Pg9

>
e

E
v

o)

% 2m PUR 454k

D
4
250V / 4A

(==
AR

268-D4000-15S020

268-D4002-155020

269-D4000-15S020

269-D4002-155020

270-D4000-15S020

270-D4002-15S020

271-D4000-15S020

271-D4002-15S020

SAKE EAIKRBENERITH, Wilian

M12 D-Code TR&E RS

@

USTED

oy

uSTED

usTED

uSTED

@

uSTED

@

uSTED

(@

USTED

oy

USTED

i FECE

BERE/ B

&=

AN~

0]
I

/)

>

B
”
LY

SR

o

Z54

YA
R
S

3

i

AUk R
- 1\I
ﬁ‘ -

STl

s N

4whD

OER

B E R

M16 X 1.5

Pg9

M16 X 1.5

Pg9

B E L

M16 X 1.5

Pg9

M16 X 1.5

Pg9

Bl EHREX

M16 X 1.5

Pg9

M16 X 1.5

Pg9

B E L

M16 X 1.5

Pg9

M16 X 1.5

Pg9

FRIEFHEEIS cULus SAE

FE8iz0 # 0.5m BF 4L

iz & 0.5m EBF Lk

[EBizt EHFE

ATt SR

D
4
250V / 4A

0o =

AR

218-D4000-0VSL50

218-D4002-0VSL50

219-D4000-0VSL50

219-D4002-0VSL50

(==
A=

220-D4000-0VSL50

220-D4002-0VSL50

221-D4000-0VSL50

221-D4002-0VSL50

0o =

ARS

232-D4000-S

232-D4002-S

233-D4000-S

233-D4002-S

(==
A=

230-D4000-S

230-D4002-S

231-D4000-S

231-D4002-S

BFEKEETREBENERITH, WlEiE



M12 D-Code —f¥3\ PCB REEEa= M12 D-Code — 3\ PCB X E EiZa=

180° thAHIS M mIBIN Rk 90° G R TRk

YN EG PCB Layout INUR I R PCB Layout

13.40

-

4350
21.00 5.00 - f"&

) 3.00 3 § e@ O =

11, 3.00 £ = =)

‘ o £ = 4 Sl s

] ) aﬁ o oS8 F i
< % Ql = @50 =
i g E—Eg S 3 ) : e
- -

— c IS <
0| &| SwW19 SW17 o /NN .

o] = £ (o o) e —

O x| = (R )] PN
52 g NS g 27\
S g — g ()

s ® c N
4P H N—
f=4 —
o D- code E P
c
o D- code
[=] 2
i iREE PCB Layout
b5 —
17.60 5.00 53 e
3.00
* -
M12%1 506 5
X ‘ £
o 5
(<] o
—hoo
o =1
w0

o £
S 8*9 SW19 SW17 aé N
S| = g 3 3%

I c S| &2 kS
= © [
s
5 P §
[= (=)
= <
o D- code g
4P
c
o D- code
o e 7 by
180° AR BB TR
Al
YN 1 23 PCB Layout
o
1\
21.00, 5.00
) 3.00 5 BN
o I
7 3.00 = 7@ 7®—
T - SRl
11 e
S50 =
0| &| sw19/ SW17 —
i I —
5 &% * 5 22\
o = 5 0!
SN =4
© 4P
£
o D- code
[=] 2
B PCB Layout
{e}
)
17.6Q 5.00 </ﬂ
M12%1 fé’g I

ks
|

)
Pin out
N 1.2

Q
m@ u - W
5.0

. SW19/ \SW17

to)
~
~ -
3% 5
old® g
ol £
) > )
o =]
N c
s g
&
c 4P
o D- code




M12 D-Code —f4= PCB = M12 D-Code Bl / TThik—14+I{ PCB ¥

WU MEZER —— YRED D
B/METRIREL 100 SR REER HEE/ & L 4
BAIFELR IP67 SEHK PA BERE / BR 250V / 4A
RIERRE -40°C ~ 80°C NEEE 95 HESHER/ BRASHR AHP % S
KB 0.4 Nm BT NBR &R 30 G
X . RELR | S \ N
2iEA R Sl ye g%x\%,& , fFE UL VO
o 180° FIBIR Rk
RS E5 7% 2001
- ) Bl 2s
BUEBE / BEBR 250VAC / 4A (<4 Pin) N
YN
e B EE 2.5kV (=4 Pin) @“’ e M16 X 1.5 276-D4000-6
SR £/)\ 100MQ © i
=
SEEFR I — Pg9 276-D4002-6
SEIEE Y
SRER 3 iR
RESHE @ - M16 X 1.5 277-D4000-6
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking © "
N IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring P ==
N7
methods — Pg9 277-D4002-6
IEC 60529: Degree of protection provided by enclosures (IP Code)
TAIEAR UL 2238 / UL2237 P
INEAT 7] 180° HIPITN TR
BT i EEESR 7S
EXRIMENEBSHNMEE, PARIDEESEEGTHEERIEHTRET. NREERRUTXEHRTENER, NATER NEEIEEE
RIPELR > IP54 HBFIFSIEEERS, RREZTERERL, B4 PCB AMEMMNFM, (@ . M16 X 1.5 226-D4000-6
S
w 7 Pg9 226-D4002-6
SUREE
. \ M16 X 1.5 227-D4000-6
a \))
: ) Pg9 227-D4002-6
90° ATV TREMK
&1 EIEBL ms

NimiEEES PCB Pin
M16 X 1.5 228-D4000-3

l’ Pg9 228-D4002-3

BiRtEEER PCB Pin
M16 X 1.5 229-D4000-3

0\!“
ll Pg9 229-D4002-3

¥H{EFHE BT cULus SAE



M12 D-Code FfFz{ PCB XN EIAsEIE2S

180° WA Rk

RNGHEEE

22.80
18.70 Z\STO 1.60

(ST

21.10

1/7.00 2\570 1.60

180° IS5 R TRk

A
22.80
18.70  2.50| 1.60
|1
S
21.10

17.00 2\5TO 1.60

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout

PCB Layout

M12 D-Code Fif4z{ PCB N EIAsEIE2%

P51 HEZER
R/NEROREL 100 SR/ REER HEE /&
FhirER IP67 SREE LCP
IRERE -40°C ~ 125°C HEE SILICONE
BEAR EIFTIE (245°C ) EEBRER (MSL) 1
FEAER , 548 UL
VO
94
BT ZMZEN
BEHBE / FEBR 250VAC / 4A (<4 Pin)
BE A EBE 2.5kV (<4 Pin)
BIXFEHTT &/)\ 100MQ
T EEEFR I
TSRER 3
RESHE
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
SR IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
yi\v]

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)
AEED

EAEMENBSMIMBSE, BAREERFRETHEERMEAREST. MRERFRYUENERSROEN, NBHER

RIFFER > IP54 MR SR HTH, EFERERL, B4 PCB A ERMIRM,




M12 D-Code Rk | TR HEIX PCB T M12 D-Code A3t B EIE2S

s 4mha D
L = S 4 180° At Ik 180° Bt Ik
KEBE/ BR 30V /2A
EShn 0N\ — —
e S a0 » T SRE= —
e )= IS < EEE]]
THR 182 BR& SI= g = —dt
2518 BEAH mS
= = BE Swi7/ swi7/ swis swiz/ swiz/ W18
© A 281-D4T00S-1
. 281-DAT00S.2 180° Nifs TR 180° &t TR
v 55.00(Ref) _ 51.60(Ref)
s 282-D4T00S-1 :
® M12*1
O ] ==
e 282-D4T00S-2 ® ﬁ;: [ ] = [=]
S1= =1 = —
s SWi7/swi17/ swie i~ 7
A 22 SW17/ SW17/ SW16 BA{: mm
& 281-D4TO0U-1
M12 D-Code £A%
B 281-D4TO0U-2 —ﬂéﬁ
WisstE MEZER
e 282-DATOOU-1 B/MERRY 100 Sk / REER Was /&
Vatink=2754 IP67 SARFIK [ REEF PA | R R F1B
B 282-D4T0O0U-2 BRIERE -40°C ~ 125°C EEE NBR
TS & 12EA FIR R PAGE | HEE &
‘ S 7 ISR, 7 UL o
51 BEHN ms 94
i BSFE AN
& 282-D4S00U-1
BEBE/ SUERM 250VAC / 4A (<4 Pin) ‘LR 18AWG~26AWG
” BE L BE 2.5kV (<4 Pin) ERSKER P4~D8
Eiot ] 282-D4S00U-2
a5 PE /V 100MQ
ERBINT T EBEER I
2519 EIE IR ms s 3
/A‘mﬁﬁgi‘ﬁ — s
IESHIE
_;"m'\;..L M15 x 1 283-T1100 IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
e SR IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
. BRITAR methods
SismEss IEC 60529: Degree of protection provided by enclosures (IP Code)
TN UL 2238
ﬁ M15 x 1 284-T1100 SEEE

EAEMENBSMIMBSE, BAREERFREFHEERMEARET. MRERFRPUENERSROEN, NBHER
RIFER > IP54 WP ERHTH, EFERERL, B4 PCB A ERMRIRM,

&
8 o0

R EEHE: 60Pcs
BHEEHE: 100Pcs



M12 D-Code FRilk / TThERkZAZE 0

YREg
ImFECE
i pren
BEHE / BR
Ehp
ZEl BEA

180° Al

180° &g *:%ngt
© .
XN
e
£ ELAR
180° i
123ER

180° A

®

»
E
0

T
ot

Rk

TR

D
4
250V / 4A

o
o
dio

293-D4A0

294-D4A0

o
=]
Jin

243-D4A0

244-D4A0

M12 S-Code £ B2 EIE 23

"
3
=
o
»

E

914.5

35.4

180° A + 180° &y

o 54.0 1 503 E [0
S S
] } it I
90° Wi + 90° NN
0o . L 54.0
4 | @ |
== ) 5
SW13 o<
SW13 alS
| W12+ =
9145

30 180° B

50.5 ‘ L

] i
S §
@\7 |

& SW13

=
B34 90° B

400 L N‘
- E § |
= )

SW14

M12*1 (J

180° Qi + 180° Al

BA{I: mm

400 L 400
| RN
< A | Bl
1 ~
"%\SWB swiz /Ml
[ w1241 w12+
0145

180° Qi + 90° Rim

40.0 L ‘ 50.3 \#
A F ]S I
5 . SW13 2
‘ SW13 5T
M12%1 =
5145
B{I: mm




Stk | REER
SkEK Bt
FHE

BEER
PSR, BA UL

94

B4 MR
B4 UL A28

SLEBEER

SH&LELSME
PR
M BB

RESHE

HEIZER
MEE /&
PUR / PP
NBR
HETER
VO
ZAFER
PUR, BLACK
‘ PUR : UL AWM
iddia 20234

1.5mm?16AWG (3 Pin)
1.5mm*16AWG (4 Pin)
PP

VW-1/FT1

4.0KV/1min

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

M12 S-Code #H£E5(
4%
BR/NERREL 100
FAIPELR IP67
. -40°C ~ 80°C (L NEERE )
BRIERE 2ot s
-25°C ~ 80°C ( Bk NEThRE)
BEEE 0.4 Nm
HBSFE
630VAC / 16A (3 Pin)
= = Eg 3
HE R / e B 630VAC / 12A (4 Pin)
6kV (3 Pin)
HE ) <
TE pHEE 6KV (4 Pin)
# AT £/ 100MQ
TEREER n
SRER 3
RITAT methods
INIEFRAE UL 2237

ABEm

EAFMENESMIMBSEY, BARPERFHHETHAEERMEH TR, MREZBRPENERSROEN, NBHER
RIPFR > P54 WGP ERHEEH, TREBARL, BH%H PCB AHFEMNIFNN.

M12 S-Code TR HLEL

usTED

USTED

USTED

usTED

uSTED

USTED

inFEE

YRig
BEL

BNE FBIE / BB

ShN

£

2317 180° N

rd

#3ih 180° i

R

11 90° QiR

4

5551 90° Bk

<

180° Al + 180° &

90° A + 90° &if

o

o
6

PUR

(&)}

10

PUR 5

10

PUR 5

10

PUR 5

10

0.6

PUR 1.5

0.6

PUR 1.5

F{FFHEMST cULus JAE

s
3(2+PE)
630V / 16A
Nig P g s

O
50
o=

=]=]
201-S3303-02S020
201-S3303-02S050
201-S3303-025100
202-S3303-02S020
202-S3303-02S050
202-S3303-025100
203-S3303-02S020
203-S3303-02S050
203-S3303-025100
204-S3303-025020
204-S3303-02S050
204-S3303-025100
206-S3303-02SL60
206-S3303-02S015
206-S3303-02S030
209-S3303-02SL60
209-S3303-02S015

209-S3303-02S030

=
=

S
4(3+PE)
630V / 12A

AP

201-S4303-02S020
201-S4303-02S050
201-S4303-025100
202-S4303-02S020
202-S4303-02S050
202-S4303-025100
203-S4303-02S020
203-S4303-02S050
203-S4303-025100
204-S4303-02S020
204-S4303-02S050
204-S4303-025100
206-S4303-02SL60
206-S4303-02S015
206-S4303-02S030
209-S4303-02SL60
209-S4303-02S015

209-S4303-02S030

s

@
Q
o

FrE P mAvERSRT NS L KE ErKRENFERITH, WilaH



M12 S-Code iR EIfSEIERS

E8iz # 0.5m BBFZ

NiGHERE

»

$20.9
G9

P

SW17/ SW19
g # 0.5m BF4&
NimEEE 230 L
| 21.0
1
o 0 :‘7\
SIS ] \’M: e
= o= —
SW19 Sl
E8ist 1B st
YN EG S 20.0
7.0
o =SR]
< s
SW19
izt IFFE
NimiEEE 23.0

$20.9
(PGY)

_ M16%1.5

inFHIFIE S S ®

b 30
[
: %S
o
=)
c
£
<
c 3P
o
1 Black &
5 2
o
£ 3 Black 2
o
PE Yellow / Green % /4%

iR

(SIS

iR

i A

S code

$20.9

20.0

4P

Black 2
Black 2

Black &

Yellow / Green # / 4%

19.6 L
17.6
S2PCE! o TS
=
SW19 SW17/
20.0
8.5
Qiii 8 2
B =1z
s = = ==
4 =
SW17 Sw19
o S
S| A%
N| w0
e T —
=

M12 S-Code EtRT(
M FE HEZER
R/INMERREL 100 S/ REER WaE/ £
FhiRER IP67 SHAHIK PA
BERE -40°C ~ 80°C INERIER /IR HEEER/ HE2ER
XYHiHAE 0.4 Nm BHE NBR
WREES A
REHE 0.8 Nm Eﬂ*"‘%’& HE UL Vo
BT SMEAER
. 630VAC / 16A (3 Pin) B4R IME MPPE
BE RBE / SUE RN
E RS 630VAC / 12A (4 Pin) B34 UL Fiost TR MPPE : AWM 11029
6kV (3 Pin) o 1.5mm*16AWG (3 Pin)
E AT EBE F¢ i

AR 6kV (4 Pin) SHRBEE? 1.5mm?*16AWG (4 Pin)

#B5FRT /)N 100MQ SHESME MPPE

o EEFR I FELA VW-1/FT1

BRER 3 iy BB NA

RESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
NN IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
RITHRE methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
TN UL 2238

ARSI

EAREMENBSMIMBE, BARBERFSRETHEERBEAREYT. MRERBRIUENERSRNEN, NBHER
RIFEFR > IP54 MR SR HETH, EFERERLE, B4 PCB A ERMIR M,




M12 S-Code TTRKEIR

Rt
OER

BNE FBIE / BB

inFECE

ShN

“51 EIE R
RIHHE

@ M16 X 1.5

&

R

g9

@ M16 X 1.5

Pg9
&1 E EMREL
INURIEE
e M16 X 1.5

< .\-)a&/’)
@ ’ Pg9

iR

& M16 X 1.5
D -

oy

USTED

Pg9

S
3(2+PE)
630V / 16A
NP i S
©
&9
E8izt & 0.5m BF4k
ms
218-53300-0MSL50
218-83302-0MSL50
219-53300-0MSL50
219-53302-0MSL50
PR # 0.5m EF &
ms

220-S3300-0MSL50

220-S3302-0MSL50

221-S3300-0MSL50

221-S3302-0MSL50

F{FFHEMIT cULus AE

S
4(3+PE)
630V / 12A

218-S4300-0MSL50

218-54302-0MSL50

219-S4300-0MSL50

219-S4302-0MSL50

220-S4300-0MSL50

220-S4302-0MSL50

221-S4300-0MSL50

221-S4302-0MSL50

BFARKEEKRENERITH, WiliaH

M12 T-Code & EIfZiEIE2%

55 180° A

30 180° B

L
| - arEH
s | S = | ) |
) *g SW13
=
434 90° N 1 90° B
40.0 , L | 400 -~ L N‘
l |
B | C | - | § |
Lo ; - ~MD
" il SW13
M12%1 J
B{I: mm
180° 21 + 180° & 180° 21 + 180° 2%
i}i 54.0 | 50.3 ig 40.0 L 400
= =l | T le
! = { = -
I ] s R : : =
W13 SW13 g\S\MB SV\HB/E
] Mr2rt M12%1 ’
90° Qi + 90° A 180° Al + 90° NI
40.0 L 54.0 ‘ 40.0 L 50.3
i j— - | — L
OoTI=— Lo E SW13 ol RS
SW13 | < SW13 =2 el
ﬂ\ SW13 5T B ==
* = M12*%1
‘ M12%1 = VI
$14.5 :
BA{I: mm




Stk / RERE
SEE / BsTE
T

BB
PSSR , 18 UL

94
ERARIME

B4 UL X0
SEHEBEER
SLLEME
FERA

i BB

RESHLE
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

EZER
HEE/ &
PUR/ PP
NBR
HEEER
VO
AR
PUR, BLACK
TR 20936
1.5mm*/16AWG (4 Pin)
PP
VW-1/FT1

2.0KV/1min

IEC 60529: Degree of protection provided by enclosures (IP Code)

M12 T-Code $4£%3¢
W51
/METRIREL 100
PrtPER IP67
. -40°C ~ 80°C ( A NEERE )
BRIERE o
-25°C ~ 80°C ( ik N shist )
HEUARE 0.4 Nm
RS
BEHE / HUERETR 63VAC / 12A (4 Pin)
BEATHEBE 1.5kV (4 Pin)
a5 BRI &/ 100MQ
T EBEER 1]
SRER 3
BIHE methods
AR AE UL 2237

AREm
BEXFMENBSMIMSE, BARPEEFEHETHAEERMEH TR, MREZBRYPENERSROEN, WBHER

RIPFLR > IP54 PR E R HEE, EFZRERE, B4 PCB A EMRIFM.

PUR : ULAWM

M12 T-Code TR H &K

usTED

USTED

usTED

uSTED

)
i FEE =
/L‘A?&
KEBE / BR
Ex
25l MR KE (m)
237 180° N 9
/ PUR 5
10
3ih 180° B 2
PUR 5
A 10
30 90° i 2
PUR 5
a' 10
B350 90° & 2
( PUR 5
& 10
180° Al + 180° Fih
Wi + [Sali] 06
a 3
90° i + 90° Fim
0.6
: (™ PUR 1.5
‘/
‘ 3
FRIEFHEEIE cULus SAE

T
4
63V / 12A
Al P
ms

201-T4303-02S020

201-T4303-02S050

201-T4303-02S100

202-T4303-02S020

202-T4303-02S050

202-T4303-02S100

203-T4303-02S020

203-T4303-02S050

203-T4303-025100

204-T4303-02S020

204-T4303-02S050

204-T4303-02S100

206-T4303-02SL60

206-T4303-02S015

206-T4303-02S030

209-T4303-02SL60

209-T4303-02S015

209-T4303-02S030

FrE = mAvERSRT AN L KE ErRRENFERITH, WiliaH



M12 T-Code EiR Bl EIESS

fE8i % 0.5m BBF&
NI B iR
Azt # 0.5m BF L&
N AR 930 ] | it E
| 21.0
|y o W —
N ]\ \M: ———
= e
SW19 SW17/
R8Izt IFFE
PNEEIEEE 20.0 BimthEE
7.0
o = 5o
S = <
SW19
ATt IFFE
YN B iERE
P LLg
mFHPIIES 4
= ‘O
: & 1o
& e3>
E 4P
T code
1 Brown 1%
% ) White B
E 3 Blue &
4 Black 2

$20.9

20.0

19.6 ]
17.6
S
= =
W19 SW17
g £z

M12 T-Code Mtz

S/ REER
SEHF

NARE /IR
BEE

FEMAELR , 78 UL

94

LMK

%t UL 2R
SL&EEEER
SLBLGME
R

e E

mESHE

MEIZER
WEE /&
PA

HAEER/ HE2RE
NBR

VO
AN

MPPE

MPPE : AWM 11027

1.5mm? / 16AWG (4 Pin)

MPPE

VW-1/FT1

NA

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

W51
BR/NERREL 100
BAIPELR IP67
BIERE -40°C ~ 80°C
PRk 0.4 Nm
I 0.8 Nm

BT
HEBE / FUERM 63VAC / 12A (4 Pin)
BE A HEBE 1.5kV (4 Pin)
#a 5 fHT /)y 100MQ
HEEER n
ERELR 3
i methods
INIERRAE UL 2238

AREM

EAREMENBSMIMBSE, BARDERFREFHEERBEAZEGT. MRERBRYUENERSRNEN, NBHER
RIFEFR > IP54 MR SR HEH, EFERERL, B4 PCB A ERMIRM,




M12 T-Code TRk EIRT M12 T-Code —{¥3{ PCB I EIfisiE%23

y as -
ez 4t T 180° hflA M miPizX Bk
yin 4 »
. R DI PCB Layout
BERE / BAR 63V / 12A
N p Bi#s 21.00 5.00 ] s |
| 3.00 [INES
— 4 - ) )
Oz y @ !
=t # 0.5m T4 s ) l : 1
i EER 25 R . “ Bl
A 23 = g o) .0
5 Lo § o010 Q
®- M16 X 1.5 218-T4300-0MSL50 o 7= 2 0 Os
i ° 8 P
c
d’_.,-r' o T-code
i \ B PCB Layout
L+ Pg9 218-T4302-0MSL50
17.60 5.00 T Her e
3.00 3 ‘ =4 4
M12*1 o | A
ﬁﬁ“ﬁ#ﬁ@ | 5.00 E y G ,‘r};r‘
_x n !
= M16 X 1.5 219-T4300-0MSL50 : ‘ |
2= (-
1
: v WHE ‘ hid -
o Te) 5 4 3 40
"-ﬁ\ ZL| qwro/ ¥ : oLS 49
; Pg9 219-T4302-0MSL50 oL o SWIS SWi7 g © 0=
ol = ‘E 4P
%‘ a T-code
A & 0.5m BBF4
251 B RE LR ms
/\\*‘J-I s -~
& I 180° HiIA M R TR
M16 X 1.5 220-T4300-0MSL50 »
f : REE PCB Layout
\ 21.00 5.00 - i ~2!
5 | ‘ 3.00 = S
9 Pg9 220-T4302-0MSL50 L =200 3
i
Y e 1 —D- X
B il
x SW17 €
®- M16 X 15 221-T4300-0MSL50 S22 suof 5 R
585 = : &
- ol 7= &
\ s E 4P
i o T-code
‘% o Pg9 221-T4302-0MSL50
i - Bk
$B1KF HEEE cULus IAE BT AKE N ARBIENERITE, WlaH 17.60 5.00
5.00 '
M12%1
| 5.00 N |
_Q RN =
il :
% o
v HENA
/\LO - - -
<h SW17 - o
o 32 SW19 : 000
o s
S c 4P
a T-code




M12 T-Code —f43{ PCB {
M1t HEIZER
R/ MERREL 100 S REER MEE /&
PR IP67 SEE &K PA
1BMERE -40°C ~ 80°C NEEE /SR HEER  BFAEHER
XYHARE 0.4 Nm BN ER NBR
PRy a2
et e MRS, 55 UL Vo
S LZMEN
BERE/FEBRM 63VAC / 12A (4 Pin)
BERERE 1.5kV (4 Pin) ©
BT /N 100MQ
TEREFER 1] ®-
SRR 3 ©
RESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
GIHRE IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)
INEARAE UL 2238 / UL2237 ®

AEEM -
XM ERNESHNMSE, YARIDEZSBFRHACSERIEH TR, NREEBRUEHBERSRIEN, NWHTER
RIPER > IP54 AR EREEH. BREEARL, B4i5 PCB AMEmHAIR I,
N

uSTED

5
DI
-

~=

T

SR
i

i
Eemm—

“5t
A S

S
5

w5

OER

B E R

M16 X 1.5

Pg9

M16 X 1.5

Pg9

Bl EHRLY

M16 X 1.5

Pg9

M16 X 1.5

Pg9

M12 T-Code Riik /| TRiKx—F PCB ¥

180° HIBITL Rk

180° BB TRk

T
4
63V /12A

O =

AR

276-T4300-6

276-T4302-6

277-T4300-6

277-T4302-6

o=
[s[= e

226-T4300-6

226-T4302-6

227-T4300-6

227-T4302-6

$H{F=F BT cULus SAE




M12 X-Code f{¥3{ PCB I ElfisiEiE23

180° AR Rk

PCB Layout

638
61
8P
X-code
¥R
S& I REEE e/ £
SEHE LCP
FEE NBR
EEBRER (MSL) 1
PEMAELR , fTE UL
94 Vo
LA
InESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

ST 1
M12 X-Code f{¥3{ PCB I,
M4F1E
BR/NERRER 100
FAIPELR IP67
BRIERE -40°C ~ 125°C
12EAR [EI5RIE (260°C)
S
BERE/ FEBRR 50VAC / 0.5A (8 Pin)
BT EE 0.8kV (8 Pin)
“E AT /N 100MQ
TEEEEER Il
TSRER 3
Rt

methods

IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

IEC 60529: Degree of protection provided by enclosures (IP Code)

EAEMENESMIMBSEY, BARPERFJZHTHAEERMEA TR, MRERFRUENERSROEN, NBHER

ABEM

RIFER > IP54 NP SR EHTH, EFERRRL, B4 PCB A ERMIRM,

107

M12 X-Code B PCB U

JRED
HBFERRE
3R
EEWBE/BR
&R
0] BES
s
s
B
@ o
®
e
0] BES
e
et
i
s
e
4EH ElRiEy
M15 x 1

ﬂ M15 x 1
_%;f !

HHIAFHEME cULus ATE

THR 1242 Bk

THR 2% TR

ERINT

X
8
60V/0.5A
S s

6B
N1

(==}
AR

282-X8100S-1

282-X8100S-2

B0
dio

20
dio

284-T2220

REEZEHE 60Pcs
BHERHE: 100Pcs



M12 L-Code &N B EIZES M12 L-Code &K

Wit HEZER
R/NEROREL 100 Sk / KEES HEaE/ &
1 180° Bk
311 180° S BhiF SR IP67 SEHIK PA/PP
50.3 L p— -40°C ~ 80°C (A NEIERE) EHE NBR
= — - RIERE
| L _‘ ) ~ -25°C ~ 80°C (& ntsmhRi) IREBURFLR (MSL) HEEER
1 & | g] & ‘ BIEHE 0.4 Nm SI;HAfW%é& E UL VO
) X SW13 Rt 2]
= 63VAC / 16A (4 Pin) FRAIIME PUR, GREY
HEBE / FUERM
63VAC / 16A (5 Pin) UL AWM 20233 (4 Pin)
B4 UL 20
1.5kV (4 Pin) UL AWM 20233 (5 Pin)
235 90° N B35 90° i BE T EE
1.5kV (5 Pin) 2.5mm?/ 14AWG (4 Pin)
L 40.0 L SHAEEHEER
N‘ - . N| - R ANzE /)N 100MQ 2.5mm?*/ 14AWG (5 Pin)
& ‘ | B & ‘ i B EHFR 1] SELEME PE
<+ - i
umv' aeTI=— ERER 3 PELAR FT2
SWT13 .
I i EEE 2.0KV/1min
M12*1 ESHE
i1 mm IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
AL A, IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
RITTRE methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
NI UL 2237
ABEM
180° Al + 180° &k 180° Al + 180° Ak ‘
ERFMENBSFNMESE, SARIDEESRIEEHTHECERMEHLTET. NREERFUEHERTENER, NARER
O, 54.0 L 503 _ &9 40.0 . 400 RIFEELR > PS4 MBS RIS LB, AREBEKL, B4 PCB AHERIITM,
- - . . ‘
== | | H \
== =Y =
) 1 i]i < << | 1~
s - fe! =
SW13/ SW13
— M12*1 ‘ L
$14.5
90° Qi + 90° N 180° Qi + 90° Al
40.0 L 540 40.0 L
| | |
SR @) e ]
; = B @) N
SW13 o SW13
ﬁ\\ SW13 N ‘
| W12+ = M12%1
914.5 Ple

B mm




M2, “ l‘
M12 L-Code TREHER M12 L-Code EIRT B EIE23
YT L L
HFEE o JE8i #F 0.5m BBFL%
P 4 5(4+FE) -
i TS
MEBE /B 63V / 16A 63V / 16A “im U 20.0 L
Rk P Nig P
E3pn Le) ) e 2 =
oo 0 53 < E
=
& LR KE (m) s
50 180°A 1%
2 201-L4103-025020 201-L5103-025020 e
Fisizt #5 0.5m BF4
PUR 5 201-L4103-025050 201-L5103-025050 AR Ui 0 !
17.6
10 201-L4103-02S100 201-L5103-02S100 A
= /05: o O 0
2 202-14103-025020 202-15103-025020 =) ST =
PUR 5 202-L4103-02S050 202-L5103-02S050 SW19 S
Bz 125
10 202-14103-02S100 202-15103-02S100 AL 20.0 - B
w
2 203-L4103-025020 203-L5103-025020
PUR 5 203-L4103-02S050 203-L5103-02S050 - =
10 203-L4103-02S100 203-L5103-02S100 SUAE
aigizt 12 E
2 204-L4103-025020 204-L5103-025020 N -
PUR 5 204-L4103-02S050 204-L5103-02S050
10 204-L4103-02S100 204-L5103-02S100 glgs S %
=
180?}?‘)"3% 0.6 206-L4103-02SL60 206-L5103-02SL60
. " 4 PUR 15 206-L4103-025015 206-L5103-02S015 .
./; o BFHPIGE S SSmE
L% ;
G 3 206-L4103-02S030 206-L5103-02S030
59
90° 24 + 90" 0.6 209-L4103-02SL60 209-L5103-02SL60 3 @T@
©
e :
c 4P 5P
5 / - PUR 15 209-L4103-02S015 209-L5103-02S015 £
8 ' m"":' 1 Brown 12 1 Brown 12
v €. 3 209-L4103-02S030 209-L5103-02S030 L2 White £ 2 White £
é 3 Blue & 3 Blue &
i SRR A A K AT RBENERITS, Wlan g 4 Black % s Black %
1% L-Code 5P 4 HIRE, HakREE - Pink $44T




M12 L-Code HEiR=

M FE EER
B/IMERREL 100 S/ REER MEE/ &
PhiRER IP67 SHEEE PA
1BERE -40°C ~ 80°C NAIRE /MR HEEER / HERER
POE il 0.4 Nm ZEE NBR
R 0.8 Nm RS, a UL Vo
RS E5 7% 401
63VAC / 16A (4 Pin) LAt M MPPE
TERBE / FEER ‘
63VAC / 16A (5 Pin) 24 UL T2 MPPE : AWM 11027

1.5kV (4 Pin) \ 2.5mm?/ 14AWG (4 Pin)
BE A EBE SE&EBEER )

1.5kV (5 Pin) 2.5mm? / 14AWG (5 Pin)
e e /) 100MQ SHLEME MPPE
T EEFR I REAA VW-1
ERER 3 it EE & 2.0kV/1min

SIS
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

NPT IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
RITRE methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

INIEFRAE UL 2238

ARE

BEAMENESMIMSE, BIARPERFJEBTHAEERMEA TR, MREZBRPENERISROEN, NBHER
RIFFR > IP54 PSR HER, EFZREARL, BL%E PCB AMHEMBIFM.

M12 L-Code TR HE IR
» ot
InFicE o

BNE FBIE / BB

G
#5585 Eija 322
N
M16 X 1.5
P /
ﬁ-" ’ Pg9
i KR
/ M16 X 1.5
5{3’ ’ Pg9
&1y EE gL
YN 1
M16 X 1.5
2 \/
5 ‘ {
SikEE
M16 X 1.5
~

%

63V / 16A

/)

7

% P

7
oG

8z & 0.5m BFLk

D

218-L4100-0MSL50

218-L4102-0MSL50

219-L4100-0MSL50

219-L4102-0MSL50

FIEizt # 0.5m BF 4

220-L4100-0MSL50

220-L4102-0MSL50

221-L4100-0MSL50

221-L4102-0MSL50

Bo

L
5(4+FE)
63V / 16A

A8 P

%Tg

218-L5100-0MSL50

218-L5102-0MSL50

219-L5100-0MSL50

219-L5102-0MSL50

Jjn

220-L5100-0MSL50

220-L5102-0MSL50

221-L5100-0MSL50

221-L5102-0MSL50

BFARKEEAKRRENERITH, WiliaH




M12 L-Code —f4 = PCB X EAsiEIEZ

180° il A mishi Bk
N

21.00 5.00

) 3.00
1 i m

L 3.00
Sw19/ SW17

|

0 &
o/ 85| =
ol 7=
(V]
A=S
S N
17.60 5.00
3.00
*
M12%1 05
X i ‘
L
j:l:ﬂ
B =
0
£y
ol © & swig SW17
oS
o™
ASS

180° HiflAMm migit TR

YN il E
21.00 5.00 =
| 3.00 °
i 3.00 =
= 5
o] &| sw19 SwW17 E’;
A
g 25 = &
ol 7= ©
AN £
e o
i R
17.60 5.00
3.00
* -
M12%1 300 5
' ] ‘ £
o
==
i
Te) t
/\ﬁ [
3 SW19/ \SW17 5
o|a @ 2
2T = £
o H
N c
e T

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout
B 1 ] ]
i 1
1 1‘1 -
D i
O 7 O
oo o) JO
oLy o
4P
L-code
PCB Layout
. 1
[}
|
- ""/P'
%3 2O
oo o) JO
= o
4P
L-code
PCB Layout

g 1.5 )
[ Tn0.1]
o @
‘<>o‘\A
S
5@ 1.5
n 0.1
o @
SN
®.

L-code

PCB Layout

LBl .5 )
5@ 1.5

L-code

M12 L-Code —f43{ PCB =},

Mt
B=/IMERREL 100
BhiPELR IP67
BIERE -40°C ~ 80°C
Xl 5B 0.4 Nm
REHE TR

S

63VAC / 12A (4 Pin)

BEBE / SUEBR
63VAC / 12A (5 Pin)

N 1.5kV (4 Pin)
TE L EE
1.5kV (5 Pin)
MR £/]\ 100MQ
W EEFE I
SRER 3
RESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
SR IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEAT UL 2238 / UL2237

S/ REER
SEHE
NAIRE /R
BNER

FEMAELR , FF& UL
94

ARE

ERFMENBSMVMBSE, BARDEZRSZBETHEERBMEH LR, MRERBRUENERSRNER, NBHER
8¢ PCB A& MBI,

RIFFR > IP54 MR R R HEH, EFERERL, B4

RZER
Aas/ &
PA
HESHE ERSSER
NBR

VO

ZMER




M12 L-Code BRitk / TTHRER—4+IU PCB U

)
InFEE
TER
BERE / B
AN
£Ely [E E B
PNUREEE
- M16 X 1.5
©
L=
iR EEE
M16 X 1.5
© -
T Pg9
& [ E IR
AT
M16 X 1.5

- L) Pg9
M16 X 1.5

" : Li%f . Pg9

117

L
4
63V /16A

>
=l

3
T
N2z
5t
)

180° BBl Rk

276-L4100-6

276-L4102-6

277-L4100-6

277-L4102-6

180° HIEHTN TRk

o
=]
di

226-L4100-6

226-L4102-6

227-L4100-6

227-L4102-6

>
£

3
Y

%@’

L
5
63V / 16A

276-L5100-6

276-L5102-6

277-L5100-6

277-L5102-6

226-L.5100-6

226-L.5102-6

227-L.5100-6

227-1.5102-6

M12 L-Code Ff¢ T PCB Bl iEiEES

180° AR Rk

RImTEEE
25.50
21.30
2.20
(SIS
21.70
19.50
2.20

AR
23.50
21.50
2.20
i ihEE
21.70
19.50
2.20

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout
er ae
s i
A-code
PCB Layout
£
0lp
PCB Layout
@ e
& @It
PCB Layout

A-code




M12 L-Code Ff$z{ PCB T

BR/MERREL
PP ER
BRFRE
1#EHN

BEBE / BE B

BE L EBE

:ub iz R
T EBEEFR
BRER

RITRAE

BEXIMENBSMIMSE, BHARPEZRFBEBETHEERMEH TR, MREZBRYPENERISROEN, NBHER
RIFFR > IP54 MPIR SR HEH, EFZRERE, B4 PCB A ERMAIF M,

M FiE 7EER " YD
I FECE s
100 S/ REER mWaEE/ & K
IP67 SEHIE LCP FERE / B
-40°C ~ 125°C BHE SILICONE
[EI%42 (260°C) mESURESR (MSL) 1 G
FEAER , 58 UL
VO
94
BT ZMER
= Z30) BEHR
63VAC / 16A (4 Pin) s
NIy
63VAC / 16A (5 Pin) e
1.5kV (4 Pin)
1.5kV (5 Pin) ”
B
/)N 100MQ
1
3 &
RESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking b
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
methods
IEC 60529: Degree of protection provided by enclosures (IP Code)

FEFEmM o3| aESR

M15 x 1

M15 x 1

M12 L-Code Btk / TThRERmMm{+It PCB I

L
4
250V / 4A

e

Vi)

7

N
o

%}5

281-L4T01S-1

281-L4T01S-2

282-L4T01S-1

282-L4T01S-2

THR 21Z SRk

281-L4TO1U-1

281-L4T01U-2

282-L4T01U-1

282-L4T01U-2

ERINT

L
5
250V / 4A
Nif P i S
A
e
me
281-L5T01S-1
281-L5T01S-2
282-L5T01S-1
282-L5T01S-2
me
281-L5T01U-1
281-L5T01U-2
282-L5T01U-1
282-L5T01U-2
ms
283-P1100
284-P1100

R EEHE: 60Pcs
EeiE: 100Pcs



M12 K-Code & EIciEIEEE

P14 MHZER
B3 180° i B/MER R 100 Stk | REEE HEe/
50 3 ] PR &R IP67 SEHE | B AT PA /PP
i : T N‘ . -40°C ~80°C (M NEERE) EiHE NBR
‘ _ ®Pm=E
i ] < ﬁ 1 T C | -25°C ~80°C (ML NBRRE) BUEH HEBER
§ | = = 1= R 0.4Nm g%m%g& FE UL VO
& SW13 s
= B AR
FEBE / ELR 630VAC / 16A (5 Pin) T TR PUR, BLACK
BE R R 4KV (5 Pin) - Rk PUR, ORANGE
A £/]\ 100MQ TR UL AWM 21223
o B4 ULzt ‘
57 90° Atk 35 90° Fis S EBEER I Rk UL AWM 21223
: 400 ] SEqEELR 3 SELEEEmR 1.5mm? / 14AWG (5 Pin)
] - ] SLLBRITE PP
& ‘ & | BELAA VW-1/FT1
j—i iR & 3kV/1min
=8 FESHE
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
NN IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
R methods
SAi: mm IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEFRE UL 2237/UL 2238
e 30
EXFMENBSMNMSE, HRRIDEESEHGACERIEH TR, NREEIRUEHERSRNGENE, NWAREER
RIPFER > IP54 IBAIPE R HE R, EREEARL, B45K PCB HMSRRIR M,
180° Qi + 180° & 180° Qi + 180° N
R 54.0 L 503 &9 400 _ . L 400 _,
—|= == \ N ]
RSN = —
L] i 1 < ] § ™
- LS IR : : =
f s SW13 g\swu swi3 /il
_ M12*1 M1 2% 1 ‘
B RAEN 914.5
90° Rifm + 90° Rim 180° Qi + 90° Nim
40.0 L 54.0 | & 40.0 i L i 50.3 |
| | = —
S B a0 B JE R uE=EE
_ | [T i o =
| = wof ™ SW13 <
SW13 | < SW13 =0 e
ﬁ\\ SW13 52 ‘ ==
| W12+ = M12*1
0145 014.5
B{I: mm

M12 K-Code #43t




M12 K-Code R4 | TREMHELEIN M12 K-Code EiRNEIFZEIE2S

WP EE ARES K S8t % 0.5m BT S
TF +
\ e 5(4+PE) N B 20.0 L
BIERBE /BN 690V / 8A
Rim P B S
_ @ : .
- g - : :
2 (3 o~ N o
ele) S = &
=20
£ WEMBRE KE (m) ms - -
i1 180° Al BTt H 0.5m BBF4&
2 251-K5103-028020
® N e EHIRIEEE
PUR 5 251-K5103-02S050
> _ 2
A O B% | &N bk P
L 10 251-K5103-028100 Qlee| o SE
=) | =
835 180° it
@ 2 252-K5103-025020
PUR 5 252-K5103-02S050
@ 10 252-K5103-02S100 BZHINE S SEEE
TR .
20 WEME KE (m) 25 g
55 180° Al )
2 201-K5103-028020 §
_; 5P
o
PUR 5 201-K5103-02S050 K code
1 Black 2
T 10 201-K5103-02S100 5 ° plack R
. - - ; 3 Black 2
30 180° i ey Black &
2 202-K5103-02S020 FE Yellow / Green % / £&
PUR 5 202-K5103-02S050
® 10 202-K5103-02S100
B854 90° itk
2 203-K5103-028020
PUR 5 203-K5103-02S050
10 203-K5103-025100
35 90° i
2 204-K5103-02S020
PUR 5 204-K5103-02S050
' 10 204-K5103-02S100




M12 K-Code EI#RT, M12 K-Code TR EIR
keSS HEZER T YD K
/NMERREL 100 SR REER HEE/ £ L 5(4+PE)
BAIFER IP67 SEHK PA BERE / B 690V / 8A
RIERE -40°C ~80°C NREE 55 HERER “in P B S
SRS 0.4 Nm BHE NBR an
- PR , BE UL ele/ el
TRHAE 0.8 Nm 94 VO
- B8z # 0.5m ¥4
ERUIE : R i EER 22
TEBE / TUEER 630VAC / 16A (5 Pin) SR XLPE S
BE L EE 4kV (5 Pin) it UL 2R UL AWM 3994 :
Y5 BET &/ 100MQ SHEESEER 1.5mm? / 14AWG (5 Pin) / M16x1.5 18.-K5100-0MSL5O
NEESA i SEREME XLPE ;\
ERER 3 = FT2 .
it B8 6kV/1min S
SIS ///
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking M16x1.5 219-K5100-0MSL50
T IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring i b X1 ; ;
b methods . 5
IEC 60529: Degree of protection provided by enclosures (IP Code) w
JNIEAT UL 2237/UL 2238 Y ——
SFSEIN BUEN I\ V. 2
EREM Ve B84y @S
ERFMERN BRSNS, BARIDEZSFBACERBEH TR, NREESBRUENERSENEN, VB ER EiAR

RIPEFL > IP54 NBGIRE R EHEE, EFZERERE, B4 PCB A SR,

= \/ M16x1.5
- / M16x1.5
.e:\..‘\/

220-K5100-0MSL50

221-K5100-0MSL50

BFAKEERRRENFERITH, wiliaid




M12 M-Code H& Bz EIEES M12 M-Code 4 3t

WissE HEZER
i 180° A 10 180° B B/ MER R 100 Sk | REER Was /S
Dap a7 IP67 SEHE | BFARE PA/ PP
. -40°C ~80°C (W NEERE) EHHE NBR
L . BRIERE WL 1 s PPN
| ’ -25°C ~80°C ( 4tk Nignh&it) 1ENER HEEHER
_ REEL TE
G | HEHI%E 0.4 Nm g%k'"‘%"& fE UL VO
BSFYE “KMER
BERE / SIERR 630VAC / 8A (6 Pin) s TR PUR, BLACK
e ik FEE 6kV(6 Pin) - IR PUR, ORANGE
BIXFEHT &/)» 100MQ . TR ULAWM 21223
B4 UL 2
H55 90° A B3 90° B S EBEER I Rk UL AWM 21223
TSRER 3 SLEEHEER 1.5mm? / 16AWG(6 Pin)
L . 200 - L . SHEEHE PP
= ] C | BRI VW-1/FT1
<~ § | ™ | it B E 3kV/min
i) oI-— = —
a SW13 1R S
r IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
NN IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measurin
M12*1 J B mm IR methods P ap P ?
IEC 60529: Degree of protection provided by enclosures (IP Code)
IAIERT A UL 2237
ARSI
BERXIFMENBSNTMSE, PIARIEEEFZEMHAEEHIEHRETF. NMREE[/RUTEHERSRIEI, NHHER
1800 /Al\ﬁ i 1800 E\ﬁ 1800 /Al\ﬁ + 1800 /Al\ﬁ T%;F%é& > |P54 EI\JBH?FD%J%/E\E‘Z{ETJ‘O E%%@é&éﬁ’ Egi%jﬁ PCB éﬂ{#iﬁﬁia"]?z”ﬁ]o
g & 54.0 L 50.5 *Nﬁ . 40.0 L “ 40.0
—|= == | N T
= =
| - — << — ~
L_(')' - - ~—
,\()

90° Al + 90° N\ 180° Al + 90° N\
400 L 540 40.0 L 50.3
= | | = L T |
| B ] ol ™ SW13 Tl
SW13 —| & SW13 EUASEAY s
ﬂ\ SW13 e ‘ ==
Wi = A wirt
9145 P14.9

127 128




M12 M-Code Rt | TRBHLER M12 M-Code EtR = EIAZEIE2E

" YHD M
mFEE - N
R 6(5+PE) EHizt ¥ 0.5m ¥4
BERE / BR 690V / 8A NIEERE B R 20.0 L
NP 85 S 8.9
BT I AN
/- ‘0,02 o =
ol ’t S g
= =
R
2 1| GEME KE (m) m= SW17 W19
831 180° Ak e
® 2 251-M6103-02S020 Figlizt 8 0.5m BBFLS
PR B i
PUR 5 251-M6103-02S050
10 251-M6103-02S100 o ) o
SN S5
e e N &
B51 180° i =) =T
o 2 252-M6103-02S020
PUR 5 252-M6103-02S050
ImFHINE S S&EG
10 252-M6103-02S100
ryrrr— _ - § APRH
e G MER KE (m) me 5 =
\ _ 2 g
i 180° Ak §
2 201-M6103-02S020 5
E 6P
M code
PUR 5 201-M6103-02S050 1 e
K = 2 Black 2
LY 10 201-M6103-02S100 ° 5 Black 2
N an o 4 Black 2
180T 2 202-M6103-02S020 FE Yellow Green /5%
/ PUR 5 202-M6103-02S050
9 10 202-M6103-02S100
B3 90° Al
2 203-M6103-02S020
/ PUR 5 203-M6103-02S050
e | 10 203-M6103-02S100
550 90° i
2 204-M6103-02S020

204-M6103-02S050

204-M6103-02S100

" 10




M12 M-Code FER=

MirF1E ZMEN
BR/MEHROREL 100 S/ REER Weas/ =
TP ER IP67 SEE K PA
1BMERE -40°C ~80°C Ayl ISYR HETER
XIEHRE 0.4Nm ZiE NBR
BRI 0.8Nm g@%ﬁ HE UL Vo

S LZMZEN
FERBE / FEBR 630VAC / 8A(6 Pin) LAIME MPPE
BE L EE 6kV(6 Pin) 1 UL ek UL 11029
E25E=-{ZE ) &/V 100MQ SLEHEmER 1.5mm? / 16AWG(6 Pin)
TEEFR 1] SEREME MPPE
BRER 3 FEAA VW-1/FT1

it EBIE 3kV/1min
RESHE
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking

B IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
NI UL 2238

ABEM

BAEMENESMIMBSEE, BAREERFRHETHAEERBEH ZEYF. NREZRFRYUENERSROEMN, NBHER

RIPER > IP54 WP SR HTH, EFEERRERL, B4 PCB A ERMRIRM,

M12 M-Code TR HEIRE
e s

BUE FBIE / B

Shy

L5 L5 A

=

EHAY

ars

faffm f
‘\/ M16x1.5
*
4ty LEMER
AR

= \/ M16x1.5
- / M16x1.5
.e:\..‘\/

M
6(5+PE)
690V / 8A
Nig P &g S
9 AN
EPI & 0.5m BBF
ms

218-M6100-0MSL50

219-M6100-0MSL50

AIEiE # 0.5m BF L

20
dio

220-M6100-0MSL50

221-M6100-0MSL50

BFAKEERRRENFERITH, wiliaid




M23 N-Code E#ZiEH2S

EREM 180° Qi HIFEM 90° Al

(65.0)

" _ W aR=|
Ww“”‘\“ ol — /1
1 gl 1174
Il '

M23 B SR A E SN TUEERAS S, TERTRHESEHEMNARENERDT -

W EEIEES, AEERT SR ESRNEERNNAE, AESEANERERSES, AT s/ swos

TL BN RN BT,

$26.6
M25*1
39.3

2.5
25.5

LEIMNT ¥ IR T S EERE ERI 6. 120 17, 19 SR ES|IHIKEE, e HEER HBIEIE A 180° B
BRI SERNNBEK.
68.50(Ref)
s
~ L)
=
M2 3*1 SW25 SW25
HEEFA 180° At HEIEMA 180° &

B{I: mm




M23 N-Code EIfisiEiE2E

B/ MERREL
TP ER
RIFRE
525 Y pa

EEBE / SUE B

BE AL EBE

BRI
HEBEFR

BRER

INIEARAE

EAEMENESMIMSEY, BARPEZFZHTHAEERMEH TR, MRERFRPUENERSROEN, NBHER

ki ES kS
100 S REEE
IP67 SHEEK
-40°C ~ 125°C SR
[E# i
PRMRELR , F& UL
94
B
630VAC / 30A(6 Pin)
BERR
200VAC / 8A (12 Pin)
200VAC / 8A (17 Pin)
ERSLER
48VAC (19 Pin) / 8A(¢p1.0mm?) & 10A(p1.5mm?)
78VDC (19 Pin) / 8A(¢p1.0mm?) & 10A(p1.5mm?)
6kV(6 Pin)
1.5kV(12, 17, 19 Pin)
&/\ 100MQ
1]
3
ESHE

UL1977 / UL2238 ( S S EIfs &2 )
AEEmM

RIFER > IP54 NP SR EHTH, EFERRRL, B4 PCB A ERMIRM.

SHE
HEaE /&
PA
Ha®
NBR
VO
“MEN
= 0.25mm? ~4.0mm?
55 0.08mm?2 ~1.0mm?
BRI 5.5mm’~17.0mm?
=5 3.0mm*~14.0mm?

M23 N-Code HB;E:ERE

i A E

BUEBE / BB

Ehy

&K
180° Al (JMBLL)

180° Qi ( JMERLY )

. i

&

251
®EH

IHFHER @ 2mm

BETEST

4ED
FYes
sk
e
EHEEART
EHEESHT
8%
IHF

FHIER QR F

ERELRE mm?

0.25-1.0
1.5-25

25-4

TFHI QIR F
0304-0304
0304-0305

0304-0306

N
6(5+PE)
630V/30A
%S
/3]0y
@@
Re
401-P0061
402-P0062
Se
426-P0061
@e
BT
0304-1304
0304-1305
0304-1306




M23 N-Code il Si& BB EIE2E

I FECE

BUEBE / B

El=

180° Al ( SMRLL )

137

4mha N N N
TER 12 17 19
200V/8A 200V/8A 78V/10A
NP S AP 8BS 2

4i4%
ImF ms
e
E,Ej%ﬂ% 401-S0123 401-S0173 401-S0193
N
e
EE%;?% 401-S0124 401-S0174 401-S0194
[Sies
E/@gﬁ% 402-S0123 402-S0173 402-S0193
/NI
Eﬁ%ﬁ% 402-S0124 402-S0174 402-S0194
(S

ERRFREIEAIERAEMEFRME, FIRMRE

BFATWVESURG SAMBREERTFRRHENRN 7/8" B EEETRRIIEE 2 =
6 MR FEIEE, RAFAIRM 600V/13A R, FRFI LB NIREBEIMN, 41 5P A
PROFIBUS / PROFINET, 4P 7y DeviceNet, ETi#RY 7/8" EfZiEZSS, seRAREMITHIRTIE
NiESERSNIER, AEP I MeEEMNARRNAFMIREHE, RUHRENERHSES
FKiRo

RN BBXRPERS, IETHTSARE, BOMFRLIEFTRAHEIR, BRI
FERTIRBAER, ERAETERS, ISIBFEETIREIFMAHKRE, EEITAE P68
PiirEd, FHRESENIFRRIP. —f PCB ARFEZSE, H—ARHMSHIPER, KM
TR EIEZ—, c €




7/8" A-Code &N EIZ i EIEEE

574 180° Aif

42.4

7/8"=16UN

7/8" A-Code H4& =t

it
B/NMERREL 100
PR IP68
-40°C ~ 105°C ( #HZEAEERE )
1RMERE S
-30°C ~ 105°C ( LA EhREE )
R 1.12 Nm
BSRE
600VAC / 13A (s3 Pin)
G smE | MEER 600VAC / 10A (4 Pin)
B600VAC / 8A (5 Pin)
B600VAC / 8A (6 Pin)
BE T EE 2.5kV
BEFEHT &)\ 100MQ
TEBEFR [
BRER 3
NI UL 2238

BEABMENESMIMBSE, BARPERFJHHETHAEERMEH TR, MREZBRYUENERSROEN, NWBHER

50 180° B

B30 00° F

Sk KEERE

SEHK | A5AE

FEHE

BYER

AMER, §G U

94

B4 MR

B4 UL 20
SAEBEER
SLLSME
FE#A

M B E

IESHE

ABEM

57.0 L

40.4

BAfiI: mm

MEZER
WeaE/ %
PVC /PVC

NBR
EHFEEER
VO
B
PVC, Yellow
TR
16AWG (<6 Pin)

PVC : STOOW

PvC
VW-1

NA

RIPEFLR > IP54 NP SFEHEH, EFZREREL, B4 PCB AHSARIRM.

imFECE

BNE FBIE / BB

25y
318 180° Ak
@

usen " g
{7
ol
g
. ’

#31h 180° B
@

uSTED

#550 90° ik
c@us — / o

uSTED

180° /Al +180° 31

oy

USTED

6

90° 131 + 90° B

uSTED

" 4

S

4 A
#

Shn

GLMB KE (m)

whD

OER

7/8" A-Code TR H

A
2

600V / 13A
AP S

2m 451-2000-0020

PVvC 5m 451-2000-0050
10m 451-2000-0100

2m 452-2000-0020

PVC 5m 452-2000-0050
10m 452-2000-0100

2m 453-2000-0020

PvC 5m 453-2000-0050
10m 453-2000-0100

2m 454-2000-0020

PVC 5m 454-2000-0050
10m 454-2000-0100

0.6m  456-2000-0L60

PVC 1.5m  456-2000-0015
3m 456-2000-0030

0.6m  459-2000-0L60

PVC 1.5m  459-2000-0015
3m 459-2000-0030

HHIAFHEBE cULus JAE

3

600V / 13A
AP BiES

451-3000-0020

451-3000-0050

451-3000-0100

452-3000-0020

452-3000-0050

452-3000-0100

453-3000-0020

453-3000-0050

453-3000-0100

454-3000-0020

454-3000-0050

454-3000-0100

456-3000-0L60

456-3000-0015

456-3000-0030

459-3000-0L60

459-3000-0015

459-3000-0030

A
4

600V / 10A
QWP BHS

s
451-4000-0020
451-4000-0050
451-4000-0100
452-4000-0020
452-4000-0050
452-4000-0100
453-4000-0020
453-4000-0050
453-4000-0100
454-4000-0020
454-4000-0050
454-4000-0100
456-4000-0L60
456-4000-0015
456-4000-0030
459-4000-0L60
459-4000-0015

459-4000-0030

A
5

600V / 8A
QWP BHS

451-5000-0020
451-5000-0050
451-5000-0100
452-5000-0020
452-5000-0050
452-5000-0100
453-5000-0020
453-5000-0050
453-5000-0100
454-5000-0020
454-5000-0050
454-5000-0100
456-5000-0L60
456-5000-0015
456-5000-0030
459-5000-0L60
459-5000-0015

459-5000-0030

A
6

600V / 8A
AP SIS

451-6000-0020

451-6000-0050

451-6000-0100

452-6000-0020

452-6000-0050

452-6000-0100

453-6000-0020

453-6000-0050

453-6000-0100

454-6000-0020

454-6000-0050

454-6000-0100

456-6000-0L60

456-6000-0015

456-6000-0030

459-6000-0L60

459-6000-0015

459-6000-0030

B miEERTE NS L KE ST RBENTERITH, WlEH




7/8" A-Code ERTEIZiEIEES 7/8" A-Code TR&HE R

E8iX ¥ 0.5m BBFL —— 413 A A A A A
U
R o PiYE 2 3 4 5 6
N2 i iHEE
33,1 L TMERE / BR 600V / 13A 600V / 13A 600V / 10A 600V / 8A 600V / 8A
15.9 NP BES QWP BHS QABP BES QWP &S QABP &S
/_J_T "/,/\T[\\\\ “’ /ﬂ_l‘\\\“ e ‘\\\ B 1
/) \ ) | )
E | W— T -
78160 \1/2"-14NPT JEHE 5 0.5m BT L
£ B E R ms
NG RE
Sl ke = cg%u N M"
I FHIYIIE S S&EE& § x 1/2"-14NPT 468-2006-0L50 468-3006-0L50 468-4006-0L50 468-5006-0L50 468-6006-0L50
g
5 SIRIERE
c
[ — — — —
P » P P = i 1/2"-14NPT  469-2006-0L50 469-3006-0L50 469-4006-0L50 469-5006-0L50 469-6006-0L50
& A code @W
1 White B 1 Green %4 1 Black £ 1 White B L
‘g 2 Black 2 2 Black £ 2 White B 2 Red £
£ 3 White B 3 Red 4 3 Green £% #H{EFHEBNF cULus SAE FrEF MBS LK E S KREBRENSERITH, KilE19
o 4 Green 4 4 Orange 1%
5 Black £
7/8" A-Code ERE
WSS HEER
BMERRER 100 SR | REER was/ e
MHiPER IP68 SRHIE PVC
BRIERE -40°C ~ 80°C INABR IR HESSREE  HASER
XY 1.12Nm ZiE NBR
1758 P
RITIE 1.5 Nm MRS, e UL vo
HSIFH LMEIN
600VAC / 13A (<3 Pin) LMY MPPE
G sE | REER 600VAC / 10A (4 Pin) it UL 2R MPPE : UL11029
600VAC / 8A (5 Pin) SARBEER 16AWG (<6 Pin)
600VAC / 8A (6 Pin) S&psME MPPE
BE L RE 2.5kV FE R VW-1
“ AT /)7 100MQ i EBIE NA
TEBEEFER I
TSRER 3
InESHE
INIEFRAE UL 2238
AEEmM

BEAFMENESMIMBSE, BARPEZFJEHETHAEERMEH TR, MREZRBRPENERSROEN, NWBHER
RIPEFL > IP54 BGIRS R HEE, EFZERERSE, B4 PCB A EMAIFM.

141 142




7/18" A-Code —f43{ PCB X EIfZiEIE2%

7/18" A-Code TRE#—¥ PCB ¥

180° thills1E  HisH, R W 455 A A
AR PCB Layout R 4 5
o o 6.60 ENERBE / B 600V / 10A 600V / 8A
| > -
5 A 2% P B S
o I A
: ol
5.80 4x91.65 /
- 180° FIEIT, TRk
S - -
§ 0 O eain Eha=
> 20 0 Q8%
§ AV 2
s 4P 5P
o A-code
a{ \ 1/2"-14NPT 476-4000-8 476-5000-8
(S PCB Layout a
31.60 Qg L6 LIRSS iR
3.50 : | Sl # .
— s <l\al &7 1/2"-14NPT 477-4000-8 477-5000-8
I a 5.80 4491.65 9914 ’% '
[ 1 e
g 4@ @1 5@ @1
SR Q&9
“““ L E 4P 5P
7/8"=16UNF & A-code
7/8" A-Code —f43{ PCB T
Wit HEER
B/MERREL 100 S/ REER e/ &
DakiaE 2 IP68 SEHIE PVC
BRIERE -40°C ~ 105°C av-: L3S FRIN BRNAEER / FETERE
pOEETiN ] 1.12Nm BB [EHEFESER
MEL | FE
12EAR Y g%k\%,& , f7& UL VO
HBSFE LA
. 600VAC / 10A (4 Pin)
HERE [ SUEBM
600VAC / 8A (5 Pin)
BE PEHEBE 2.5kV (<6 Pin)
ez /v 100MQ
TEEEER Il
BRELR 3
InESHE
INEATE UL 2238
AERM

BAEMENESMIMBE, BARDEZFRAETHAEERBEH ZE . MREZRBRYENBRSRIEMN, NBHAER
RIPEL > IP54 PR ERHEH, EEERRERLE, B4%% PCB A ERMRIFM.




PERE PEE

SN B L=/ TR LR IR TR IER
REITIT 1
BfHte | BB S 4/6/8 MEHEEEERE @

L

o0 _
oo ©°
o0
LY

M12 A-Code E31E58

FrE M12 A-Code 5 153 EE
4 |EC 61076-2-101 i& Tk

7 A

®®

[90®
1o
I
I

AR

£ TM-R PR, IRIER(ERE

146.5

® ®
3 AO)(OA 4
PO

151.5

121.5
126.5

d  Jjid  Jgd Jfd ]

( PR i ENPS s SIS s B s
ETE T

o Jid Jgd JEe ]

O LA MY) @)

(O (0 —"0)(0—"0) =7

@ @ @ @

o Jid Jgd Jfd

P e B s B s NP mn |
o/ HEI:HEI:HEI:HE(:IHW

96.5

101.5

& PUR/PVC, RXIERITAVIFIE T i

FCE™m 0 O
it WM KE (m) mes i) WEMBR  KE (m) ms
M12- &35 180° A 2 201-A5000-00S020  M12- #if 90° Al 2 203-A5000-00S020 R3S
PUR 5 201-A5000-00S050 PUR 5 203-A5000-00S050
10 201-A5000-00S100 10 203-A5000-00S100
< 2 201-A5000-20S020 ‘ 2 203-A5000-208020 fLf 110 HRFITHIFERVIRLR, DERETIREF 4/6/8 MER SERBIA K chB &R, HHE
PVC 5 201-A5000-20S050 PVC 5 203-A5000-20S050 NS, N AT B 3 [ s o i b e 3L
10 201 75000205100 15 205-A5000.205100 LED 1RUIRESHHR LUESEHPR, T KM RELLEIZNIG, HiRSEFNEH.
M12-180° 23 + 180° B 0.6  206-A5000-00SL60 M12 - 90° /Al + 90° it 0.6  209-A5000-00SL60
PUR 15  206-A5000-00S015 PUR 15 209-A5000-00S015
, 3 206-A5000-00S030 3 209-A5000-00S030
0.6  206-A5000-20SL60 ? 0.6  209-A5000-20SL60 -
. . T / PVC 15  209-A5000-20S015 Hmhas
3 206-A5000-20S030 o 3 209-A5000-20S030 co=a(= ]I
M12-180° 23 + 90° s 0.6  212-A5000-00SL60 M12-90° Al + 180° S 0.6  214-A5000-00SL60 Ak co=II
PUR 15  212-A5000-00S015 PUR 15  214-A5000-00S015 BCFRfl / 2iblA8
3 212-A5000-00S030 / 3 214-A5000-00S030 PLC&IO i
p 0.6  212-A5000-20SL60 0.6  214-A5000-20SL60
o PVC 15  212-A5000-20S015 s ( PVC 15  214-A5000-20S015 -
3 212-A5000-20S030 a 3 214-A5000-20S030 -
M12- 3450 Y =38 M12-Y B=sEiEsk ‘
PUR 015  222-A5530-00SL15 = i
> - _.- .- - _.- . -
PVC 015  222-A5530-20SL15 ® 224-2A5100 e PESECRS)
\ ) ® 0 0 @ RAES
M23 - L IRARRIERE N B e M12 - fRiFE S T =
7S 12 g 402-S0124 -~
§
Q g . ' 200-A002 HoD
19 @ = 402-50194 =
HILENH 2s FiRATTAR =R (mm) 2 ] )
. ol
. 7.4 TM-R100 )
et TMP-004 _ -
] 9.8 TM-R200




PE=E
HETVER

LESRMNIMGREDE, TRAGEBITHLLEKE, TN ta
A E RENEL e
g BiEE W EE
57 v il 1HIgEE 4 6 8 4 6 8
KE (m) ms
PUR 5 953-04P-0050 953-06P-0050 953-08P-0050 954-04P-0050 954-06P-0050 954-08P-0050
PUR 10 953-04P-0100 953-06P-0100 953-08P-0100 954-04P-0100 954-06P-0100 954-08P-0100
PVC 5 953-04P-3050 953-06P-3050 953-08P-3050 954-04P-3050 954-06P-3050 954-08P-3050
PVC 10 953-04P-3100 953-06P-3100 953-08P-3100 954-04P-3100 954-06P-3100 954-08P-3100
—RRZM
HEEFR M12 A-Code FLEiE SR =20 %
REET HIR: E6LED, /OES: &6 LED BSE3 PNP
B{EBE -25~80°C DapiakE=274 IP68
B8
TEBE 24 VDC BEUERR 12A
BERRENEAER 2A EMEENRAHR 4A
BAER
ST 7 10 12 11 15 19

5754k

T M23 $HiR T iEE

4 x0.34mm?® 4 x0.34mm? 4 x 0.34mm
3x0.75mm?  6x0.75mm?>  8x0.75mm

ERTHEMEER R ERNERNXE,
BARNERBETERS %,

HRER T

. _
REER

HREERZ T
KSR
RIFRE

BEBE

BEBRENEATER
M23 SRR

147

BIBE
4 6 8
951-04P 951-06P 951-08P
—BRAR

M12 A-Code FLTIEHEES
BJR: $f®LED, /0S5 &®LED
-25 ~ 80°C
BSSHK
24 VDC
2A
12

2 8x05mm?>  12x0.5mm? 16 x 0.5mm?

2

3 x 1mm? 3 x 1mm? 3 x 1mm?

t" o
- n
T S
GEIE
4 6 8
ms
952-04P 952-06P 952-08P

Rk ¥
SSRE PNP
BHIPER IP68
REERER 12A
FMEENRKER 4A
M23 EEeE O F 19

BTt TAl@ R mIiz 24 ( CC-Link, DeviceNet / CANopen, Profibus DP ) F14&3@&1H ( Profinet,
Ethernet, EtherCAT5 ) YR T M12 EiZ2EXA N , EFZIMERBIGITMBLEKE, FMNAIHET

Ak Bah b RGBS KAV E R B mh a8 B>

, MM&Z 2R TIIFERNMZERE. KiNSHET

AR LR RS T A& &M D@ MR RIFHIFRAME MR, iR IP67 FiirEhERHEME
WIBH T, AN FBRE T EREREZSE, AIESIBEEE T RENRARE, EEHES
IP68 [hiFER, HIRESENIFERIP, Uk—4 PCB A ERESE, EANRESE, MARRHEY

FRVESMEREMMANY, EEESMIUIRERER,

Tu&ERE

Ethernet
CAT5e

PROFINET
CAT5

MLRIEF

Ethernet
CAT5
EtherNet/IP

Ethernet
CAT6A

CC-Link

DeviceNet

NF L& CANopen

PROFIBUS
DP

B8

PR TAVIFIR

TR,
e

T B AL T HEf R

W, BENASERGIEFR
&

RN A,
Bt EF SRR

BRtUERAUNSEREE
BXP

S HIRREANRY DRl
I1/0%&

£ SRS

=&=2 1 Gbps

100 Mbps & 1Gbps

=2 100 Mbps

| 10 Gbps

o
o
i

I [

&=%I 10 Mbps

DeviceNet:
= 2l 500kbaud

Canopen:
10 kbaud Z 1 Mbaud

== 2] 12 Mbps

I F 5 3 T E

SuaEe  |(KRAS

W SLme KEAS

1 #YE TD+
2 | AWH RD+
3 | #oG TD-
4 | BEBU RD-

WF S&EE KRN
B WHOG] TD+
E142 WHGN RD+

3 |#oG TD-

4 426N RD-
BB FF & Shield on housing

Bl WHOG

% oG

E43 WHGN

#G6N

E1i% WHBN

HRWHBN

B WHBU

wF Er ) KA
1| B Shield SLD
2 B WH DS
3 |®mye DG
4 |su_ I oA

#w7| ssme | nwmns

R Shield Drain
41 RD V4
R BK V-

Bl WH CAN_H
% BU CAN_L

R#TFF{ Shield on housing

NI EARENE P

#7 | ssme |nwms

B GN Acable

a|afw|n|-

£ RD Bcable
Flexible filler
F 7% Shield on housing




M12 A-Code W4T EIcEI%SS - TIPS

O ~—
| &, 49.8 L .
s = ‘
= : i |
SW13

180° Al + 180° Bk

L 46.2 &~

35 180° &%

—

Lo
< & L N
sl =
) |
|
B3h 90° B
L
o~ Y
e
[@N]
BiI: mm
180° A% + 180° Al
49.8 L 49.8 ]2

49.8 L 322

M12 A-Code 4T - TALMSK

Ethernet

TAVLEIE
Ethernet
SREE
iz zksaEESill Ethernet CAT5e (1 Gbps)
[yt A
TER 8
M R PUR
IMEERE K (RAL 5021)
SMEER 6.0+ 0.3 mm
BRIEBESTEE -40°C ~ +80 °C
; N AL-mylar, tinned copper braided
R shield
S&MR Stranded bare copper
SHKAR AWG 26AWG
. B/E, %5 8/%, %, 8/%,%
E.Q il ) ) ) ) 3 I}
SEEE e
SKEZEER 0.92 + 0.05 mm
SERAKERER < 148 Q/km
ISO/IEC 11801
SEMNE UL 1581
UL 758
UL AWM FZ= 20963
REAA It IEC 60332-1, FT2

DeviceNet / CANopen CC-Link

Devicei'et

CANopen CC'Link

CANopen® DeviceNet™ CC-Link (10 Mbps)
A A
5 4
PUR PVC
%6 ae
6.6 £ 0.3 mm 7.0£0.3 mm
-40°C ~+80 °C -40 °C ~ +80 °C

AL-mylar, tinned copper braided = AL-Foil, tin-plated copper braided
shield shield

Stranded tinned copper Stranded bare copper

2 x 22AWG + 2 x 24AWG 1 x 22AWG + 3 x 20AWG

22AWG: B, & -
24AWG: 41, B 5.5
24AWG: 1.9 £ 0.05 mm 95401 mm

22AWG: 1.4 + 0.05 mm

22AWG: < 57.4 Q/km

24AWG: < 91.8 Q/km 37.8 QO/km(@20 °C)

UL 1581 IEC 61158-2
UL 758 -
21329 -

IEC 60332-1, FT2 IEC 60332-1




M12 A-Code BT - M&EIN

‘mhg
RN %
il P
gﬁf@%&/ B
N
Witk R
BRWE
251 KE (m)
%1_ 180° it 2
v
‘ 10
38 180° B 2
5
S 10
% 90° Nk 2

A

10
2318 90° B 2
© :
’I 5
' 10
N ° i
180° iim + 180° B 0.6
@
% l r 1.5
,‘f 3
°/\\*“-' <’/\‘*“-I
180° Qi + 180° 0.6
©

1.5

&~ -~

AR

A
8
30V /2A

PUR

Ethernet CAT5e (1Gbps)

ms
251-A8000-0ES020
251-A8000-0ES050
251-A8000-0ES100
252-A8000-0ES020
252-A8000-0ES050
252-A8000-0ES100
253-A8000-0ES020
253-A8000-0ES050
253-A8000-0ES100
254-A8000-0ES020
254-A8000-0ES050
254-A8000-0ES100
256-A8000-0ESL60
256-A8000-0ES015
256-A8000-0ES030
257-A8000-0ESL60
257-A8000-0ES015

257-A8000-0ES030

BAKRILE e (PoE)

180° Qi + 180° B

© '
% 4 25
I
180° 23 + 180° Al
©
25

256-A8000-0EP250

257-A8000-0EP250

FRE P mBVE RS NS 4 K E B e RIRIGHIFERITH,

XRG I

M12 A-Code RiEHET - MHEL

i FECE

UE FBIE / HR

Shn

CAESZ YN
BHHE

L5

%1_ 180° NimiEiEsS

e d

510 180° BHERERS

o

817 90° B}

® o
18 o“n +180°!ﬁ
90°2§%+90°\*

‘""o'

12233

i

%
&

<

1\ 4_

&

mi
OER

KE (m)

10

0.6

1.5

0.6

1.5

250V / 4A

i P BiF S

10 O
O O3

PVC

CC-Link

251-A4000-2CS020

251-A4000-2CS050

251-A4000-2CS100

252-A4000-2CS020

252-A4000-2CS050

252-A4000-2CS100

253-A4000-2CS020

253-A4000-2CS050

253-A4000-2CS100

254-A4000-2CS020

254-A4000-2CS050

254-A4000-2CS100

256-A4000-2CSL60

256-A4000-2CS015

256-A4000-2CS030

259-A4000-2CSL60

259-A4000-2CS015

259-A4000-2CS030

PR MBS, A A K E BRI ERRENFRITHE, XK

/ \a.u.u

=i
dio

A
5
60V / 4A

PUR

DeviceNet
CANopen

251-A5000-0DS020
251-A5000-0DS050
251-A5000-0DS100
252-A5000-0DS020
252-A5000-0DS050
252-A5000-0DS100
253-A5000-0DS020
253-A5000-0DS050
253-A5000-0DS100
254-A5000-0DS020
254-A5000-0DS050
254-A5000-0DS100
256-A5000-0DSL60
256-A5000-0DS015
256-A5000-0DS030
259-A5000-0DSL60
259-A5000-0DS015

259-A5000-0DS030

S s

o
‘O O3

piibzeyi)




M12 A-Code EIRT Bz %S - TS M12 A-Code HERT - TALMIL

Ethernet DeviceNet / CANopen
Gz % 2m PUR 4i4%
YN EG

SIRIERE
38.50 L 38.50 L

T —H s TR IHE
| > | ! |
[(aN

J |
~—. ; | |
/S M12*1/ /I K
SW17 SW19 SW19

CC-Link

)

M16*1.5

SW17 Devicei'et
Ethernet CANopen
Fifit # 2m PUR 44
AlmiEEE iR WA
fe)
?g iz zksaEESill Ethernet CAT5e (1 Gbps) CANopen® DeviceNet™ CC-Link (10 Mbps)
= BA R A A A
PiE 8 5 4
SR R PUR PUR PVC
IMEERE K (RAL 5021) e A=)
HMEER 6.0+ 0.3 mm 6.6 + 0.3 mm 7.0+ 0.3 mm
BRIFRESEE -40 °C ~ +80 °C -40 °C ~ +80 °C -40 °C ~ +80 °C
RS AL-mylar, tinnsicijeclz(;)pper braided = AL-mylar, tinned copper braided = AL-Foil, tin-plated copper braided

shield shield
SLEM R Stranded bare copper Stranded tinned copper Stranded bare copper

SHBAR AWG 26AWG 2 X 22AWG + 2 x 24AWG 1 x 22AWG + 3 x 20AWG
: B/, K 8/%,%, 8B/%,% 22AWG: B , &
=¥ il ] I I ) ) ) ) hrd
TJ'—&EJ\@; E/*«?,ﬁ 24AWG2I,% E,m,ﬁ
. 24AWG: 1.9 + 0.05 mm
=92 VEy=h==p=d
SKHEEER 0.92 + 0.05 mm 99AWG- 14 £ 0.05 mm 2.2+0.1 mm
. . 22AWG: < 57.4 Q/km
=2 =] 32 — o
SERAREMRBER < 148 Q/km SAAWG: <918 O/km 37.8 Q/km(@20 °C)

IEC 61076-2-101 IEC 61076-2-101 IEC 61076-2-101

SEIE IEC 60512 IEC 60512 IEC 60512
IEC 60529 IEC 60529 IEC 60529
ULAWM % UL 2238 UL 2238 UL 2238
REATI I ) VO VO




M12 A-Code RRREIRTC - M&EEIN

M12 A-Code RREIRT - MIH2LE

YmhD A Ymig A
inFECE ImFEcE
L 8 P3¢ 4 5
WERE/ BR 30V /2A BERBE /| BR 250V / 4A 60V / 4A
AP i S AP % S AP i S
Ehn ACFCA 2hn N fole), ﬁ% 100t
©8@3 ole; \K:y/ 0708
UL M TR PUR k57 ol PVC PUR
R . DeviceNet
Tb@iRhE CC-Link
BAME Ethernet CAT5e (1Gbps) \ CANopen
B8z & 2m 4tk
EB # 2m 4itk EH Bl oo
Z EIRLY ans
20 Efal e :
© NURIEE
/ M16 x 1.5 268-A8000-1ES020 / M16 x 1.5 268-A4000-3CS020 268-A5000-1DS020
‘v} Pg9 268-A8002-1ES020
Pg9 268-A4002-3CS020 268-A5002-1DS020
® SiREE
f M16 x 1.5 269-A8000-1ES020
AN M16 x 1.5 269-A4000-3CS020 269-A5000-1DS020
Pg9 269-A8002-1ES020 o o
#
AR 1 2m 44 .:‘
= RIS # 2m 445 — Pg9 269-A4002-3CS020 269-A5002-1DS020
2 A & E 1R ons
NI
M16 x 1.5 270-A8000-1ES020 APzt & 2m 404k
s’% L5 BEEEL S
s ,x et
‘ﬂ' _ Pg9 270-A8002-1ES020 LIRHEE
% M16 x 1.5 270-A4000-3CS020 270-A5000-1DS020
© BIERE -
M16 x 1.5 271-A8000-1ES020 ﬁx -
= ' A “:gﬁ
5 ¢ . . é Pg9 270-A4000-3CS020 270-A5002-1DS020
M Pgo 271-A8002-1ES020

FREF MBS NS 4 K E B RRIEHNFERITH, Yoliais

M16 x 1.5 271-A4000-3CS020 271-A5000-1DS020

Pg9 271-A4002-3CS020 271-A5002-1DS020

FREF MBS NS 4 K E B ARIEHNFERITH, Yoliais




M12 A-Code —{§3{ PCB X EsiEiEss - TIL RIS

180° iRl A BIBITV FRFik

AImihEE

Tk
I

M12+1
wu
=
© =
w
=
~

0
%
Flae
Sl T =
™~
=
BimiHE
17.60 5.00
3.00
* |
M1 2%1 -

(PGO9)
M16*1.5]
w)
=
(o]
w)
=
~

920.90

157

Pin out

Pin arrangement

Pin out

Pin arrangement

PCB Layout
95
ARV
$5.0
o O
4P
A-code
PCB Layout
e
E/%}/Q
o O
4O O3
4P
A-code

2453

BroL.

2.

3 8120
iﬁi
.
U

/o

(N

6o o7
o
504

8P

M12 A-Code —f§3, PCB & - TR

B/ MEHRREL
DI ak-274
RERE
YRR
1FES

BUREFBE / BUE B

AL EBE

MR

HEBEFE

BRER

ang -3

INIEAT

i

100
IP67
-40°C ~ 80°C
0.4 Nm
RIEIE
B
250VAC / 4A (<4 Pin)
30VAC / 2A (8 Pin)
2.5kV (<4 Pin)
0.8kV (8 Pin)
&/\ 100MQ
Il
3

Sk I REEE
SHRHE
NERE /R
BNER

PRIAELR , f5& UL
94

mESHE

RRZER
Has/ &
PA
HELHD BPSLHR
NBR

VO

&AM

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking
IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring

methods

IEC 60529: Degree of protection provided by enclosures (IP Code)

UL 2238 / UL2237

AREB

BXIMENBSMVMSE, BIARIPEZRSZBTHASERMEHRES. MREEBRPENERISROER, NBHER

RIFFR > IP54 MR R R HEH, EFZRERL, B4 PCB AMFERMAIR M,




M12 A-Code Fik—14z( PCB U - M4ZiBif

YRhg
InFECE
TER
KERBE/ B
EShn
B E
£EH B EHREL
NG
© M16 X 1.5
£
JJh
b Pg9
© i1
M16 X 1.5
£

Qf Pg9

M12 A-Code F#—14l PCB 3\ - A E L%

Ymha
in FECE
L
FERE / B
&=
BHIDE
25t EIELRN
® NURIEE
- M16 X 1.5
J"ﬂﬂ .\\ 1/"-: \?'Q:
¢ &
© S3TEHES
. _ M16 X 1.5
s> B
Pg9

8
30V /2A
R P
Ethernet CAT5e
180° Fighzt Bk
ms
276-A8000-E
276-A8002-E
277-A8000-E
277-A8002-E
A
4
60V / 4A
Nig P iR S
v 10 O2
4@ ©3
CC-Link
180° HI Bzt Bk
ms
276-A4000-C
276-A4002-C
277-A4000-C
277-A4002-C

i S

oy 0
o 9
Q08

5

60V / 4A
NP Bi% S

10 5 O2
O
0 O3

DeviceNet/CANopen

276-A5000-D
276-A5002-D
277-A5000-D

277-A5002-D

M12 B-Code kU EAsEIEZS - TIPS

180° Al + 180° B

£115 180° B

350 90° Bin

2 46.2 L N
ol =
1
ﬂ%m i N
SW13

28.2

180° Qi + 180° A

BA{: mm

E




M12 B-Code 43t - TS

T RE I E

LR EE

ksl
Bo&4Rig
P
SMEAA B
IMEERE
IMEER
BERETEE
=30 Vo
SR
SLLRE AWG
SLEE
SEBGERER
SE&EARERBMN

BEITE

UL AWM FZ=t

BEGAT

PROFIBUS

Profibus DP (12 Mbps)
B
5
PUR
RE
7.8+0.2mm

-40 °C ~+80 °C

PROFI
BJU]S

AL-mylar, tinned copper braided shield

Stranded tinned copper
22AWG
&, 41
27+0.1mm
59.4 Q/km(@20 °C)
IEC 61158-2

UL 758

20233

VW-1

M12 B-Code RifiH&ET - MiH S L%

i FECE

BNE FBIE / BB

Shn

kS 7 YN
BHHE

L5 0
® 17 180° QiHERESR

P

515 180° BinZEESR

©

a ﬁ

B35 90° AlmiEkEs
©

9

i) 90° FIkEIRER

©
&
180° A + 180° B
e
a ’

90° R + 90° Bk

©

A

&

L
OER

KE (m)

10
0.6

1.5

0.6

1.5

A mpEERTE NS L KE ST RBENTERITH, WDEH

B
5
250V / 4A

PUR

Profibus

[ =]
ARS

251-B5000-0BS020

251-B5000-0BS050

251-B5000-0BS100

252-B5000-0BS020

252-B5000-0BS050

252-B5000-0BS100

253-B5000-0BS020

253-B5000-0BS050

253-B5000-0BS100

254-B5000-0BS020

254-B5000-0BS050

254-B5000-0BS100

256-B5000-0BSL60

256-B5000-0BS015

256-B5000-0BS030

259-B5000-0BSL60

259-B5000-0BS015

259-B5000-0BS030




M12 B-Code EIRTUEAsEIESS - TIALMSK

M12 B-Code EtRT - TAkM4E
BT ¥ 2m PUR 4i4% PROFIBUS
YN SaT
38.50 L 38.50 L ,
e g s o A
o | * " |
S5 < |l oY i TV L& E
== =1 Ui jm: L el || |} } |
=y [/ x
/N M12*1 / J\ googy’
SW17 SW19
SW17 SW19 JEE
Figizt ¥ 2m PUR 4%
IR
38.10 L
17.60 EARES 2
iz zksaeEill Profibus DP (12 Mbps)
o &4mg B
TER 5
Mg R PUR
IMEERE Ec]
IMEER 7.8+0.2mm
1R EREEE -40 °C ~ +80 °C
=20 ks AL-mylar, tinned copper braided shield
SE&MR Stranded tinned copper
FLLERT AWG 22AWG
SLae R, 40
S&pmEREER 2.7+0.1 mm
SLRAEMRBER 59.4 Q/km(@20 °C)
IEC 61158-2
SERE UL 758
UL AWM Fz=t 20233
FEGRIM VW-1




M12 B-Code RixmEiRI - MiH 2 L% M12 B-Code —f4 = PCB Bz iEE2E - TALMIL

o Rt3 B 180° A M miPizX Bk
nfECE -
L S YNz PCB Layout
WERE/ BR 250V / 4A
/Aﬁ =) ﬁ#’ﬁ s 21.00, ‘ 3§b%o §
. 3.00 £
AR flo){e) o
400'03
0 swi7 ‘g
YA PUR 8% £
o L= &
8 = s
T @ERhE Profibus = § 5
a B-cod
Eiﬁiﬁ W 2m code
23| [E E B ms
YN 2] iR PCB Layout
® M16 x 1.5 268-B5000-1BS020
17.60 5.00
: M12%1 3.00 -
" £
o o
’ Pg9 268-B5002-1BS020 m
Bl i EE ggésmg/ Sw17 é
S| = g
M16 x 1.5 269-B5000-1BS020 N % N
© g
c 5P
o / a B-code
./} Pg9 269-B5002-1BS020
EIE G
51 [E BB ms
YN 2]
9 / M16 x 1.5 270-B5000-1BS020
Pg9 270-B5002-1BS020
i REE
M16 x 1.5 271-B5000-1BS020
© /
;;ﬁi
.“‘“- Pg9 271-B5002-1BS020

FREF mBERSRT ML KE BT KREHNFRITH, Yliais




M12 B-Code —f4 = PCB R - TS

M12 B-Code Rifr—{#3l PCB 1 - IiHE 4%

M HEER —— g B
B/ MERREL 100 S/ REER HaE /& D 5
PP SR IP67 SEHF PA EBE/BR 30V / 2A
Y/ \f-“-' iLu.u
BIERE -40°C ~ 80°C Ay ASIEIS HASEE / HRASER il S
w535 0.4 Nm BUER NBR o 282
oyo
N RER TS
et it MRS, f5a UL V0
B LMAEIN BIRHE Profibus
BERBE / FERR 60VAC / 4A (5 Pin) 180° MBI Rk
1.5kV (5 Pin) 1.5kV (5 Pin) 41 [E] EHRLY ms
JN\GEEE
LRI ]\ 100MQ g  waE
M16 X 1.5 276-B5000-B
T ESS —
SEEER | y . x
ERER 3 .
RESHE Pg9 276-B5002-B
IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking BHimiERE
19IHInE IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring © M16 X 1.5 277-B5000-B
methods s W,
IEC 60529: Degree of protection provided by enclosures (IP Code) .r\ :
TAIEAR Y L22 L2237
INEARAE UL 2238 / UL223 _— Pg9 277-B5002-B
EEHm

BEABMENRSMIMBSE, BARPERFEBTHAEERMEH TR, MREZBRPENERSROEN, NBHER
RIFEFLR > IP54 HBGIR SR HEH, EFZRERE, B4 PCB A EMAIF M.

167



M12 D-Code HLkT\EIF % %2E - T M4

LO| ~—
< | &y 49.8 L _
=

SWT3

180° A + 180° B

30 180° B

o
<
1S\

28.2

B mm

180° Al + 180° Nify

180° Qi + 90° A

M12 D-Code 4=\ - TALFISR

TV L& E

SiLLEmE

Rt ESER)
[yt
R
SMmAA R
SMRERE
SMRER
BIFRESEE
R
S&ME
SL&LIE AWG
S4&HE
SABRSEER

S&EARERER

SEE

UL AWM Fe=t

FELAA 5t

Profinet

PROFINET (100 Mbps)
D
4
PVC
3z
6.5+£0.2mm

-40°C~+80°C

AL-Foil, tin-plated copper
braided shield

Stranded tinned copper
22 AWG
H. 8,5,
1.5+0.1 mm
59.4 Q / km (@20 °C)
IEC 61156-6
ISO /IEC 11801
UL 758
21694

IEC 60332-1, FT2

Ethernet

Ethernet

Ethernet CAT5 (100 Mbps)
D
4
PUR
KIER
6.0 £ 0.25 mm

-40 °C ~ +80 °C

AL-mylar, tinned copper
braided shield

Stranded bare copper
26 AWG
B/#%.%, B/4%, %
0.9+£0.05mm
<148 Q/km
ISO / IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2

170




M12 D-Code R4kl - M@ M12 D-Code EIRUEIAsEIEZS - TIPS

YRig D D

171

FREF MBS NS 4 K E B RIRIEHFERITH], Yoliais

7 e a8 # 2m PUR 454
R 4 4 N B e
YN A B} v i B2
MEBE /| B 250V / 4A 30V / 2A 38.50 L 58.50 L
Al P i S NP i S -
=hx 35 e 7. e o e - ==l
b «o\OF ot 10\/OF @;— "\”.“ B 8‘_‘ B ||
R & ©f —| ||| | X
Ys IR PVC PUR —= = Ll i 9;9 ] H \\ |
N . E -
BRE Profinet (100Mbps) Ethernet CAT5 (100Mbps) /1‘ L{\ V191 £
#5549 KE (m) mS SW17 SW19
55 180° A SW17/ SW19
2 251-D4000-2PS020 251-D4000-0ES020
O] -'
' ' 5 251-D4000-2PS050 251-D4000-0ES050
Ew3 - [
® % 10 251-D4000-2PS100 251-D4000-0ES100 AIBITL 7 2m PUR 4%
1 180° B (S92
%" S _ 2 252-D4000-2PS020 252-D4000-0ES020 38.10
; 17.60
5 252-D4000-2PS050 252-D4000-0ES050
a o
3 10 252-D4000-2PS100 252-D4000-0ES100 .
O o
1 90° A a —
3" o 2 253-D4000-2PS020 253-D4000-0ES020 =
¢ 5 253-D4000-2PS050 253-D4000-0ES050
S | P 10 253-D4000-2PS100 253-D4000-0ES100
111 90° &
z" 8 2 254-D4000-2PS020 254-D4000-0ES020
¢ v 5 254-D4000-2PS050 254-D4000-0ES050
& & 10 254-D4000-2PS100 254-D4000-0ES100
180° Al + 180° &
i+ 18028 0.6 256-D4000-2PSL60 256-D4000-0ESL60
o
% % 15 256-D4000-2PS015 256-D4000-0ES015
‘¢ ‘¢ 3 256-D4000-2PS030 256-D4000-0ES030
180° A% + 180° Ak
% amr S . 0.6 257-D4000-2PSL60 257-D4000-0ESL60
% ’ % ' 15 257-D4000-2PS015 257-D4000-0ES015
. ' . ’ 3 257-D4000-2PS030 257-D4000-0ES030
BAKRILE{HEE (PoE)
180° Al + 180° i
. ’ . 2 e 25 256-D4000-2PP250 256-D4000-0EP250
a ’ a ‘
180° Al + 180° Al
" e
% % 25 257-D4000-2PP250 257-D4000-0EP250
% I %




M12 D-Code E1RI{ - TIPSR

TV LB IHE

GABIE

SRR
[Gy=p i
K
SMBAA R
SMRERE
SMRER
1REREEE
Rk
SLEM R
SEARE AWG
SL&He
SABSEER

SARAERER

SEE

UL AWM F2

BELAA

173

Profinet

Profinet (100 Mbps)

D
4
PVC
£2t8 (RAL 6008)
6.5+£0.2mm
-40°C~+80°C
AL-Foil, tin-plated copper braided shield
Stranded tinned copper
22AWG
H. &, %,%
1.5+0.1 mm
59.4 Q/km(@20 °C)
IEC 61156-6
ISO/IEC 11801
UL 758
21694

IEC 60332-1, FT2

Ethernet

Ethernet

Ethernet CAT5 (100 Mbps)
D
4
PUR
KIEEE (RAL 5021)
6.0 £ 0.3 mm
-40°C~+80°C
AL-mylar, tinned copper braided shield
Stranded bare copper
26AWG
H/#%.% B/4%,%
0.9 £0.05 mm
<148 Q/km
ISO/IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2

M12 D-Code RimEIRT - P&

I FECE

NURTEEE

BNE FBIE / BB

&=

L2752 % o

BRIDE

2 0]

4mha D
L 4
250V / 4A
Rl P i S
r i 1 2
\ ‘o\of
PVC
Profinet (100Mbps)
B 2m 4%
EIEIRLN

,} M16 x 1.5

Pg9

FimiaERE . ”
© - i M16 x 1.5
il ]

-
e
o

oY

Pg9

268-D4000-3PS020

268-D4002-3PS020

269-D4000-3PS020

269-D4002-3PS020

FIEiTt 2m itk

[E] 7 SR

M16 x 1.5

Pg9

SRR ‘
/y M16 x 1.5

@ o
Ay

Pg9

270-D4000-3PS020

270-D4002-3PS020

271-D4000-3PS020

271-D4002-3PS020

FrEF M ERSRT NS L KE SRR

D
4
30V /4A
R P Bif S

; B
%
R
OQ,@
0

PUR

Ethernet CAT5 (100Mbps)

ms
268-D4000-1ES020
268-D4002-1ES020
269-D4000-1ES020
269-D4002-1ES020
s

270-D4000-1ES020

270-D4002-1ES020

271-D4000-1ES020

271-D4002-1ES020

IRRITH, FEH

174




M12 D-Code —f43{ PCB X EsiEIEsS - TI MK M12 D-Code Rifr—{#3{ PCB 1 - 4@

180° HilA M migit FRk - YFg D D
Nt PCB Layout K 4 4
; EERE / BR 60V / 4A 60V / 4A
21.00 5.00 ‘g’ N p BiEs N p B S
il Tﬁ o EHhn e oNo ° o 00
i T = ' é% \ 5%
14 HW\M
€
T ] XN\
R w/ sw17 §, 110 ) ‘iR thE PROFINET Ethernet CAT5e
5 EL £ N
o= g - 180° RISTN Bk
£
& D- code £ B EIREX ms
Z\JEAE R
ST PCB Layout S ATHIBE
; i M16 X 1.5 276-D4000-P 276-D4000-E
17.6Q 5.00 Q;»q:[[ -~ \\/ :f.#:\\{
| 3 el & &
< ‘ £ LS Pg9 276-D4002-P 276-D4002-E
] [m - IR AAN
5 - BRI
o 85| swig W17 2 © M16 X 1.5 277-D4000-P 277-D4000-E
D= [ T 2
g = 2 oo 2% SN
s g * o,
© 4P
& D- code Q Q Pg9 277-D4002-P 277-D4002-E
M12 D-Code —f4 = PCB 3 - TIFFI%g
MtF1E AR
B MEHROREL 100 Sk REER wee /&
Vap a2 IP67 SEHM PA
BIERE -40°C ~ 80°C INARBE /T HETHER  SRASER
T EiFHFE 0.4 Nm BN ER NBR
. . R é "'\"'A
R iR MRS, e UL Vo
HSIFY LA
XEBE / KERM 250VAC / 4A (4 Pin)
BE A THEBE 2.5kV (<4 Pin)
etz E =/ 100MQ
TEEER Il
TSRER 3
InESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking

EITHRE IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEAR A UL 2238 / UL2237
ARED

EAEMENESMIMBSE, BARPERFRHEFTHAEERBMEA TR, MRERFRIUENERSROEN, NBHER
RIFER > IP54 MBS EHTH, EFERERLE, B4 PCB A ERMIRM,

175 176



M12 X-Code W& Bz EIZ2S - TIPS

BAYH 180° Al Bh 180° B
o _
<5 49.8 L 2 & L N
g ! 1 ! | | ) |
SW13
BAYH 90° Nit B35 90° &
320 L
N j
(v@)
[@N]
Il M12*1
0145

180° Al + 180° Bk

49.8 L

814.5

B mm

180° Al + 180° N

49.8 L

90° A + 90° Ay 180°

M12 X-Code &z - TALMIL

TV IHE

YEETE

Rt ESER)
[ =gt
TR
SMmAA R
SMRERER
SMRER
BRFRETE
R
SL&ME
SALRE AWG
S4He
SHESRER

S&EARERER

SEE

UL AWM FZ=t

FELAAI 5t

Ethernet

Ethernet

Ethernet CAT6A (10 Gbps)
X
8
PUR
KIEf (RAL 5021)
6.45+ 0.2 mm
-40°C~+80°C
AL-mylar, tinned copper braided shield
Stranded bare copper

26AWG

st

B/#%.% . B/%,%, 8/{%,.%K,8/%,
1.08 £ 0.2 mm
148 Q/km
ISO/IEC 11801
EIA/TIA 568
IEC 60754-1
20549

IEC 60332-1, FT2

178




M12 X-Code BikH LR - M&EIN M12 X-Code —{43{ PCB X EIfisiEiESS - TR

N ) X 180° tHilAMm aigixt Rk
InFECE e
ER 8
N ST
BEBE [ BN 50V / 0.5A Sln i PCB Layout
A P 17.6Q 5.00 ‘%%%‘
3.00 | . 81.00 ~F
— M12*1
& (3 " 3.00 3 mgﬁﬁ —
15 LN 1 ‘ 3 L o9 3
J \oo = e
= 910.00 \e/7§¢
UEMR PUR B I 1 .
c
- e TP
BIRE Ethernet CAT6A (10Gbps) - & swis S 4 =
4EH KE (m) = S = ju &P
EAIN 180° Rif © o X-code
2 251-X8300-0AS020
©
¢ 5 251-X8300-0AS050
. 10 251-X8300-0AS100

M12 X-Code —{¥3{, PCB = - TAKMI%

FrA P mBE RS A MA 4K E S ARRERNERITH, Rilas

P51 L ZER
R/NEROREL 100 Sk REER HEE/ &
AP R IP67 SRE PA
BRERE -40°C ~ 80°C NAEE SR HALTHER/ BRASER
XY 0.4 Nm BNER NBR
R T AR, 55 UL vo

HSIE Az el
BEHBE / SIEBRR 30VAC / 2A (8 Pin)
BE A EBE 0.8kV (8 Pin)
BIXFEHT /N 100MQ
T EEEFR I
BRER 3

IRESHE

IEC 61076-2-101: Detail specification for M12 connectors with screw-locking
IEC 61076-2-111: Circular connectors - Detail specification for power connectors with M12 screw-locking

IR IEC 60512: Electromechanical components for electronic equipment; basic testing procedure and measuring
methods
IEC 60529: Degree of protection provided by enclosures (IP Code)
INIEAT UL 2238 / UL2237
eI A

ZARFMENBIMYMBSE, BIARIEERSZEFTHEERBMEH LR, MRERFRPENERSRNEN, NBHER
RIFFR > IP54 MR EREHEH, EFZRERLE, B4 PCB A EMIFM

179 | 180




M12 X-Code Fi—{#3\ PCB H - F&&@fl

4D

InFEcE o,

BUEBE / B

Elr

BIHE
180° FIBHT Rk
“EH a3
N
M16 X 1.5

5 ng

(S ES

o9

M16 X 1.5

Pg9

X
8
30V / 1.5A
S s

Ethernet CAT6A

== =]
ARS

277-X8300-3

277-X8302-3

Ih8E2E Function

BERMESRER M8 M12 EZEREEEXY RJ45 BiEA R, AT AMKNESLIFERAIN
ZBANERER KT, P RRAEER IP6T FRERBINT, BEBMIRIF RJ45 ZEORZ K. Lk,
HEFIMNBERNZM, WERETHE. SMENBRMNIFRESR, MERECHSENE HEl
BIBAK. BiettreE e BREESMAM, ZFmRATI BoikE. NIMFEREEE
fER G R BAA] DB R R

ERESHIPLE, FFRERSER RJ4A5 RYIAFSRERENIGIT, IHIREENERE, KiE
ZEIEM L S4EE, RN, &~ mitEMERNEHRLAIEPHERERNNL, #—DRARK
EERR, MEERKBERRE, ERENMEREKARBE LRGN ERBIBEEHHNEK, MgE
BITREEERE,

tesh, EZRIFRARIZNIREREMESRENNACEE, EENAEITI RS TURINA
o IFBATRHECIMBEUENERMRLS R, MUREARBFNESNE, BBHEIVIRE
RELALR, BT REE RN P RESEMASIEKEF,




M8 A-Code 4RI\ EIZiEIZ2E + RJ45 1&L

B

38.50

2000

[T
IT 10

| ]|

\_SW9

$9.9

[T
[T 10

M8 A-Code £k 3{ + RJ45 &3k

TAREIhE

BfiI: mm

SRR EE

ksl
[(Gy=pl
o
SN
SMERERE
IMRER
IRMEREEE
=30 Vo
7%
SLLRE AWG
S4B
SELERER

SLRAXERMER

SEINE

UL AWM F2=t

PELAA 5t

Profinet

»
R

Ethernet

Ethernet CAT5e

A
4
PUR
KIEE
6.0 £ 0.2 mm
-40°C ~+80°C
AL-Foil, tin-plated copper braided shield
Stranded tinned copper
26AWG
B/%. % B/%,.%
0.9 £0.05 mm
<148 Q/km
ISO / IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2




M8 A-Code Rl + RJ45 13 - MA@ M12 A-Code 4T EIsEI%ES + RJ45 &k

— Ymhg A
\
i ek 8 T AT SR 49.80 L 41.00
KEBE / BN 30V /2A
AP 8BS ) 7@
= 089 8 ¢ g
0 f I & ©
s =
S MR PUR
BRWE Ethernet CAT5e (1Gbps)
££4 KE (m) s 46.20 L 41.00

180° & +RJ45

180° A + RJ45
©

0.6 399-A4EMLG0

1.5 399-A4AEM015

. 3 399-A4EMO030

180° & + RJ45
© ’
1.5 399-A4EF015

I 3 399-A4EF030 90° i +RJ45

96.00

M12*1.0

$14.50

0.6 399-A4EFL60

A L
90° AUF + RJ45
0.6 398-A4EML60 f
© ’ =
<
: 1.5 398-A4EM015 <
: & 3 398-A4EMO030
90° &} + RJ45
™ 06 398-A4EFL60
© ’
i 15 398-A4EF015
‘ 3 398-A4EF030 90° jﬁ +RJ45 L
FRE P MBS K BT RIB IS ERITH], YOD54 q
O
<
O
=

RJ45+RJ45

B{I: mm




M12 A-Code 4R + RJ45 $&k

TARLEIHE

GRLLEE

(g aksieEll
[iG=p ]

S

SN
IMEERE
IMRETR
BIERETEE
=30 Va8
SEMR
SRR AWG
SLHE
SEBGERER

SEARAERER

187

SEIE

UL AWM FZ=

BELAA

Ethernet

Ethernet

Ethernet CAT5e (1 Gbps)
A
8
PUR
JKIE € (RAL 5021)
6.0 £ 0.3 mm
-40 °C ~ +80 °C
AL-mylar, tinned copper braided shield
Stranded bare copper
26AWG
B/%E,. 5. B/%.%. 8/%,.%2, 8/%. 1
0.92 £ 0.05 mm
<148 Q/km
ISO/IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2

M12 A-Code Rk £ETt + RJ45 &k

i FECE

BNE FBIE / BB

Shn

CAESZ YN
BHE

5l
180° Qi + RJ45

© e
(’
180° B + RJ45 _

’ 4

' 4

90° N + RJ45
©

90° &1 + RJ45
©

RJ45 + RJ45
©

L QY AN

mi
OER

KE (m)
0.6

1.5

0.6

1.5

0.6

1.5

0.6

1.5

A
8
30V /1A

PUR

Ethernet CAT5e (1Gbps)

0o =
AR

299-A8EMLG0
299-A8EMO015
299-A8EMO030
299-A8EFL60
299-A8EF015
299-A8EF030
298-A8EMLG0
298-A8EMO015
298-A8EMO030
298-A8EFL60
298-A8EF015
298-A8EF030
0206-0301
0206-0303

0206-0305

FE RIS K E e K

0,02
O O O

O 4

IRIGHITFRITH], WA




M12 A-Code EIRTNEIAZEIESS + RJ45 $Fk

180° Qi +RJ45

\
Y
|

[E_H] ]

180° & +RJ45
O
2|2
- 470 L3810 _ojolg
E E\_/

(=T

M12 A-Code IR + RJ45 $&k

TAREIhE

SRR EE

ksl
[(Gy=pl
o
SN
SMERERE
BfI: mm IMRER
IRMEREEE
=30 Vo
7%
SLLRE AWG
S4B
SZRESEER

S4sAERMER

SEINE

UL AWM F2=t

PRI 5t

Ethernet

Ethernet

Ethernet CAT5e (1 Gbps)
A
8
PUR
JKIE€ (RAL 5021)
6.0 £ 0.3 mm
-40°C ~+80°C
AL-mylar, tinned copper braided shield
Stranded bare copper

26AWG

B/E.B.B8/%. % 8/&,% 8/ 1%
0.92 + 0.05 mm
<148 Q/km
IEC 61076-2-101
IEC 60512
IEC 60529
UL 2238

VO




M12 A-Code BiEEIRT + RJ45 1Ek - WS M12 D-Code H 4k EIAZEIERS + RJ45 #E3%

I FECE PRES
\
& PiYE 8 180° Al +RJ45 49.80 L 41.00
KEBE / B 30V /2A W E T -
= 08 8| < 3
e f I S
ol =
WL R PUR
BRWE Ethernet CAT5e (1Gbps)
AT + RU45 383K 75 2m 4%k 180° i +RJ45 46.20 S 41.00
5 [E E R s
PNBRAERE + RJ45 - [ T
® > i M16 x 1.5 0206-700-0302 )
*} > 8 8.
o’ : g
» Pg9 0206-702-0302 s
FBIRIEHE + RIS w"y
® X*.A M16 x 1.5 0206-710-0302
-
& P 90° A +RJ45 L
» Pg9 0206-712-0302
)
(@]
FrE = mBNiEiEas e M LK E B KBS FERITH, WilE8 <
=
90° % +RJ45 32.20 L
i
o
(@}
©
=
SR 41.00 L 41.00
|
!
T HLE
i
(@]
(@]
S
© BA{I: mm




M12 D-Code HH£3{ + RJ45 $Ek

TARLEIHE

SRR EE

ksl
e &4Rhig
SER
SN
IMEERE
IMRETR
BIERETRE
=30 Va8
SR
SRR AWG
SLHE
SEBGERER

SEARAERER

SEIE

UL AWM FZ=

BELAAM 2

Profinet

o

Profinet (100 Mbps)
D
4
PVC
£xt (RAL 6008)
6.5+ 0.2 mm
-40°C ~+80°C
AL-Foil, tin-plated copper braided shield
Stranded tinned copper
22AWG
H.8 %.,%
1.5+0.1 mm
59.4 Q/km(@20 °C)
IEC 61156-6
ISO/IEC 11801
UL 758
21694

IEC 60332-1, FT2

Ethernet

Ethernet

Ethernet CAT5 (100 Mbps)
D
4
PUR
JKIE € (RAL 5021)
6.0 £ 0.3 mm
-40 °C ~+80 °C
AL-mylar, tinned copper braided shield
Stranded bare copper
26AWG
B/, & . B8/4&,%
0.9 +£0.05mm
< 148 Q/km
ISO/IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2

M12 D-Code Rifi£ET\ + RJ45 &k - &I

nFECE

BUEBE / BB

180° Qi + RJ45

©
7

180° B + RJ45

4

Ehp

EAES 7)o

BIRDE

£54

r 4

90° N + RJ45
© ’

v ?

90° B}is + RJ45
© ’

RJ45 + RJ45
i

-

»

' 4

”

AEELEEY]

YmhD D
T 4
250V / 4A
Rig P 1S3
3D 013>
\ soyof
PVC
Profinet (100Mbps)
KE (m)

0.6 299-D4PML60
1.5 299-D4PMO015
3 299-D4PMO030
0.6 299-D4PFL60
1.5 299-D4PF015
3 299-D4PF030
0.6 298-D4PML60
1.5 298-D4PMO015
3 298-D4PMO030
0.6 298-D4PFL60
1.5 298-D4PF015
3 298-D4PF030

1 0206-0101

3 0206-0103

5 0206-0105

FrEFmiV S A KE ETRBENERITH, WhiaHE

So

din

B
5
Y

T

o

D
4
30V /2A

PUR

Ethernet CAT5 (100Mbps)

299-D4EML6G0

299-D4EMO015

299-D4EMO030

299-D4EFL60

299-D4EF015

299-D4EF030

298-D4EML6G0

298-D4EMO015

298-D4EMO030

298-D4EFL60

298-D4EF015

298-D4EF030

0206-0201

0206-0203

0206-0205




M12 D-Code EIRTUEAZiEIEZF + RJ45 &L

180° Qi +RJ45

!
A

\

180° & +RJ45

(PGY)

M12 D-Code E1RI + RJ45 $F:k

Profinet

TAREIhE

GRLLEE

(ks el
[(Gr=pi
S
SR
IMEERE
IMRETR
1RMEREEE
=30 Yoy
57
SR AWG
S4B
SRESEER

SLRAXERMER

SEIE

UL AWM Fz=t

PR 5t

Q O K
D W
030 o3

Profinet (100 Mbps)

D
4
PVC
2368 (RAL 6008)
6.5+ 0.2mm
-40 °C ~+80 °C
AL-Foil, tin-plated copper braided shield
Stranded tinned copper
22AWG
.8 &.%
1.5+0.1 mm
59.4 Q/km(@20 °C)
IEC 61156-6
ISO/IEC 11801
UL 758
21694

IEC 60332-1, FT2

Ethernet

Ethernet

Ethernet CAT5 (100 Mbps)
D
4
PUR
JKIE€s (RAL 5021)
6.0 £ 0.3 mm
-40 °C ~ +80 °C
AL-mylar, tinned copper braided shield
Stranded bare copper
26AWG
B/&%.%. 8/%,%
0.9+£0.05 mm
<148 Q/km
ISO/IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2




M12 D-Code RikEIRT + RJ45 &k - MZE M12 X-Code 4T\ Bz iEHESS + RJ45 15k

4mhg D D
it =
UER Pive=¢ 4 4 180° Qi +RJ45
KEBE / B 250V / 4A 30V / 4A
Nig P s S Qi P i S 49.80 L 471 .00
b 0\ (0F ¢ 40\ (0F %7 D
WM PVC PUR o © o
Lo — O
<& g
BIfHE PROFINET CAT5 (100Mbps) Ethernet CAT5 (100Mbps) s| =
Bt 2m 4%
54 [E E IR RS
s - o
/Au ?EE’F:E + RJ45 4 R o [y
© 4 \E)/&' M16 x 1.5 0206-700-0102 0206-700-0202 180° i +RJ45
. > 46.20 L 41.00

o
N s il
7

» » Pg9 0206-702-0102 0206-702-0202

SUSIERE + RIS g 7 22
o 7 - M16 x 1.5 0206-710-0102 0206-710-0202 !
- ol '@ i |
. }' o ‘;} ¢_¢4§" 8 8
¥’ - o < . ©
b 4 » Pg9 0206-712-0102 0206-712-0202 = M12%1.0 S

B mpvEERT NS L KE S RBENZERITH, WHEHE

90° Qi +RJ45

32.20 L
]
O
=}
90° & +RJ45
32.20 L
)
O
<
(@]
=

BA{I: mm

197



M12 X-Code &3 + RJ45 $&k

TARLEIHE

GRLLEE

(g aksieEll
[iG=p T

S

SN
IMEERE
IMRETR
BERETEE
=30 Va8
SEMR
SRR AWG
SLHE
SEBGERER

SEARAERER

SEIE

UL AWM FZ=K

BELAA

Ethernet

rFa

Ethernet

Ethernet CAT6A (10 Gbps)
X
8
PUR
JKIE € (RAL 5021)
6.45+ 0.2 mm
-40 °C ~ +80 °C
AL-mylar, tinned copper braided shield
Stranded bare copper
26AWG
B/%.% . 8/%,.2 8/ .. 8/% &%
1.08 £ 0.2 mm
148 Q/km
ISO/IEC 11801
EIA/TIA 568
IEC 60754-1
20549

IEC 60332-1, FT2

M12 X-Code RRHLET + RJ45 1%k - MA@

nFECE

BERBE/ BR
N

EAES 7V
BIRHE

L2 )
180° Al + RJ45

.
v

4D
OER

KE (m)
0.6

1.5

Ethernet CAT6A (10Gbps)
ms
299-X8AML60

299-X8AMO015

299-X8AM030

FrEF MBS 4 KE BT ERRIEHNERITH, WlaH




Bt

T LA/ AT L. MG 0 REHARERNER RS, FEHERT M8
M12 RFVEBRIERR R, BTRAKREXEESN IP FH, [N AE&EHNERIA PCB
ERS, BUEREERREFIMKSE, BRERIEh R EmERm XL,

< -
€® T oo
| N
R~ M8 M12
R A i NI 3554
ERE R _
ms
S BRE 2
B ) ] ] ; 200-A002
. - - - 200-A001 -
- 300-A003 - - -
- - 300-A005 - -
M16 x 1.5, Pg9 - - - 200-A004
M12 - 300-A001 - -
M8 300-A004 300-A002 = -

X FERRES / ITRRELE. RN 1O REHARERANERER, IFHHT M8 M M12 RIBRZHE, ATRARIIERSEN IP FH,
RN AR EHNERINH PCB RiEiEs, SHrmEFHARRERNDIKE, BRERIEPRIEEMEKXHNM,






| —~—

DINKLE

H ¥ EERDBIRAT
DINKLE ENTERPRISE CO., LTD.

BEHFIHTRRX AN 8195 it/ EX)
No.19,Wuquan 2nd Road., Wugu District,

New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702 (f£t£S)
E-mail:service@dinkle.com

Web site:http//www.dinkle.com

N Ia% =
B ¥ BIFRIRD BIRAT
DINKLE INTERNATIONAL CO., LTD.
AEFHIETAEBRXR AN =195 (Fdbm R X)
No.19,Wuquan 2nd Road., Wugu District,

New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702
E-mail:service@dinkle.com

Web site:http//www.dinkle.com

HFANB(PE)BRAT

DINKLE ELECTRIC MACHINERY (CHINA) CO., LTD.

LA R T AT TR B IR X 4 H $ #53885(215343)
No.388,Xingpu Mid RD,Shipu Business Adminstrcition Estate,

Qiandeng Town,Kunshan City,Jiangsu Province,China
TEL:+86-512-5708-8588

FAX:+86-512-5708-8600

E-mail:service@dinkle.com

Web site:http//www.dinkle.com

REILFBNBIRAT

LIYAN ELECTRIC MACHINERY (DONGGUAN) CO., LTD.

I RAERETRILEBRN S XIe—#125(523757)

No.2, 1st street Jingianlin,Jiti gang industrial park,

Huangjiang town,Dongguan City, Guangdong Province,China

TEL:+86-769-8336-4350 8336-4370
FAX:+86-769-8384-8634
E-mail:service@dinkle.com

Web site:http//www.dinkle.com

H¥XED T
DINKLE CORPORATION, USA

12613 Executive Drive,Suite 704,Stafford, Texas 77477
TEL:+1-832-539-4703

Toll-Free:+1-844-273-1850

FAX:+1-832-532-7226

E-mail:service@dinkle.com.

Web site:http//www.dinkle.com

B RXA DT
DINKLE ITALIA BUDGET ELECTRONICS

Via Stabilini n°14,23864 Malgrate(LC),ltalia
TEL:+39/0341176154
E-mail:service@dinkle.com.

Web site:http//www.dinkle.com

B ¥BSRBRZ(LEB8)BRAT
DINKLE ELECTRIC TRADING (SHANGHAI) CO., LTD.

EiEma L XU 8358 L 0 —FE3708 8 T
Unit 3708, 2 Grand Gateway, No. 3 Honggiao Road,
Xuhui District, Shanghai City.
TEL:+86-21-6487-0636  6427-3157
FAX:+86-21-3356-2500

E-mail:service@dinkle.com

Web site:http//www.dinkle.com

o

B M BFHA

8155 : Dinkle-dyjd
E-mail:Support. SH@dinkle.com.cn
Web site:http//www.dinkle.com

Dinkle remains the right of product modification and engineering change of design. The catalogue is for reference only.The final product is made according to
actual engineering drawing.

AAFREBRARR. QBN BRNESE, SE-RNRREIEADLE.

2025/ Apr.




	封面
	39.1C_V2
	封底
	空白页面

